HP %% [ /1#% %188 /HP Series pressure contraller

B HP R7%I[E 3% 5188 /HP Series pressure contraller

=R HFE
MUBTARF B AN REIST G, A B T=SMRE;
(RIFRARE: -10°C~+120°C)
% R IERREE IR INAE .
HLP RIS ST AMIR A .
A EN I R LA, RIET R A IRTNEE.
REFRER ISR,
SRR B TR Ak R AT £ A
BEMESIER TR A RFEIN S EE R TR AN
BriRINE
It is not only being used in refrigerants on freon, but also in air and liquids.
(Permitable liquid temperature: -10°C~+120°C).
Multi-contact switching function.
HLP is suitable for all applications.
Novel micro - switch structure ensures reliable conversion function.
Providing with standard mounting bracket.
Implementing the mechanical structure of "single switch blade connect two
different contact".
There are various types that you can choose water-proof cover type or Ex-
proof type uesd for special enviroment.

%3 /Specification
B EF5EE (bar) EH3EE (bar) HTi%E (bar) BEARSEREES (bar)
Model Range(bar) Differential(bar) Factory Setting(bar) Max.Bellows press(bar)
& f=¥N =N f=¥N Ik i3t
Min Max Min Max OFF ON
HP503 -0.7 3 0.2 2 1 16.5
HP506 -0.7 6 0.6 B 2 16.5
HP506M -0.7 6 £ i< 1/Duplicate voltage disparrity<1 3 FEE (L /Manual Reset 16.5
HP110 1 10 1 & 6 5 16.5
HP516 5 16 1 4 10 8 35
HP520 5 24 2 5 16 13 35
HP530D 5 30 5 10 20 15 35
HP530 8 30 [EE 3-5 20 15-17 35
HP530M 8 30 £ {iI[£# < 4/Duplicate voltage disparritys4 20 FahE AL /Manual Reset 35
Eilk=3 EH5EE (bar) EF5EE (bar) HIrigE (bar) BRASBHRELES (bar)
Model Range(bar) Range(bar) Factory Setting(bar) Max.Bellows press(bar)
BN [=ON & =N L i
Min Max Min Max OFF ON
RER 0.7 6 0.6 4 3 2 16.5
Low Side
HP830
EER 8 30 ElE 3-5 2 15 35
High Side
IR 3 -0.7 6 0.6 4 3 2 16.5
HP830HM Low(Side - . A -
= EiR 8 30 B i[EZ < 4/Duplicate voltage disparrity<4 20 FEFHE L /Manual Reset 35
High Side
R E i -0.7 6 S {iEZ< 4/Duplicate voltage disparritys4 3 FHE L /Manual Reset 16.5
Low Side
HP830HLM
aER 8 30 EIEZ < 4/Duplicate voltage disparrity<4 20 FEHE L /Manual Reset 35
High Side

#7753 /Overall Dimensions

—
(L[]

1/4"
Y Y gl v
Flare Nut 1/4"
NN
7/16"-20 4241
M1*1.25
WEhFr X B R E R
HMEBE (V)
SRET (A) Specified Voltage(V) A.C.125 A.C.125
Specified Electrie Current(A)
JER R LA /Non-Inductuv Current 48 12
A LE /Maximum Loatd 48 12
B5# /8B 37 / Twinking Electric Current 228 72

os]
u,
S
1/4"
FOgs 4
Flare Nut 1/4" S

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

159



NPPC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

160

GT E5)88 /GT Series Pneumatic Gear Vibrator

JK Ez028 /K Series Pneumatic Gear Vibrator

#RI A /Typical implementation
#kzh& [Vibrostand
$TEDF [Filter sieve

BeEs

/Bin-empty

I /Logistics conveyor
B LB B AR 2 #E5E [Prevent pipe from sticking with residue

FFE

nEX
FRFREMZR 7300-35000 4% / 43 %h
B> 77 132-4100 445
SEELAE GFHSE)
RefERRE: 100° C
AEM 150° C 78

Features:

large power

standard frequency:7300-35000 rpm/min

centrifugal force:132-4100 N

parameters are continuously adjustable(regulating pressure)

maximum working temperature: 100°C

product reach to 150°C can be customised

o)

BEAESHRESSRE LR EIREN T ; PR RS TR
LR FK; RAHFHKEREL, NTERHE.
Structure:
The vibration power is generated by rolling the alloy ball on
the alloy raceway. Nylon end covers on both sides support the
ball and prevent dust and water. Bright body is attached with
horizontal mounting hole, shall be unsed under different occasions.

EilE=3 SEE / 539k Frequency/min MSH9E A /Accquired centrifugal force =545 / 98 Air consumption/min
Model 0.2 0.4 0.6 0.2Mpa 0.4Mpa 0.6Mpa 0.2Mpa 0.4Mpa 0.6Mpa
Mpa Mpa Mpa 4 /N AR /kg 4N AR /kg £ /N DR /ke F/L F/L F/L
K-8 25510 31100 35100 132 14 249 25 355 36 85 150 190
K-10 22510 28100 34100 245 25 468 48 715 I8 95 155 210
K-13 15100 18510 22510 320 33 560 57 875 89 95 160 230
K-16 13100 17100 19510 455 46 810 83 1110 113 125 210 285
K-20 10510 14510 16510 715 73 1200 123 1750 179 135 235 335
K-25 9210 12210 14100 925 94 1580 161 2100 214 165 295 420
K-30 7810 9710 12510 1520 155 2480 253 3250 332 220 380 575
K-36 7310 9100 10100 2050 209 3135 320 4100 468 265 480 678

i ARBIBEER LN A LEE Kistler3 i 11t. HRERIMERARSR .
PS:Data in this table are taken from kistler 3-axis dynamometer on heavy duty laboratory. Frequency will decrease when mounting rigidity is poor.

RS A FEEE /Midth c D E F G H HE /Meight

Model mm mm mm mm mm mm mm #/H S 0 ANFF /ke
Inlet/Outlet

K-8 50 20 86 68 12 7 40 G1/4" 190
K-10 210
K-13 65 27 113 90 16 © 50 G1/4" 230
K-16 285
K-20 80 38 128 104 16 9 60 G1/4" 335
K-25 420
K-30 100 50 160 130 20 1" 80 G3/8" 575
K-36 678

E: K RFISHRENBR A ERESIEIT, BEEEITH ERERS S MmAER L.

PS; K series pneumatic gear vibrator isn not suitable for continuous operation, intermittent operation can improve product performance.

{

RO B REE X7 R i A AR




GT =88 /GT Series Pneumatic Gear Vibrator

JGT =5/28 /GT Series Pneumatic Gear Vibrator

#RIFA /Typical implementation

#&zh& [Vibrostand
15 5% [Filter sieve

#3752 [Bin-empty

PISRHIE /Logistics conveyor

iR /Feature

1. PRt

RENERRESERE, TS LR Ik, EER, {1

2. FEERA

AR IRFNFIE. BSHREh. BUERER. FEURIR

1.Product Features
Vibration intensity can be adjusted based on air pressure,can immediately start,stop,fast,low-
noise,vibration force.security.

2. Application

55 =E
=K}

w/EHK, BE2.

Feed material conveyor,vibrating screening vibrating hoppper,to help,to help fill
packaging,foundry sand mold vibration.

B LB B #E5E [Prevent pipe from sticking with residue

£514

BTNRE S SRE LRI EREN T ; AimEBmEh R LERLE

ok, REFEKFREL, BNAEREE.

Structure:

The vibration power is generated by rolling the alloy ball on
the alloy raceway. Nylon end covers on both sides support the
ball and prevent dust and water. Bright body is attached with
horizontal mounting hole, shall be unsed under different occasions.

BS SE (V.PM) HRENE (M) HESE (Min)
0.2Mpa 0.4Mpa 0.6Mpa 0.2Mpa 0.4Mpa 0.6Mpa 0.2Mpa 0.4Mpa 0.6Mpa

GT-8 34.850 42.000 45.500 980 2.100 2.800 46 80 112
GT-10 27.500 35.000 37.500 840 1.390 2.400 46 80 112
GT-13 26.000 30.000 33.000 1.400 2.440 3.730 120 200 290
GT-16 17.000 21.500 24.000 1.220 2.090 3.460 120 200 290
GT-20 17.000 20.000 23.000 2.170 4.040 5.520 185 325 455
GT-25 12.000 15.500 17.000 2.120 3.510 5.070 185 325 455
GT-32 13.000 14.000 16.000 3.380 5.430 7.540 330 530 745
GT-36 7.800 10.000 13.000 3.300 5.000 7.150 330 530 745
GT-40 7.500 8.800 9.500 4.350 7.350 9.850 408 428 680
GT-48 5.800 7.500 9.700 4.950 7.750 10.6007 408 428 680
CT-60 4.758 6.530 8.515 5.700 9.800 11.150 505 600 920
BS A B C D E F G P/O

GT-8 68 50 28 7 12 35 86 1/8

GT-10 68 50 28 7 12 35 86 1/8

GT-13 90 65 39 9 16 43 113 1/4

GT-16 90 65 39 9 16 43 113 1/4

GT-20 104 82 56 9 17 56 128 1/4

GT-25 104 82 56 9 17 56 128 1/4

GT-32 130 103 76 11 21 73 160 3/8
GT-36 130 103 76 1 21 73 160 3/8
GT-40 152 122 85 18 27 80 194 3/8
GT-48 152 122 85 18 27 80 194 3/8

CT-60 195 140 96 21 30 95 240 1/2

P 0
. ML AR W
{ J-
G

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

161



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

162

EELHEREEED / Notice for pipe fitting

1\ OENERES, K (BoRMEER) DUMIEMRGE, EREMRE, FRE

2. FERWSTIFERIAFR, ENERRBHERL. RIEEELUMIEERL TN ERS

3. Baups EIRRREIAG, BENEAREERL. SEREERL. SRBEKESRUSMNIER
EHEL, EARmsEEE, EERLSSBEIRLTR

4, £ 60° C LA EHGKSAA BUAAT, E2ERARTAERLERR MK D RS SEI KRR,

5. FEFREMRERE, DILHREANAMN, B2 G ELLUNAREK, TREBHESHAGETR, £4%
EERIE R .

6. EMRERKIMNRLS, B, BHFLE, TUESBESMFRUITNRR .

1. Do not use any other fluid except air or water (some types are applicable), please inquire us when using other fluid.

2. In the place where sputtering materials are produced, do not use other joint except pit sputtering pipe joints and brass

pipe joints, or else sputtering materials will cause fire hazard.

3. Under circumstances of swinging or rotating of threaded end or pipe end, do not use any joint other than rotary pipe

coupling, high-speed rotary pipe coupling or multi-air route rotary distribution block
Joints, dueto it may cause joint damage through swinging or rotating.

4. When using hot water or hot medium oil aboved 60°C, do not use the heat-resistant pipe connector or mold owing to

the joint body will be broken down by heat and water decomposition.

5. Use EG joints rather than other joints where static electricity is needed to be removed and charged, or else, static

electricity may cause system defection or danger of malfunction.

6. Do not put extra tension, winding, bending and other loads on the pipe joint, otherwise it may cause the damage of the

joint body.
i¥E /Warning

1. EREALRSRNE T, BRABTFIMELAEZRBTUR 1 HEX.
RIBEFIMERE .

When using pipes are not our trademark, please confirm whether the tolerance
of outer diameter of pipes is in accordance with the requirements in table 1.
Table1 pipe outer diameter tolerance.

ANl / Rt Metric/size B A% INylon tube B EAEE /Polyurethane tube Al / Rt Metric/size e % INylon tube B4E 5% /Polyurethane tube

& 3mm - +0.1 $1/8 +0.1 +0.1
+0.1 0.15
o 4mm 0.1 015 5/32 01 w0

$6mm 0.1 +0.15 ©3/16 0.1 £0.15

OB 201 0815 o 1/4 0.1 0.15
¢ 10mm +0.1 +0.15 5/16 0.15 +0.2
0 -0.05

& 12mm +0.1 +0.15 e 01 S5

o 14mm 0.1 0.15 “’1/2 — —
¢ 16mm +0.1 +0.15 e 0. 01
3/8 0z 205

2, BEIEEM

1. EWMINETYINERLER, EFNERGRUREFREMERY.

2, iIEESLE TS RE 2 RRIEFERRGBRIKR (CRT) , AURSHES.
3, BEFlEFE, BERN—TETHAETFRTE.

2.Notices when piping

1. Confirm that the pipe cutting surface keeps vertical, there is no scar around the pipe
and the pipe is not elliptic.

2. Refer to table 2 for dimensions when inserting joint pipes. If the pipe is not inserted to
the bottom (size C), it may cause air leakage.

3.After the pipe is inserted, pull the pipe to make sure it can't be pulled out.

*=2 Table2
AR Standard type
BT RT ISize o4 ©6 8 10 12 16
$5/32 ¢ 3/16 o 1/4 $5/16 ¢ 3/8 112 $5/8
0 (mm) 15 16 18.5 20 23 23.5

EARE /Mini type

3. RBREFRLEEED

1. RBREFE BERABEFAET AT

2, BREMHHAMERR, BEFRE, EREFRER N, AUREFRIERIENGET, &
BLBEERLANE.

3.Notice when pull out the pipe

1.Ensuring the pipe inner pressure is 0 when loosenning the pipe.

2.Press the release ring evenly to the bottom and pull out the pipe. If the release ring is not pressed in place, the pipe may not be pulled
out or the pipe may be injured, and the pipe scraps will stay in the pipe joint.

BEFR /Size $3 o4 ®6
0 (mm) 10 12 12.5

4, REBRELAUISEIEER

1. FAEEIR. FIRAEELNIN AR ARREERELAE.

2, RERSLIBGR, % 3 MEFREFHIEHITRE, RENEERAGBRIERZERE, G SBIRLERYIRETME
E3)

BEHm5IREtRSE

3. BELERR, BEAEANENTR, AERELAEERETEREE.

4 Notice when installing the pipe joint fitting:

1. Use appropriate tools and use the outer hexagon or inner hexagon of the pipe joint to install the fastening joint body.
2. When fastening the joint thread, refer to table 3 the recommended mounting torque for tightening. If the torque exceeds the recommended
tightening torque during tightening, it may cause the thread part to be broken and the gasket to be deformed, causing leakage, etc.
3. After the connection, the product of which its connection direction of has not changed , can be adjusted in the torque range.

RO B REE X7 R i A AR




NRPRC

PNEUMATIC

®: WEZEHREREHRE, BHBMH.

Table: Recommended fastening torque and sealing coating, gasket material

W24 /Thread type BB R T [Size XE|H%E /Fastenning torque | BEAB#IE /Sealing coating color | ZE #4441} /Gasket material =
AHIERLL /Metric thread M3*0.5 0.7N.M(7kgf.cm) i
M5*0.8 1~1.5N.m(10~15kgf.cm) [r— NBR §
M6*1.0 1.8~2.3N.m(18~23kgf.cm) =
R1/8 7~9N.m(70~90kgf.cm) 3
e R1/4 12~14N.m(120~140kgf.cm) 2
ERIREL /Pipe thread R3/ 22~24N.m(220~240Kgf.om) RE [Grey <
R1/2 28~30N.m(280~300kgf.cm) e
G—thEIRSL /UNF thread No.10-32 1.5~1.9N.m 2
UNF (15~19kgf.cm) — NBR a
EiEEH 1/16-28NPT 7~9N.m(70~90kgf.cm) E
EHIRLL 1/8-27TNPT 7~9N.m(70~90kgf.cm)
TaperAth'e?‘d for common 1/4-18NPT 12~14N.m(120~140kgf.cm) k& [Grey —
meriean pipe 3/8-18NPT 22~24N.m(220~240kgf.cm)
1/2-14NPT 28~30N.m(280~300kgf.cm)

Arfe LA S . . . . .
B3 /Pipe joint fitting

4% 5 /Feature

RS ERIBTSHELRS.

ERAMAE S, ANESELRGRNMARE

EMEREE, BiEHAEEERIUEHNE

SEIRAVRIR T ARG S AN S .

FiA R 7 NPT S5 B #R R IR HE R

A EIRLE AR 0 BUE.

Quick-plug pneumatic pipe couplings are used in pneumatic pipe

systems.

There are many kinds of pipe joints, which can meet all the needs in

the pipe system.

Even after installation, the direction of the pipe can be freely

changed.

The nickel-plated copper body is resistant to corrosion and pollution.

All R and NPT thread sealants are used as sealing.

Standard O-rings are used for all straight threads.

ik BETY

F7 AR & 14 /Technical cocondition 4 /\Warning
1 FA /Working fluid =5, 7k (BEMH) /AirWater(if applicable) 1. SAIRE: 0~60°C
— 2, T{EE71: 0~0.3Mpa
LAFE775ER 0~1.0Mpa K (B 3 MTOkE: ORER %

Working pressure range Water(if applicable) 4 s azime

ERE=ES -100Kpa (10Torr) 1.Operating temperature:0~60C

Implement vaccuam pressure 2.Working pressure:0~0.3Mpa
TIERETEE 3.Waterless hammer phenomenon should not be
0~60°C found:(impact flow),etc.

Working temperature range
iy .
TT5:4S . PL

8
Odering Code: ? @

4. Plug-in pipe must be installed

@mﬁgﬂfﬂ*ﬁ /Thread model

55° EIEIB4Y /55°  straight pipe thread
=1
B /Model %@ | 01 [ 02 [ 03 ] 04 06

@ BT RT /Tube size 124 | R1/8 | R1/4 | R3/8 | R1/2|  R3/4

EF R~ /Tube size A#IR~T /Metric size NEHIIELT Metric thread 55° HEHRY straight thread

RH /Code 4 6 8 10 12 16 X#5 /Code M3 M5 M6 | Go1 | Go2 | Go3 G04 | Go6

R~t /Size (mm) 04 06 08 | 010 | 912 | ¢16 4247 /Thread [ M5+0.5| M5%0.8 |mex1.0| a1/8 | 6174 | 63/8 | a1/2 |[@3/4

EFRsI /Tube size AFIRT /Metric size Gi— 4 AEEL /UNF 5 60° C EEMRLL vertical thread

X8 /Code 532 | 3116 | 14 | 5116 | 358 | 12 8B /Code u10 NO1 NO02 NO3 NO4 NO6

R~t /Size (mm) ©03.96| 04.76| 96.35| ©7.94[99.35] 012.7 247 /Thread 10-32UNF NPT1/8 | NPT1/4 | NPT3/8 | NPT1/2 | NPT3/4
Y A =ra i ion = TR GRS
25 *’L]n-\',%l\ /Structure illustration = Back Ring (POM) Bets (BEad

Collar (ZINC)
B CTRHRED

JeJz/Nylon Tube
Packing (NBR)

PU#¥/Polyurethane Tube

YRR R (PBT)
Plastic bady (PBT)

A CRPESD
Sleeve (ROM)

W OREHD
Lock Claws (SUS)

Ak BB
Metal Bady (Brzss)

ORIBE (T HHRIED
0-Ring (NBR)

AR BMREE 3 7= S B A9 AR
b i 163



NPPC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

164

RIER KB EE L /Push-in Plastic Fittings

JJPC &#& 3k /PC series tube fitting

RS BEFIMR/ T A B L
Model  |Outer diameter 0 8
‘ oD -
PC4-M4 M4+0.7 35 203 16.8 10
PCA-M5 M50.8 35 203 16.8 2 10
PC4-M6 . M51.0 4 20.9 16.9 2 10
PC4-01 R1/8 8 205 165 3 10
PC4-02 R1/4 10 18.9 12.9 3 14
PC4-03 R3/8 1 19.9 135 3 17
PC4-04 R1/2 14 244 16.2 3 21
PC6-M5 M50.8 35 212 17.7 2 12
PC6-M6 M6*1.0 4 212 17.2 2 12
PC6-01 6 R1/8 8 212 17.2 4 12
PC6-02 R1/4 10 233 17.3 4 14
PC6-03 R3/8 1 21 14.6 4 17
PC6-04 R1/2 14 25 10.8 4 21
PC8-M5 M5°0.8 35 227 19.2 14
PC8-M6 M6*1.0 4 232 19.2 14
PC8-01 8 R1/8 8 26.4 224 5 14
oD PC8-02 R1/4 10 252 19.2 5 14
PC8-03 R3/8 11 225 16.1 5 17
— PC8-04 R1/2 14 26.1 17.9 5 21
I - PC10-01 R1/8 8 29.8 25.8 5 17
[ A\ PC10-02 R1/4 10 313 253 6 17
PC10-03 o R3/8 1 288 224 8 17
3 PC10-04 R1/2 14 272 19 8 21
[@ om PC10-06 R3/4 17 307 212 8 27
PC12-01 R1/8 8 31 27 5 21
T PC12-02 R1/4 10 33 27 6 21
< \'\} I ~T PC12-03 12 R3/8 1 30 236 8 21
1 ! PC12-04 R1/2 14 318 236 8 21
‘ ‘ PC12-06 R3/4 17 30.6 21.1 10 27
PC14-01 R1/8 8 314 274 5 22
PC14-02 14 R1/4 10 33.4 27.4 6 22
PC14-03 R3/8 1 33.9 275 8 22
m PC14-04 R1/2 14 324 242 10 22
gg PC15-02 R1/4 10 348 28.8 6 24
PC15-03 15 R3/8 11 35.8 29.4 8 24
<< Hggﬂ PC15-04 R1/2 14 358 276 10 24
‘ PC16-02 R1/4 10 352 292 6 24
PC16-03 R3/8 11 352 298 8 24
PC16-04 16 R1/2 14 36.2 28 10 24
PC16-06 R3/4 17 328 236 10 27
o AR . P
POC E## 3k /POC series tube fitting
‘ He BTG/ T A B L op
Model Outer diameter ko)
oD
POC4-M5 M50.8 35 203 16.8 10 2
POC4-M6 M61.0 4 20.9 16.9 10 2
/ POC4-01 4 R1/8 3 205 16.5 10 3
r / i POC4-02 R1/4 10 18.9 12.9 14 3
~Ed e POC6-M5 M50.8 35 212 17.7 12 2
N pos POC6-M6 M61.0 4 212 17.2 12 2
*\ ‘F'\ POC6-01 6 R1/8 8 212 17.2 12 4
POC6-02 R1/4 10 233 17.3 14 4
POC6-03 R3/8 1 21 14.6 17 4
) POC8-01 R1/8 8 264 224 14 5
POC8-02 8 R1/4 10 252 19.2 14 5
— POC8-03 R3/8 11 225 16.1 17 6
5 POC8-04 R1/2 14 26.1 17.9 21 6
POC10-01 R1/8 8 298 258 17 5
o POC10-02 R1/4 10 313 25.3 17 8
= q POC10-03 i R3/8 1 288 224 17 8
POC10-04 R1/2 14 272 19 21 8
T T POC12-02 R1/4 10 33 27 21 6
< P S POC12-03 12 R3/8 11 30 23.6 21 8
T POC12-04 R1/2 14 318 236 21 8
POC16-03 16 R3/8 1 36.2 298 24 8
POC16-04 R1/2 14 36.2 28 24 10

RO B REE X7 R i A AR




NRPRC

PNEUMATIC

RIER SENE$E 3 /Push-in Plastic Fittings

JPC-N &1k /PC-N series tube fitting

-
g
i | %
[ == ETINE T A B L s
Model Outer diameter ko) 8 8
oD = g
< C o, [PosR2:U10 10-32UNF 3.5 20.3 16.8 2 7/16 =
- & PC5/32-N01 5/32 NPT1/8 8 20.5 16.5 3.18 7116 g
i =) PC5/32-N02 NPT1/4 10 18.9 12.9 3.18 9/16 =
‘§ “‘%\“ PC3/16-N0I 3/16 NPT1/8 8 20.5 16.5 4 7116 5
PC3/16-N02 NPT1/4 10 18.9 12.9 4 9/16 =
PC1/4-U10 10-32UNF 35 21.2 17.7 2 1/2
PC1/4-NO1 NPT1/8 8 21.2 17.2 4 1/2
3D PC1/4-N02 i NPT1/4 10 23.3 173 4 9/16
PC1/4-N03 NPT3/8 11 21 14.6 4 11/16
@ 5 = PC5/16-N01 NPT1/8 8 26.4 224 5.56 9/16
[ N\ PC5/16-N02 5/16 NPT1/4 10 25.2 19.2 5.56 9/16
[ PC5/16-N03 NPT3/8 11 225 16.1 5.56 11/16 &
© 1. PC5/16-N04 NPT1/2 14 26.1 17.9 5.56 7/8 '@
PC3/8-N01 NPT1/8 8 29.8 25.8 5.26 11/16 0
Suna PC3/8-N02 NPT1/4 10 313 25.3 6.35 11/16 P
< NI PC3/8-N03 3/8 NPT3/8 11 28.8 224 7.94 11/16
‘ ‘ PC3/8-N04 NPT1/2 14 272 19 7.94 7/8
PC1/2-N02 NPT1/4 10 33 27 6.35 7/8
PC1/2-N03 172 NPT3/8 11 30 23.8 7.94 7/8
PC1/2-N04 NPT1/2 14 31.8 23.8 7.94 7/8
=T =
< [
Ve e ul -‘I- ~ . . .
JPC-G &1£k /PC-G series tube fitting
S BTN/ T A B L
Model Outer diameter 0 8
“ )
J i . '7 PC4-GO1 4 G1/8 5.5 20.5 15 3 12
N‘ =, PC4-G02 G1/4 6.5 20 13.5 3 12
‘a\\ i‘x‘ PC6-GO1 G1/8 5.5 222 16.7 4 13
PC6-G02 G1/4 6.5 21.7 15.2 4 14
PC6-G03 6 G3/8 6.5 19.8 13.3 4 17
PC6-G03 G1/2 10 233 13.3 4 17
PC8-GO1 G1/8 5.5 25.4 19.9 5 14
PC8-G02 G1/4 6.5 25.4 18.9 6 14
PC8-G03 8 G3/8 6.5 23.1 16.6 6 17
PC8-G04 G1/2 10 251 15.1 6 19
@D PC10-GO1 G1/8 55 28.8 233 5 17
PC10-G02 G1/4 6.5 29.3 2238 6 17
@ e = PC10-G03 10 G3/8 6.5 25.9 19.4 8 20
/ \ PC10-G04 G112 10 29.7 19.7 8 20
@ ’ - PC12-G01 G1/8 55 295 24 5 21
o PC12-G02 G1/4 6.5 31 245 6 21
| | PC12-G03 12 G3/8 6.5 27.3 20.8 8 21
e — PC12-G04 G1/2 10 30.3 20.3 8 21
< ([ T PC14-G02 G1/4 6.5 314 24.9 6 22
PC14-G03 14 G3/8 6.5 31.5 25 8 22
PC14-G04 G112 10 30.5 20.5 10 24
PC16-G03 16 G3/8 7.5 33.8 26.3 8 24
PC16-G04 G1/2 10 36.8 26.8 10 24

AR BMREE 3 7= S B A9 AR
b i 165



NRPRC

PNEUMATIC

R SFNE L /Push-in Plastic Fittings

POC-G &3k /POC-G series tube fitting

=
g
g
S e BTG/ T A B L oP
.% Model Outer diameter (o)
< ®D
o N POC4-GO1 4 G1/8 55 20.5 15 14 3
g < POC4-G02 G1/4 6.5 20 135 17 3
= . POC6-GO1 G1/8 55 222 16.7 14 4
T “ ! POC6-G02 6 G1/4 6.5 217 15.2 17 4
- . \ POC6-G03 G3/8 6.5 19.8 133 20 4
. Y POC8-GO1 G1/8 55 254 19.9 14 5
POC8-G02 8 G1/4 6.5 254 18.9 17 6
POC8-G03 G3/8 6.5 23.1 16.6 20 6
5D POC10-GO1 G1/8 55 28.8 23.3 17 5
POC10-G02 G1/4 6.5 29.3 228 17 6
&+ _ _ POC10-G03 10 G3/8 6.5 25.9 194 20 8
5 m T POC10-G04 G112 10 29.7 19.7 24 8
o [ A\ N POC12-G01 G1/8 55 295 24 21 5
= gi) POC12-G02 G1/4 6.5 31 245 21 6
m| [Poc12-Gos 12 G3/8 6.5 27.3 20.8 21 8
~oo POC12-G04 G112 10 30.3 20.3 24 8
<C | rU”LH I\T
Poral i RPN B LD
[ PCF &1%3k /PCF series tube fitting
I S EFIMR/ T A B P 8
Model Outer
diameter
oD
PCF4-M5 M5X0.8 5 21.1 95 10
,3 PCF4-M6 4 M6X01.0 5 211 95 10
4 ? PCF4-01 R1/8 8.5 23.9 10 14
PCF4-02 R1/4 1 26.4 10 17
- PCF6-M5 M5X0.8 5 21 15 12
’&3 PCF6-M6 M6X1.0 5 21 15 12
PCF6-01 R1/8 8.5 24.7 12 14
PCF6-02 6 R1/4 1 27.2 12 17
PCF6-03 R3/8 12 28.2 12 20
PCF6-04 R1/2 14 30.2 12 24
PCF8-01 R1/8 8.5 265 135 14
@GP PCF8-02 R1/4 1 28.7 14 17
PCF8-03 8 R3/8 12 29.7 14 20
2D PCF8-04 R12 14 317 14 24
PCF10-01 R1/8 8.5 29.8 16.5 17
.' . PCF10-02 R1/4 1 32.3 16.5 17
PCF10-03 10 R3/8 12 33.1 17 20
@ PCF10-04 R1/2 14 35.1 17 24
o PCF12-02 R1/4 11 335 20 21
—— , PCF12-03 12 R3/8 12 345 20 21
PCF12-04 R1/2 14 36.5 20 24
T < PCF14-03 12 R3/8 12 35.3 218 22
PCF14-04 R1/2 14 37.4 21.8 24
PCF16-03 16 R3/8 12 36.3 24 24
PCF16-04 R1/2 14 28.2 24 24

A AR 8 M AR
166




RS ENE K /Push-in Plastic Fittings

B PCF-G &%k /PCF-G series tube fitting

»

imi;

D

oP
2D

&

R

JPM &#Z 3k /PM series tube fitting

2-G

2-¢D

—

NI

B BHFIMZ/ T A B oP
Model Outer diameter A
¢D -
PCF4-G01 4 G1/8 8.5 23.9 10 14
PCF4-G02 G1/4 11 26.4 10 17
PCF6-G01 G1/8 8.5 247 12 14
PCF6-G02 G1/4 11 27.2 12 17
PCF6-G03 6 G3/8 12 28.2 12 20
PCF6-G04 G1/2 14 30.2 12 24
PCF8-G01 G1/8 8.5 26.5 13.5 14
PCF8-G02 G1/4 11 28.7 14 17
PCF8-G03 8 G3/8 12 29.7 14 20
PCF8-G04 G1/2 14 31.7 14 24
PCF10-GO01 G1/8 8.5 29.8 16.5 17
PCF10-G02 G1/4 11 32.3 16.5 17
PCF10-G03 10 G3/8 12 33.1 17 20
PCF10-G04 G1/2 14 35.1 17 24
PCF12-G02 G1/4 11 33.5 20 21
PCF12-G03 12 G3/8 12 34.5 20 21
PCF12-G04 G1/2 14 36.5 20 24
PCF14-G03 14 G3/8 12 35.3 21.8 22
PCF14-G04 G1/2 14 37.4 21.8 24
PCF16-G03 16 G3/8 12 36.3 24 24
PCF16-G04 G1/2 14 28.2 24 24
B BEFIME M B F E G A
Model Quter diameter
¢D B
PM4 4 12X1.0 30 9 12 35 14
PM6 6 14X1.0 31 95 12 4 17
PM8 8 16X1.0 35 115 12 45 19
PM10 10 20X1.0 42 13.5 15 5 24
PM12 12 22X1.0 45 12.5 20 5 27
PM5/32 5/32 12X1.0 30 9 12 35 14
PM1/4 1/4 14X1.0 31 95 12 4 17
PM5/16 5/16 16X1.0 35 115 12 45 19
PM3/8 3/8 20X1.0 42 13.5 15 5 24
PM1/2 1/2 22X1.0 45 12.5 20 5 27

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

167



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

168

4B BN E %K /Push-in Plastic Fittings

B PMF &1k /PMF series tube fitting

RS ETR T M F B E A G 1 2
I ‘ Model | Quter diameter A A
oD - - - -
PMF4-M5 M5 21 5 14
PMF4-01 4 R1/8 1.2*1.0 9 24 4 8 3.5 14
PMF4-02 R1/4 27 10 17
; PMF6-01 R1/8 245 8 17
L ,_"'e@ PMF6-02 R1/4 27 10 17
& T PMF6-03 6 Ryg | 1410 95 [5g5 5 11 4 17 20
- - | PMF6-04 R1/2 32 14 24
~ ‘7\ PMF8-01 R1/8 26.5 8 19
PMF8-02 R1/4 29 10
PMF8-04 R1/2 33 14 24
kDN PMF10-01 R1/8 30.5 8
_ _ PMF10-02 R1/4 325 10
o [ a PMF10-04 R1/2 37 14
IR T ye PMF12-01 R1/8 33 8
= - PMF12-02 R1/4 34 10
H’J‘i H& PMF12-03 12 Ras | 221.0 | 125 35 7.5 ¥ 5 27 27
L L PMF12-04 R1/2 37 14
ey . . .
JPU &iE -k /PU series tube fitting
I ‘ iR BTINME/ M oP
Model Outer diameter
oD
a PU4 4 32.5 11
'\ PUB 6 35 13
PU8 ) 38.5 145
PU10 10 48 185
PU12 12 48 21
PU14 14 515 23
=\ PU16 16 64 26
‘ - B PU5/32 5/32 325 11
2C PU3/16 3116 325 17
} ] - PU1/4 174 35 13
o S.i s PU5/16 5/16 385 | 145
LL Y " PU3/8 308 48 18.5
PU1/2 112 48 21
e . . ]
B PUG &L /PUG series tube fitting
EilR= BEFINMZ BEFINMZ B oP
I ‘ Model Outer diameter | Outer diameter
¢ D1 ¢ D2
PUGG-4 6 4 345 13
PUGS-4 8 4 38
PUGS-6 6 38.3 14.5
- N PUG10-6 10 6 46.3
PUG10-8 8 47 18.5
PUG12-6 6 47
PUG12-8 12 8 47 21
PUG12-10 10 48
:'% PUG14-12 14 12 51 23
PUG16-12 16 12 64
PUG16-14 14 64.3 26
PUG1/4-5/32 114 5/32 345 13
PUG5/16-5/32 5/32 38
0 — n PUG5/16-1/4 5/16 1/4 38.3 14.5
g gif b T PUG3/8-1/4 1/4 46.3
R | I T PUG3/8-5/16 358 5/16 47 185
— PUG1/2-1/4 1/4 47
B PUG1/2-5/16 1/2 5/16 47 21
PUG1/2-3/8 3/8 48

RO B REE X7 R i A AR




RIER SEE1E % /Push-in Plastic Fittings

JPUC &1L /PUC series tube fitting

7

\
Y

BPG &£k /PG series tube fitting

$P2
@D
I I

I1T]
D2
P2

)

JPUL &i#& 3k /PUL series tube fitting

~\ /

2-B

S ETIREI B oP L od
Model Outer diameter
¢ D
PUC4 4 32.5 11 8.5 3.2
PUC6 6 35 13 16 3.2
PUC8 8 38.2 14.5 17.2 3.2
PUC10 10 48 18.5 21.5 4.2
PUC12 12 48 21 24 4.2
PUC14 14 51.5 23 25.5 4.2
PUC16 16 64 26 28 5.2
PUC5/32 5/32 32.5 11 8.5 3.2
PUC3/16 3/16 32.5 11 8.5 3.2
PUC1/4 1/4 85 13 16 3.2
PUC5/16 5/16 38.2 14.5 17.2 3.2
PUC3/8 3/8 48 18.5 21.5 4.2
PUC1/2 112 48 21 24 4.2
2= EFIMZ/ BRI B o P1 o P1 L od
Model Outer diameter | Outer diameter
¢ D1 ¢ D2
PG6-4 6 4 34 13 11 15 3.2
PG8-4 8 4 36 14.5 13 16.5 3.2
PG8-6 6 36.4
PG10-6 10 6 43 18.5 14.5 19.8 3.2
PG10-8 8 43.2
PG12-6 6 47
PG12-8 12 8 47 21 18.5 2315 4.2
PG12-10 10 48
PG14-12 14 12 51 23 23 25 4.2
PG16-12 12 64 26 26 28 52
PG16-14 16 14 64.3
PG1/4-5/32 16 5/32 34 13 11 15 3.2
PG5/16-5/32 5/32 36 14.5 13 16.5 3.2
PG5/16-1/4 5/16 1/4 36.4
PG3/8-1/4 1/4 46.3 18.5 14.5 19.5 3.2
PG3/8-5/16 3/8 5/16 47
PG1/2-1/4 1/4 47
PG1/2-5/16 1/2 5/16 47 21 18.5 235 5.2
PG1/2-3/8 3/8 48
BS BRI BT B o P1 E od M
Model Outer diameter| Outer diameter
¢ D1 ¢ D2
PUL4 4 24 11 18.5 3.2 7
PUL6 6 25 13 18.5 3.2 8
PUL8 8 29.5 14.5 22.3 3.2 9.8
PUL10 10 37 18.5 27.8 4.2 11.5
PUL12 12 39.5 21 29 4.2 13.5
PUL14 14 415 23 30 4.2 13.5
PUL16 16 45.5 26 32.5 5.2 14
PUL6-4 6 4 25 13 18.5 3.2 8
PUL8-4 8 6 29.5 14.5 22.3 3.2 9.8
PUL10-8 10 8 37 18.5 27.8 4.2 11.5
PUL12-10 12 10 39.5 21 29 4.2 13.5
PUL14-12 14 12 41.5 23 30 4.2 13.5
PUL16-14 16 14 45.5 26 32.5 5.2 14
PUL5/32 5/32 24 11 18.5 3.2 7
PUL3/16 3/16 24 11 18.5 3.2 7
PUL1/4 1/4 25 13 18.5 3.2 8
PUL5/16 5/16 29.5 14.5 22.3 3.2 9.8
PUL3/8 3/8 37 18.5 27.8 4.2 11.5
PUL1/2 112 39.5 21 29 4.2 13.5

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

169



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

170

RIBER SFNE 1L /Push-in Plastic Fittings

B PzA &% IPZA series tube fitting

B BEFIMZ BEFIME 2E 40P M1 M2 od
Model Outer diameter [Outer diameter
¢ D1 ¢ D2
PZA4 4 36 11 75 15 3.2
PZAG 6 38.5 13 8 16 3.2
b ™ PZA8 8 45 145 9 18 3.2
O g PZA10 10 57 18.5 135 27 42
PZA12 12 58.5 21 13 23 4.2
P / PZA6-4 6 4 385 13 3 16 3.2
PZA8-6 ) 6 45 145 9 18 3.2
PZA10-8 10 8 57 18.5 135 27 42
n PZA12-10 12 10 58.5 21 13 23 4.2
e PZA5/32 5/32 36 11 75 15 3.2
. == PZA3/16 3/16 36 11 75 15 32
& L\ PZA1/4 1/4 38.5 13 8 16 3.2
i == J—f EJ PZA5/16 5/16 45 14.5 9 18 3.2
% §1 R PZA3/8 3/8 57 18.5 12 24 42
ESs { PZA1/2 112 58.5 21 135 27 42
=
2-E
e . . .
JPUT &1L /PUT series tube fitting
I ‘ AE EEZNAl E L ®P M1 M2 od
Model Outer diameter
& D1
PUT4 4 36.8 18.4 11 7 14 3.2
N PUT6 6 38 19 13 8 16 3.2
g PUT8 8 452 22.6 145 9 18 3.2
o PUT10 10 56.8 28.4 18.5 12 24 4.2
.:\_' J PUT12 12 58 29 21 13 26 4.2
PUT14 14 61 30.5 23 135 27 4.2
PUT1 6 16 65 32.5 26 14 28 52
" PUT5/32 5/32 36.8 18.4 11 7 14 3.2
PUT3/16 3/16 36.8 18.4 11 7 14 3.2
= PUT1/4 1/4 38 19 13 8 16 3.2
2y | [ _PuTsi1e 5/16 452 22.6 145 9 18 3.2
_ PUT3/8 3/8 56.8 28.4 18.5 12 24 42
'G‘l)gt i NP, I = PUT1/2 1/2 59 29 21 13 26 4.2
E
BPY &k /PY series tube fitting
s ETIME B oP J F ¢d
Model Outer diameter
¢D
-~ PY4 4 355 11 11 14 3.2
: PY6 6 37 13 13 15 3.2
PY8 8 39.5 14.5 145 18 3.2
“{“ PY10 10 495 18.5 18 21 42
PY12 12 525 21 21 21 42
PY14 14 55.5 26 26 22 42
. PY16 16 55.5 26 26 22 42
PY5/32 5/32 35.5 11 11 14 3.2
2 /1 Ay PY3/16 3/16 355 11 11 14 3.2
{7 PY1/4 1/4 37 13 13 15 52
g gﬂ’ v U PY5/16 5/16 39.5 14.5 145 18 3.2
St || /\X“ N PY3/8 3/8 495 18.5 18 21 42
J PY1/2 112 525 21 21 21 42

RO B REE X7 R i A AR




R4 SN E % 5 /Push-in Plastic Fittings

B PGT &£k /PGT series tube fitting

2-¢P1

@P1

iR BTN/ BEFIMR/ oP1 | ¢oP2 E L M1 M2 od
Model Outer diameter |Outer diameter
& D1 & D2
PGT6-4 6 4 13 11 38 | 19 8 13.8 3.2
PGT4-6 4 6 11 13 | 375 | 195 | 6.9 | 138 3.2
PCTE4 8 4 145 | 13 | 435 | 21 9 | 166 | 32
PGT8-6 6
PGT4-8 4 8 13 | 145 | 41 | 215 83 | 166 | 32
PGT6-8 6
PGT10-6 10 6 185 | 13 | 535 | 23 11 16.8 4.2
PGT10-8 8 185 | 145 | 56 | 24 11 18.4 4.2
PGT6-10 6 10 13 | 185 | 445 | 275 | 84 22 4.2
PGT8-10 8 145 | 185 | 47 | 27 | 9.2 22 4.2
PGT12-6 6 21 | 145 | 565 | .238 | 123 | 184 | 42
PGT12-8 12 8 24.2
PGT12-10 10 21 185 | 585 | 29 | 12.3 | 222 42
PGT8-12 8 12 145 | 21 | 475 | 275 | 92 | 246 42
;"PZZ PGT10-12 10 185 | 21 | 575 | 29 11 246 42
002 PGT14-12 14 12 23 23 | 605 | 30 | 145 | 265 42
= PGT16-12 16 12 26 21 | 615 | 32 | 146 | 246 42
: PGT16-14 14 26 26 65 | 328 | 14 28 42
o || i PGT1/4-5/32 1/4 5/32 13 11 38 | 19 8 13.8 3.2
® ©) PGT5/16-5/32 5/32
T -nE PGT5/16-1/4 5/16 1/4 14.5 13 435 21 9 16.6 3.2
1
N PGT3/8-1/4 1/4 185 | 13 | 53.3 | 23 11 16.8 42
€ PGT3/8-5/16 3/8 5/16 185 | 145 | 56 [ 24 | 11 184 | 4.2
‘ PGT1/2-5/16 5/16 21 | 145 | 565 | 242 | 12.3 | 184 42
PGT1/2-3/8 1/2 3/8 21 185 | 585 | 29 | 123 | 222 4.2
o P ol ~ . . .
JPW E#E L /PW series tube fitting
RS ETIME BRI B oP1 [ oP2 [ J F od
Model Outer diameter| Outer diameter
& D1 ® D2
PW6-4 6 4 355 | 13 11 11 | 135 | 32
EWe-4 8 4 365 | 145 | 13 | 13 | 14 | 32
PW8-6 6 36.5
“~ PW10-6 10 6 435 | 185 | 145 | 145 17 | 32
PW10-8 3 44 175
p PW12-6 6 50 20
PW12-8 12 8 50.5 21 185 [ 18 | 205 4.2
:\é\ PW12-10 10 51 21
PW16-12 16 12 55 6 % | 26 L2158 45
PW16-14 14 55.5 22
PW1/4-5/32 1/4 5/32 355 | 13 11 11 | 135 | 32
PW5/16-5/32 i 5/32 365 | 145 | 13 | 13 | " e
PW5/16-1/4 1/4 36.5
F
DWRIEE 3/8 Uz 435 | 185 | 145 | 145 17 | 32
1 PW3/8-5/16 5/16 44 175
% / . s PW1/2-5/16 = 5/16 51 2 el @ 12980 4
/ 8 PW1/2-3/8 3/8 51 21
\ &
bom U
( | g
A s
A\ |
K 1 o~

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

171



NRPRC

PNEUMATIC

RAERX BN EHE K /Push-in Plastic Fittings

B PK &£k /PK series tube fitting

.
P4
% A= EFHE ETFHEI | B | E |oP1|oP2] J | M1 | M2 | od
o Model Outer diameter |Outer diameter
3 D1 D2
o PK4 4 4 61 | 20 [145[ 13 [ 13| 9 [ 41 | 32
E PK6 6 6 61 | 20 [145] 13 [ 13 ] 9 41 | 32
5 PK8 8 8 805| 24 [185[ 145 145|125 [475] 4.2
2 PK10 10 10 91 [275[185][ 18 [ 18 | 12 [ 565 4.2
= PK12 12 12 995295 21 | 21 [ 21 [ 155 675 | 4.2
z PKG6-4 6 4 605| 20 [145] 13 [ 13| o 41 | 32
PKG8-4 8 4 615 20 [145] 13 [ 13| o9 41 | 32
PKG8-6 6
PKG10-6 10 6 825 24 [185] 145145 12 [475] 42
PKG10-8 8
PKG12-8 12 8 925] 265 21 [185][185| 13 [ 595 4.2
PKG12-10 10 27.5
“ PK5/32 5/32 5/32 61 | 20 [145] 13 [ 13 ] o 41 | 32
B PK1/4 1/4 1/4 61 | 20 [145] 13 [ 13 [ 9 41 | 32
2 PK5/16 5/16 5/16 805| 24 [185] 145 (145 125 [ 475 4.2
& PK3/8 3/8 3/8 91 [275[185] 18 [ 18 | 12 [565 ] 42
i PK1/2 12 12 995|295 21 | 21 [ 21 [ 155|675 4.2
PK1/4-5/32 1/4 5/32 605| 20 [145] 13 [ 13| 9 41 | 32
2 PK5/16-5/32 5/16 5/32 615| 20 [145] 13 [145] o 41 | 32
o ©—— [PKS16-1/4 1/4
§[ gl N[N K E PK3/8-1/4 3/8 1/4 825| 24 [185| 145 12 | 475
4 ‘ PK3/8-5/16 5/16
I . 1 PK1/2-5/16 12 5/16 925|265 | 21 | 185 13 | 59.5
PK1/2-3/8 3/8 27.5
A = . . .
BPRG &# 3 /PRG series tube fitting
i B BEFIMR/ BEFIME B F oP1 | oP2 J od
. o Model [ OQuter diameter | Outer diameter
» ¢ D1 D2
3 . PRG8-4 8 4 385 | 155 | 145 | 13 13 9
\ / PRG8-6 8 6 385 | 155 | 145 | 13 13 9
b/ PRG6-6 6 6 385 | 155 | 145 | 13 | 145 | 125

2-9P2

OYO)
&

D1
#P1

2-9D2

w

A AR 8 M AR
172



RIER SENEHE 3 /Push-in Plastic Fittings

BPYJ &#E3k /PYJ series tube fitting

2-¢P2

2

2-9D

B PKJ &3k /PKJ series tube fitting

M2

B BHFIMZ/ BEFIMZ/ B o P1 L J F ¢d
Model Outer diameter [Outer diameter
¢ D1 ¢ D2
PYJ4 4 52 11 20.5 11 14 3.2
PYJ6 6 54.5 13 22 13 15 3.2
PYJ8 8 59 14.5 24 14.5 18 3.2
PYJ10 10 70 18,5 | 255 18 21 4.2
PYJ12 12 73.5 21 26.5 21 21 4.2
PYJ6-4 6 4 52 11 19 11 14 3.2
PYJ8-4 8 4 53.5 11 20.5 11 14 3.2
PYJ8-6 8 6 54.5 13 20.5 13 15 3.2
PYJ10-6 10 6 58.5 13 24.5 13 15 3.2
PYJ10-8 10 8 61 145 | 245 | 145 18 3.2
PYJ12-8 12 8 62 145 | 255 | 145 18 3.2
PYJ12-10 12 10 72 185 | 255 18 21 4.2
PYJ5/32 5/32 51.5 11 18.5 11 14 3.2
PYJ3/16 3/16 51.5 11 18.5 11 14 3.2
PYJ1/4 1/4 53 13 19 13 15 3.2
PYJ5/16 5/16 57 145 | 20.5 | 14.5 18 3.2
PYJ3/8 3/8 70.5 18.5 | 245 18 21 4.2
PYJ1/2 1/2 74.5 21 25.5 21 21 4.2
PYJ1/4-5/32 1/4 5/32 52 11 19 11 14 3.2
5 PYJ5/16-5/32 5/16 5/32 53.5 11 20.5 11 14 3.2
PYJ5/16-1/4 5/16 1/4 54.5 13 20.5 13 15 3.2
PYJ3/8-1/4 3/8 1/4 58.5 13 24.5 13 15 3.2
PYJ3/8-5/16 3/8 5/16 61 145 | 245 | 145 18 3.2
PYJ1/2-5/16 1/2 5/16 62 145 | 255 | 145 18 3.2
PYJ1/2-3/8 1/2 3/8 72 185 | 255 18 21 4.2
= EFIMZ/ BEFIMZ/ B L oP1 [ oP2( J E M1 | M2 | ¢d
Model | Outer diameter |Outer diameter
¢ D1 ¢ D2
PKJ4 4 4 7751 205|145 | 13 13 20 9 41 | 3.2
PKJ6 6 6 79 22 | 145| 13 13 20 9 41 | 3.2
PKJ8 8 8 995 | 24 [ 185 |145| 145 | 24 (125|475 | 4.2
PKJ10 10 10 110.5| 25,5 | 185|185 18 | 275 | 12 | 565 | 4.2
PKJ12 12 12 120.5]| 26.5 | 21 21 21 | 295|155 |675| 4.2
PKJ6-4 6 4 765 19 [ 145| 13 13 20 9 41 3.2
PKJ8-4 8 4 79 | 205|145 13 13 20 9 41 3.2
PKJ8-6 6
PKJ10-6 10 6 103.5| 245 | 185 |145| 145 | 24 [ 125|475 4.2
PKJ10-8 8
PKJ12-8 12 8 1145|255 | 21 | 185 185|265 | 13 |595| 4.2
PKJ12-10 10 27.5

2-J

3-¢D2

3-9P2

-]

N/

= N
»
"”%Q

©

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

173



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

174

R S5 E 1% 5 /Push-in Plastic Fittings

BPGJ & /PGJ series tube fitting

P

D2

BPLJ &#E 3k /PLJ series tube fitting

9P

ﬁ"'w-lk ’}

¢D1

B BEFIME/ BEFIME B L o P1
Model Outer diameter | Outer diameter
¢ D1 D2
PGJ6-4 6 4 38.5 22 11
PGJ8-4 8 4 39 25 11
PGJ8-6 6 41.8 13
PGJ10-6 10 6 40.8 265 13
PGJ10-8 8 455 14.5
PGJ12-6 6 40 13
PGJ12-8 12 8 428 26.5 14.5
PGJ12-10 10 51 18.5
PGJ1/4-5/32 1/4 5/32 38.5 22 11
PGJ5/16- 5/32 39 11
e 5/16 25
PGJ5/16-1/4 1/4 41.8 13
PGJ3/8-1/4 38 1/4 41 265 13
PGJ3/8-5/16 5/16 455 14.5
PGJ1/2-1/4 1/4 40 13
PGJ1/2-5/16 172 5/16 43 26.5 14.5
PGJ1/2-3/8 3/8 51 18.5
8= BRI EFIMR B E L oP
Model Outer diameter | Outer diameter
¢ D1 ¢ D2
PLJ4 4 335 | 185 | 205 | 11
PLJ6 6 35.5 19 22 13
PLJ8 8 40 225 | 24 | 145
PLJ10 10 455 28 | 255 | 185
PLJ12 12 48 29 | 265 | 21
PLJ6-4 6 4 34 18.5 19 11
PLJ8-6 8 6 35.5 19 | 205 | 13
PLJ10-8 10 8 42 225 | 245 | 145
PLJ12-10 10 485 28 26 | 185
PLJ5/32 5/32 33 185 | 185 | 11
PLJ1/4 1/4 34 19 19 13
PLJ5/16 5/16 38 225 | 205 | 14.5
PLJ3/8 3/8 46 28 | 245 | 185
PLJ1/2 1/2 495 29 26 21
PLJ1/4-5/32 1/4 5/32 34 18.5 19 11
PLJ5/16-1/4 5/16 1/4 355 19 | 205 | 13
PLJ3/8-5/16 3/8 5/16 42 225 | 245 | 145
PLJ1/2-3/8 1/2 3/8 48.5 28 26 | 185

RO B REE X7 R i A AR




NRPRC

PNEUMATIC

RiE X S BN EHE 5 /Push-in Plastic Fittings

JPL &£k /PL series tube fitting

-
g
5
[ | :
EIe BEFNE/ T E B 0P A L 3
Model Outer diameter 8 ":3
oD <
PL4-M5* M40.7 | 17 16.8 35 18.7 8 o
PL4-M5 M50.8 | 18.5 21 4 22 10 2
Q PL4-M6 M5+1.0 215 4 22.5 10 g
» o / PL4-01 4 R1/8 24.8 M 8 26.5 10 T
= & PL4-02 R1/4 275 10 26.5 14
- PL4-03 R3/8 285 11 27.5 17
PL6-M5* R1/2 178 3.5 21 8
PL6-M5 M5%0.8 215 4 24 12
PL6-M6 M6*1.0 22 4 24.5 12
PL6-01 6 R1/8 19 25 13 3 27.5 12
PL6-02 R1/4 275 10 28 14 &+
PL6-03 R3/8 28.5 11 29 17 5
. PL6-04 R1/2 325 14 30.5 21 o
PL8-M5 M5%0.8 25 4 28 14 e
P [ PL8-M6 M6*1.0 25.5 4 28.5 14
e s¢s PL8-01 6 RUB | [ 275 a5 8 31 14
@ i PL8-02 R1/4 : 30 : 10 31 14
o L T PL8-03 R3/8 31 11 32 17
@ Y PL8-04 R1/2 34.5 14 33.5 21
; i PL8-06 R1/8 39 17 36.5 27
| | = PL10-01 R1/4 325 8 375 17
PL10-02 R3/8 345 10 38 17
PL10-03 10 R1/2 28 355 11 385 17
PL10-04 R3/4 39 185 14 40 21
PL10-06 R1/8 43 17 425 27
PL12-01 R1/4 335 8 40 17
PL12-02 R3/8 355 10 40 17
PL12-03 12 R1/2 29 375 21 11 405 17
PL12-04 R3/4 40.5 14 43 21
PL12-06 R1/8 445 17 455 27
PL14-02 R1/4 355 10 41 19
PL14-03 R3/8 375 11 43 19
PL14-04 14 R1/2 30 40 23 14 43 21
PL14-06 R1/4 44 17 46 27
PL16-02 R3/8 36.8 10 435 19
PL16-03 R1/2 39 11 453 19
PL16-04 16 R4 | 315 415 26 14 46 21
PL16-06 R3/8 455 17 49 27

AR BMREE 3 7= S B A9 AR
b i 175



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

B ETS

176

RiE X SFNEHEL /Push-in Plastic Fittings

BPL-G &%k /PL-G series tube fitting

I BS

BEFIMR/ T E B oP A L
Model QOuter diameter 8
¢D -
PL4-G01 4 G1/8 18.5 24 11 55 24 14
PL4-G02 G1/4 255 6.5 245 17
1 PL6-G01 G1/8 245 55 25 14
’ ¥ | PL6-G02 6 G1/4 19 26 13 6.5 25.5 17
- mi PL6-G03 G3/8 26.5 6.5 26 20
PL6-G04 G1/2 30 10 26 24
PL8-G01 G1/8 27 55 28.5 14
PL8-G02 8 G1/4 225 28.5 14.5 6.5 29 17
PL8-G03 G3/8 29 6.5 29.5 20
PL8-G04 G1/2 32,5 10 29.5 24
PL10-G01 G1/8 315 55 35 17
PL10-G02 10 G1/4 28 32.5 18.5 6.5 35 17
. PL10-G03 G3/8 33 6.5 355 20
PL10-G04 G1/2 36.5 10 355 24
/: N PL12-G01 G1/8 33 55 38 17
i gi% PL12-G02 12 G1/4 29 34.5 21 6.5 38.5 17
» i : PL12-G03 G3/8 34.5 6.5 38.5 20
- @ | T PL12-G04 G1/2 38 10 38.5 24
| PL14-G02 G1/4 34 6.5 39 19
—_— PL14-G03 14 G3/8 30 34 23 6.5 39 20
T—e==s PL14-G04 G1/2 37.5 10 39 24
PL16-G02 G1/4 355 6.5 415 19
PL16-G03 16 G3/8 31 355 26 6.5 415 20
PL16-G04 G1/2 39 10 415 24
P ol B CRRS . " ggr
JPL-N &1k /PL-N series tube fitting
I ‘ RS BTN/ T E B oP A L

Model Outer diameter 8
oD Lk
PL5/32-UNF 10-32UNF 21 4 22 7/16
PL5/32-NO1 5/32 NPT1/8 18.5 24.8 1 8 26.5 7/16
PL5/32-N02 NPT1/4 27.5 10 26.5 9/16
4 Y f PL1/4-UNF 10-32UNF 215 4 24 1/2
) - PL1/4-NO1 NPT1/8 25 8 27.5 1/2
A PL1/4-N02 174 NPT1/4 19 27.5 13 10 28 9/16
PL1/4-NO3 NPT3/8 28.5 11 29 11/16
PL5/16-N01 NPT1/8 27.5 8 31 9/16
PL5/16-N02 NPT1/4 30 10 31 9/16
PL5/16-N03 5/16 NPT3/8 22.5 31 14.5 11 32 11/16
. PL5/16-N04 NPT1/2 34.5 14 33.5 7/8
PL3/8-N01 NPT1/8 32,5 8 37.5 11/16
/j I PL3/8-N02 3/8 NPT1/4 28 34.5 18.5 10 38 11/16
A gt% PL3/8-N03 NPT3/8 355 11 38.5 11/16
| C H PL3/8-N04 NPT1/2 39 14 40 7/8
. @ 11 T PL1/2-N02 NPT1/4 355 10 40 11/16
@ PL1/2-N03 112 NPT3/8 29 37.5 21 11 40.5 11/16
? ( PL1/2-N04 NPT1/2 40.5 14 43 7/8

| [ <

| |

RO B REE X7 R i A AR




RIERSFNE 3 /Push-in Plastic Fittings

PINPL &%k /INPL series tube fitting

B BEFIMZ/ T E B oP A L
Model Outer diameter 8
¢D -
NPL4-M5 4 M5X0.8 17 12.9 10.5 35 14.6 8
NPL4-M6 M6X1.0 13.9 4 15.1 10
NPL4-01 R1/8 16.9 75 18.1 10
s i NPL4-02 R1/4 19.1 9.5 18.3 14
‘:-%:\" "" A NPL6-M5 6 M5X0.8 | 19.5 14.2 13 35 17.2 10
- NPL6-M6 M6X1.0 15.2 4 17.7 10
NPL6-01 R1/8 18.2 75 20.7 10
NPL6-02 R1/4 20.4 95 20.9 14
NPL6-03 R3/8 217 10.5 21.8 17
NPL8-M5 8 M5X0.8 | 225 14.9 145 35 18.6 12
NPL8-M6 M6X1.0 15.9 4 19.1 12
NPL8-01 R1/8 18.9 75 221 12
NPL8-02 R1/4 21.1 9.5 223 14
. NPL8-03 R3/8 224 10.5 232 17
NPL8-04 R1/2 25.9 13.5 24.9 21
/: ! NPL10-01 10 R1/8 27.5 20.9 18.5 75 26.1 14
s gt NPL10-02 R1/4 23.1 95 26.3 14
4 @ J C i NPL10-03 R3/8 24.4 10.5 27.2 17
@ T F,, . NPL10-04 R1/2 27.9 13.5 28.9 21
T < NPL12-01 12 R1/8 29.5 222 21 75 28.7 16
: NPL12-02 R1/4 24.4 9.5 28.9 16
NPL12-03 R3/8 25.7 10.5 29.8 17
NPL12-04 R1/2 29.2 13.5 315 21
Sohe b S . e
PINPL-G &# 3k /INPL-G series tube fitting
8= EFHER T E B P A L
Model Outer diameter 8
oD o
NPL4-G01 4 G1/8 17 17.4 105 55 17.1 10
NPL4-G02 G1/4 18.4 6.5 17.1 10
ﬁ? » NPL6-G01 G1/8 18.7 55 19.7 10
nﬁ NPL6-G02 6 G1/4 19.5 19.7 13 6.5 19.7 10
‘ 'T"\ NPL6-G03 G3/8 20.2 6.5 20.2 10
NPL8-G01 G1/8 19.4 55 21.1 12
NPL8-G02 8 G1/4 225 20.4 14.5 6.5 21.1 12
NPL8-G03 G3/8 20.9 6.5 216 12
NPL8-G04 G1/2 24.9 10 22.1 12
NPL10-G01 G1/8 20.4 55 241 14
NPL10-G02 10 G1/4 27.5 224 18.5 6.5 25.1 14
E NPL10-G03 G3/8 22.9 6.5 25.6 14
| NPL10-G04 G1/2 26.9 10 26.1 14
[ A Tara| [ NPL12-GO1 G1/8 217 55 26.7 16
1A I ets NPL12-G02 12 G1/4 29.5 23.2 21 6.5 27.2 16
Jj} i NPL12-G03 G3/8 24.2 6.5 28.2 16
- LT NPL12-G04 G1/2 28.2 10 28.7 16
Il

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

177



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

178

RN SENE$E 3 /Push-in Plastic Fittings

BPLL &##3k /PLL series tube fitting

R

JPLL-G &%k /PLL-G series tube fitting

T
[ c |
1
- @
T
LI
Ni ] =<

EilR= BEEFIMR/ T E B oP A L

Model QOuter diameter 8
oD —

PLL4-M5 M5X0.8 32 4 33 10
PLL4-M6 M6X1.0 32 4 33 10
PLL4-01 4 R1/8 | 185 | 358 1 8 375 10
PLL4-02 R1/4 38.5 10 375 14
PLL4-03 R3/8 385 11 385 17
PLL6-M5 M5X0. 8 345 4 37 12
PLL6-M6 M6X1.0 345 4 37 12
PLL6-01 R1/8 19 38 13 3 40.5 12
PLL6-02 6 R1/4 40.5 10 41 14
PLL6-03 R3/8 415 11 42 17
PLL6-04 R1/2 455 14 435 21
PLL8-01 R1/8 | 225 | 42 3 455 14
PLL8-02 R1/4 445 14.5 10 455 14
PLL8-03 8 R3/8 45.5 11 465 17
PLL8-04 R1/2 49 14 48 21
PLL10-01 R1/8 51 3 56 17
PLL10-02 10 R1/4 28 53 18.5 10 56.5 17
PLL10-03 R3/8 54 11 57 17
PLL10-04 R1/2 575 14 58.5 21
PLL12-01 R1/8 545 8 61 17
PLL12-02 12 R1/4 29 [ 565 21 10 61 17
PLL12-03 R3/8 58.5 11 61.5 17
PLL12-04 R1/2 61.5 14 64 21

S BRI T E B P A L

Model Outer diameter 8

oD -

PLL4-GO1 4 G1/8 | 185 35 1 55 35 14
PLL4-G02 G1/4 36.5 6.5 35.5 17
PLL6-GO1 G1/8 375 13 55 38 14
PLL6-G02 G1/4 39 6.5 38.5 17
PLL6-G03 6 G3/8 19 395 6.5 39 20
PLL6-G04 G112 43 10 39 24
PLL8-GO1 G1/8 415 | 145 55 43 14
PLL8-G02 G1/4 43 6.5 435 17
PLL8-G03 8 G3/8 | 225 [ 435 6.5 44 20
PLL8-G04 G112 47 10 44 24
PLL10-GO1 G1/8 50 18.5 55 535 17
PLL10-G02 G1/4 51 6.5 535 17
PLL10-G03 10 G3/8 28 515 6.5 54 20
PLL10-G04 G112 55 10 54 24
PLL12-GO1 G1/8 54 21 55 59 17
PLL12-G02 G1/4 555 6.5 595 17
PLL12-G03 12 G3/8 29 555 6.5 595 20
PLL12-G04 G112 59 10 595 24

RO B REE X7 R i A AR




RIFR SFNE 3k /Push-in Plastic Fittings

JPLM &i#& 3k /PLM series tube fitting

[ |

BE BEFIMZ M E B oP A G
Model Outer diameter 8
¢D -
PLM4 4 12X1.0 | 185 30 11 5 3.5 5
PLM6 6 14X1.0 19 315 13 5 4 7
PLMS8 8 16X1.0 | 225 40.5 14.5 5 45 9
PLM10 10 20X1.0 28 435 18.5 6 5 11
PLM12 12 22X1.0 29 46 21 7 5 13
PLM5/32 5/32 12X1.0 | 185 30 11 5 3.5 5/33
PLM1/4 1/4 14X1.0 19 315 13 5 4 1/5
PLM5/16 5/16 16X1.0 | 225 40.5 14.5 5 45 5/17
PLM3/8 3/8 20X1.0 28 435 18.5 6 5 3/9
PLM1/2 1/2 22X1.0 29 46 21 7 5 1/3
op
! ! w2
[=)
. im §
e
Q ]
R = Pl
| S— -
A_|G
B
Vo ra i - —RRN . . .
JPLF &%k /PLF series tube fitting
I ‘ il BETIEI T E B oP A L
Model Outer diameter 8
D it
PLF4-M5 M5X0.8 19 5 24.5 10
PLF4-M6 4 M6X1.0 19 5 24.5 10
. PLF4-01 Ri/s | 185 [ 23 " 8 285 14
y " PLF4-02 R1/4 255 10 11 17
' go PLF6-M5 M5X0.8 19.5 5 26 12
PLF6-M6 M6X1.0 19.5 5 26 12
PLF6-01 6 R1/8 19 235 8 30 14
PLF6-02 R1/4 26 13 10 325 17
PLF6-03 R3/8 27.5 11 34 20
PLF6-04 R1/2 30.5 14 37 24
PLF8-01 R1/8 26 8 33.5 14
PLF8-02 R1/4 225 28.5 10 36 17
PLF8-03 8 R3/8 30 145 1 375 20
E PLF8-04 R1/2 33 14 40.5 24
— 1 PLF10-01 R1/8 25 8 34 17
ﬁ*ﬂ ’ﬂa PLF10-02 10 R1/4 28 32 10 41 17
I |y &
| (i 4 PLF10-03 R3/8 34 18.5 11 43 20
. PLF10-04 R1/2 37 14 46 24
@ @ e T PLF12-01 R1/8 27.5 8 38 17
L PLF12-02 12 R1/4 29 34 10 445 17
N Pl PLF12-03 R3/8 355 21 1 46 20
PLF12-04 R1/2 38.5 14 49 24

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

179



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

180

RIER SENE$E 3 /Push-in Plastic Fittings

lPT B &3k /PT series tube fitting

Eile= BHFIMZ/ T E B oP A L
Model Outer diameter 8
oD -
PT4-M5 M5X0.8 20.5 11 4 22.5 10
PT4-M6 M6X1.0 21 4 23 10
5 PT4-01 4 R1/8 | 365 24.5 8 26 10
PT4-02 R1/4 27 10 26.5 14
’ib & ’ "', PT6-M5 M5X0.8 20.5 13 4 24.5 12
v PT6-M6 M6X1.0 21 4 25 12
PT6-01 6 R1/8 38 235 8 275 12
PT6-02 R1/4 27 10 28 14
PT6-03 R3/8 28 11 29 17
PT8-01 R1/8 28 145 8 31 14
PT8-02 8 R1/4 44.5 29.5 10 31 14
PT8-03 R3/8 31 1 32 17
] PT10-02 R1/4 36 18.5 10 38.5 17
PT10-03 10 R3/8 56.5 37 11 39 17
1 ¥ PT10-04 R1/2 40.5 14 405 21
| 8ty PT12-02 R1/4 355 21 10 40 17
WH LN e PT12-03 12 R3/8 58.5 36.5 11 40.5 17
- @ L PT12-04 R1/2 395 14 425 21
E - PT14-03 14 R3/8 61 37 23 1 42 19
} : PT14-04 R1/2 40.5 14 44 21
3 = PT16-03 16 R3/8 61 42 26 1 485 19
PT16-04 R1/2 455 14 50 21
e ] . L]
BPT-G &%k /PT-G series tube fitting
I ‘ S EFHE T E B oP A L
Model Outer diameter 8
D A
PT4-G01 4 G1/8 36.5 24 " 55 24 14
~ PT4-G02 G1/4 25.5 6.5 24.5 17
PT6-G01 G1/8 24.5 5.5 25.5 14
’ PT6-G02 6 G1/4 38 26 13 6.5 26 17
ﬁ ~, b PT6-G03 G3/8 26.5 6.5 26.5 20
PT8-G01 G1/8 27 55 28.5 14
PT8-G02 8 G1/4 445 28.5 14.5 6.5 29 17
PT8-G03 G3/8 29 6.5 29.5 20
PT10-G02 G1/4 32.5 6.5 36 17
PT10-G03 10 G3/8 56.5 33 18.5 6.5 36.5 20
PT10-G04 G1/2 36.5 10 36.5 24
PT12-G02 G1/4 34.5 6.5 38 17
PT12-G03 12 G3/8 58.5 34.5 21 6.5 38 20
E PT12-G04 G1/2 38 10 38 24
| ; PT14-G03 14 G3/8 61 345 23 6.5 40 20
} —— ofe| | PT14-G04 G1/2 38 10 40 24
\J_ ~ N [ dd) | PT16-G03 16 G3/8 61 395 2% 6.5 46 20
= PT16-G04 G1/2 43 10 46 24

RO B REE X7 R i A AR




RIER SEE1E L /Push-in Plastic Fittings

JPST &%k /PST series tube fitting

B BHFIMZ/ T E B oP A L
Model Outer diameter 8
oD o
PST4-M5 4 M5X0.8 | 18.5 39 11 4 35 10
. PST4-M6 M6X1.0 39.5 4 35.5 10
PST4-01 R1/8 43 8 39 10
PST4-02 R1/4 46.5 10 40.5 14
- 1 1’ PST6-M5 6 M5X0.8 19 40.5 13 4 36.5 12
- i’ PST6-M6 M6X1.0 41 4 37 12
PST6-01 R1/8 44 8 40 12
PST6-02 R1/4 46.5 10 40 14
PST6-03 R3/8 475 11 39.5 17
PST8-01 8 R1/8 22 50 14.5 8 46 14
PST8-02 R1/4 52 10 46 14
£ PST8-03 R3/8 53.5 11 47 17
PST8-04 R1/2 56.5 18.5 14 485 21
=== PST10-01 10 R1/8 285 61 8 57 17
PST10-02 R1/4 63.5 10 57.5 17
PST10-03 R3/8 64.5 21 11 58 17
14 o g PST10-04 R1/2 68 14 60 21
- 1IN N PST12-02 12 R1/4 29 64.5 10 58.5 17
PST12-03 R3/8 66.5 23 11 60 17
ﬁ PST12-04 R1/2 69 14 61 21
X T PST14-03 14 R3/8 30.5 67.5 26 11 61 19
i < PST14-04 R1/2 71 14 63 21
= . . ]
JPST-G &%k /PST-G series tube fitting
‘ ik ETIMRI T E B oP A L
Model Outer diameter 8
D -
PST4-G01 4 G1/8 18.5 425 1 55 24 14
"~ PST4-G02 G1/4 44 6.5 245 17
. PST6-G01 6 G1/8 19 43 13 55 37.5 14
i i’ PST6-G02 G1/4 445 6.5 38 17
$ & PST6-G03 G3/8 45 6.5 38.5 20
PST8-G01 8 G1/8 22 485 14.5 5.5 43 14
PST8-G02 G1/4 50 6.5 435 17
PST8-G03 G3/8 50.5 6.5 44 20
PST8-G04 G1/2 54 10 44 24
PST10-G01 10 G1/8 28.5 60.5 18.5 5.5 55 17
PST10-G02 G1/4 61.5 6.5 55 17
E PST10-G03 G3/8 62 6.5 55.5 20
PST10-G04 G1/2 65.5 10 55.5 24
[ PST12-G02 12 G1/4 29 63 21 6.5 56.5 17
PST12-G03 G3/8 63 6.5 56.5 20
PST12-G04 G1/2 66.5 10 56.5 24
7 | PST14-G03 14 G3/8 20.5 65 23 6.5 58.5 20
- 33 PST14-G04 G1/2 68.5 10 58.5 24

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

181



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

182

RIFER SENE$E L /Push-in Plastic Fittings

BPWT &1k /PWT series tube fitting

RS BEIR T A B L oP J od F
Model Outer diameter 8
oD T
PWT4-M5 M5X0. 8 4 39 35 10
- ! PWT4-M6 M6X1.0 4 395 | 355 10
4 PWT4-01 4 R1/8 8 43 39 1 | 32| 14 10
fe PWT4-02 R1/4 10 455 | 395 14
PWT6-M5 M5X0. 8 4 41 39 12
:‘\é‘ PWT6-M6 M6X1.0 4 415 | 395 12
PWT6-01 6 R1/8 3 445 | 405 | 13 | 13 ] 32| 15 12
PWT6-02 R1/4 10 47 41 14
PWT6-03 R3/8 11 48 415 17
PWT8-01 R1/8 8 47 43 14
PWT8-02 R1/4 10 49 43 14
J PWT8-03 8 R3/8 11 50 | 435 | 145 |145]| 32 | 18 17
2-902 3-9P2 PWT8-04 R1/2 14 54 56 21
PWT10-01 R1/8 8 57 53 17
= ! ! PWT10-02 R1/4 10 59 53 17
w PWT10-0C 10 R3/8 1 60 | 535 | 185 | 18 | 42 | 21 17
PWT10-04 R1/2 14 63.5 55 21
& @ PWT12-02 R1/4 10 615 | 555 17
o3 PWT12-0C 12 R3/8 11 62.5 56 21 21 | 42 | 2 17
PWT12-04 R1/2 14 66 58 21
PWT14-0C R3/8 11 65.5 59 % %6 | a2 | 22 19
PWT14-04 14 R1/2 14 69 60.5 21
PWT16-0C 16 R3/8 1 65.5 59 2% % | 42 | 22 19
PWT16-O4 R1/2 14 69 61 21
e ] 2] L]
JPWT-G &# 3k /PWT-G series tube fitting
BE BT T A B L oP J od | F
Model Outer diameter 8
$D =i
PWT4-GO1 4 G1/8 5.5 425 37 1" 1 | 32 | 14 14
PWT4-G02 G1/4 6.5 44 37.5 17
PWT6-GO1 G1/8 5.5 435 38 14
PWT6-G02 6 G1/4 6.5 45 38.5 13 13 | 32 | 15 17
PWT6-G03 G3/8 6.5 455 39 20
PWT8-GO1 G1/8 55 46 40.5 14
PWT8-G02 8 G1/4 6.5 47.5 41 145 | 145] 32 | 18 17
PWT8-G03 G3/8 6.5 48 415 20
PWT10-G02 G1/4 6.5 57 50.5 17
PWT10-G03 10 G3/8 6.5 27.5 51 185 | 18 | 42 | 21 20
PWT10-G04 G1/2 10 61 51 24
J PWT12-G02 G1/4 6.5 59 52.5 17
7-4D2 3_6p2 PWT12-G03 12 G3/8 6.5 60 53.5 21 21 | 42 |21 20
T PWT12-G04 G1/2 10 635 | 535 24
= T T PWT14-G03 14 G3/8 6.5 63 56.5 % 26 | 42 | 22 20
PWT14-G04 G1/2 10 66.5 | 56.5 24
PWT16-G03 16 G3/8 6.5 63 56.5 2 26 | 42 | 2 20
PWT16-G04 G1/2 10 66.5 | 56.5 24

RO B REE X7 R i A AR




RIER SN E$E K /Push-in Plastic Fittings

JPDK &%k /PDK series tube fitting

B EFIMZ/ EFIM/ T |A| B L [oP1|oP2| J | E | 0od|[M1[M2 5
Model Outer diameter |Outer diameter
¢ D1 ¢ D2 B
PKD4-01 4 4 R1/8 | 8 | 68 | 64 10
PKD4-02 R1/4 | 10| 70 | 64 14
- PKD6-4-01 6 4 R1/8 | 8 | 68 | 64 12
f PKD6-4-02 R1/4 [ 10 | 705 [ 645 | 145 13 | 13 | 20 |32 | 9 |a15]_14
e / PKD6-01 6 6 R1/8 | 8 | 685|645 12
“';( ® PKD6-02 R1/4 | 10 | 705 | 64.5 14
PKD8-6-02 8 6 R1/4 | 10| 71 | 65 14
PKD8-6-03 R3/8 | 11 | 725 | 66 17
PKD8-02 8 8 R1/4 | 10 | 88.5 | 82.5 | 18.5 [ 14.5 [145[ 24 4.2 | 12 [47.5] 14
PKD8-03 R3/8 [ 11 | 90 |835 17
PKD10-8-02 10 8 R1/4 | 10 | 89.5 | 83.5 14
PKD10-8-03 R3/8 | 11 [ 905 | 84 17
PKD10-03 10 10 R3/8 | 11 | 100 | 935 [ 185|185 [185] 28 [4.2 | 12 |[56.5 17
PKD10-04 R1/2 | 14 | 103 | 95 21
PKD12-10-03 12 10 R3/8 [ 11 |025] 96 | 21 [185[185([27.5[4.2 | 16 [59.5] 17
PKD12-10-04 R1/2 | 14 | 106 | 98 21
PKD12-03 12 12 R3/8 | 11 [1005] 103 | 21 | 21 | 21 | 29 |42 | 16 [67.5] 17
N A PKD12-04 R1/2 | 14 | 113 105 21
§EI 1l H:\Ff\'
YAl
o v o N . . .
JPDK-G &# 3k /PDK-G series tube fitting
‘ BS BEFIMZ/ BHFIMZ/ T|A| B | L |[oP1|oP2] J | E | od|MI|M2
Model Outer diameter|Outer diameter 8
¢ D1 ¢ D2 o
PKD4-G01 4 4 G1/8[55] 67 |615 14
PKD4-G02 G1/4 65| 685 | 62 17
i PKD6-4-G01 5 4 G1/8[55] 67 |615 14
’-' PKD6-4-G02 G1/4[65[685[ 62 | 145 | 13 | 13| 20 |32 | 9 |a15[ 17
PKD6-GO1 6 6 G1/8| 55| 67 |61.5 14
/ PKD6-G02 G1/4 [ 65| 685 | 62 17
PKD8-6-G02 s A G1/4[ 65| 69 |625 17
PKD8-6-G03 G3/8[6.5]695| 63 20
PKD8-G02 . 8 G1/4[65] 875 ] 81 17
PKD8-G03 G3/8[65] 88 815 20
PKD10-8-G02 " . G1/4| 65| 885 | 82 | 185 | 145|145 24 | 42 |12 14757
PKD10-8-G03 G3/8[ 65| 89 |825 20
PKD10-G03 10 10 G381 651 97 |905| 155 | 185 [185] 28 | 42 | 12 | 56.5 |22
PKD10-G04 G1/2 | 10 [100.5] 90.5 24
PKD12-10-G03 12 10 C38165) 100 {935] o1 185 |185|275] 4.2 | 16 |59.5 |22
PKD12-10-G04 G1/2 | 10 [103.5] 93,5 24
- PKD12-G03 - 12 Ga/g| 65| 107 [1005) o L e Taz i lens MR
g\&'\ PKD12-G04 G1/2 [ 10 |110.5]100.5 24
=[]
L

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

183



NRPRC

PNEUMATIC

RIFRSHE$E L /Push-in Plastic Fittings

FLUID AUTOMATIC COMPONENT

ik BETY

J PH &i#E 3k /PH series tube fitting

¢P

JPH-G &# 3 /PH-G series tube fitting

D
P

S BEFHE T A oP E B L

Model Outer diameter 8
oD =

PH4-M5 M5X0.8 4 11 195 17 13 8
PH4-M6 M6X1.0 4 18 14 8
PH4-01 4 R1/8 7 13 225 24 20 12
PH4-02 R1/4 95 245 26.5 20.5 14
PHB-M5 M5X0.8 4 215 17 13 8
PH6-M6 M6X1.0 4 18 14 8
PH6-01 R1/8 7 13 225 24 20 12
PH6-02 6 R1/4 95 245 26.5 20.5 14
PH6-03 R3/8 105 26.5 32 255 19
PH6-04 R1/8 14 145 32 39 31 24
PH8-01 R1/4 7 25 24 20 12
PH8-02 R3/8 95 28 26.5 20.5 14
PH8-03 8 R1/4 10.5 14.5 29 32 255 19
PH8-04 R3/8 14 32 39 31 24
PH10-01 R1/2 7 305 24 20 12
PH10-02 R1/4 95 32.5 26.5 20.5 14
PH10-03 10 R3/8 105 18.5 33 32 255 19
PH10-04 R1/2 14 36 39 31 24
PH12-02 R3/8 95 33 26.5 20.5 14
PH12-03 12 R1/2 10.5 21 35 32 255 19
PH12-04 R3/8 14 36 39 31 24

B BEFIME T A oP E B L

Model Outer diameter 8
¢D -

PH4-GO1 . G1/8 5 13 225 235 185 12
PH4-G02 G1/4 75 245 27 19.5 14
PH6-GO1 G1/8 5 225 235 185 12
PH6-G02 6 G1/4 7.5 13 24.5 27 19.5 14
PH6-G03 G3/8 75 26.5 32 245 19
PH6-G04 G1/2 10 145 32 39 29 24
PH8-GO1 G1/8 5 25 235 185 12
PH8-G02 G1/4 75 28 27 195 14
PH8-G03 8 G3/8 75 14.5 29 32 245 19
PH8-G04 G112 10 32 39 29 24
PH10-GO1 G1/8 5 30.5 23.5 185 12
PH10-G02 G1/4 75 325 27 195 14
PH10-G03 10 G3/8 75 18.5 33 32 24.5 19
PH10-G04 G112 10 36 39 29 24
PH12-G02 G1/4 75 33 27 195 14
PH12-G03 12 G3/8 7.5 21 35 32 245 19
PH12-G04 G112 10 36 39 29 24

A AR 8 M AR
184




R K& L /Push-in Plastic Fittings

B PHF &%k /PHF series tube fitting

T2

A2
—

T

A1

B PHF-G &%k /PHF-G series tube fitting

Eidh= BRI T1 [T2| A1 | A2 | oP E B L
Model Outer diameter 8
oD =i

PHF4-M5 4 M5X0.8 | 35 | 5 195 [ 20 [165] 8
PHF4-M6 M6X1.0 [ 4 | 5 21 17 8
PHF4-01 R1/8 7 13 [ 225 | 28 | 24 | 14
PHF4-02 R1/4 95 245 | 33 | 27 | 17
PHF6-M5 M5X0.8 | 35 | 5 215 | 20 [165] 8
PHF6-M6 M6X1.0 [ 4 | 5 21 17 8
PHF6-01 R1/8 7 18 225 | 28 | 24 | 14
PHF6-02 6 R1/4 95 245 | 33 | 27 | 17
PHF6-03 R3/8 10.5 265 | 39 [325] 21
PHF6-04 R1/2 14 145 | 32 | 465385 24
PHF8-01 R1/8 7 25 28 | 24 | 14
PHF8-02 R1/4 9.5 145 | 28 33 | 27 | 17
PHF8-03 8 R3/8 10.5 29 39 [325]| 21
PHF8-04 R1/2 14 32 [465|385]| 24
PHF10-01 R1/8 7 305 | 305|265 14
PHF10-02 R1/4 9.5 33 33 | 27 | 17
PHF10-03 10 R3/8 105 185 733 | 39 | 325 21
PHF10-04 R1/2 14 36 [465|385]| 24
PHF12-02 R1/4 9.5 33 35 | 31 17
PHF12-03 12 R3/8 10.5 21 35 39 [325]| 21
PHF12-04 R1/2 14 36 [465|385]| 24

RS BRI T1 [T2| A1 |A2| oP | E B L

Model Quter diameter 8

oD -

PHF4-G01 R1/8 5 | 7 13 [225[275(225]| 14
PHF4-G02 4 R1/4 7 |95 245| 33 | 26 | 17
PHF6-GO1 R1/8 5 |7 225(275(225( 14
PHF6-G02 6 R1/4 7 |95 13 |245| 33 | 26 | 17
PHF6-G03 R3/8 7.5 105 265| 39 [315] 21
PHF6-G04 R1/2 10 | 14 | 145 | 32 [465(365| 24
PHF8-G01 R1/8 7 25 |275]225| 14
PHF8-G02 8 R1/4 7 |95 28 | 33 | 26 | 17
PHF8-G03 R3/8 | 7.5 |105| 145 |29 | 39 |315]| 21
PHF8-G04 R1/2 10 [14 32 |465(365| 24
PHF10-G01 R1/8 5 |7 305( 30 | 25 | 14
PHF10-G02 10 R1/4 7 |95 325| 33 | 26 | 17
PHF10-G03 R3/8 | 7.5 |[105| 185 |33 | 39 |315| 21
PHF10-G04 R1/2 10 [14 36 |46.5(365| 24
PHF12-G02 R1/4 7 |95 33 | 35 | 28 | 17
PHF12-G03 12 R3/8 7.5 [10.5| 21 35 [ 39 [315] 21
PHF12-G04 R1/2 10 [14 36 |46.5(36.5| 24

no
g [ ]

[ 2
o ( =
l [\

L TN

T =

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

185



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

186

RAERX BN EHE K /Push-in Plastic Fittings

JPOL &%k /POL series tube fitting

&J

B BEFIMZE/ T A oP E B L o
Model Outer diameter '
oD
POL4-M5 4 M5X0.8 | 3.5 1 19.5 16.5 13 4
POL4-01 R1/8 75 13 225 225 18.5 6
POL4-02 R1/4 9.5 245 25 19 8
POL6-M5 6 M5X0.E | 3.5 215 16.5 13 4
POL6-01 R1/8 7 225 225 18.5 6
POL6-02 R1/4 95 13 24.5 25 19 8
POL6-03 R3/8 10.5 26.5 30.5 24 10
POL8-01 8 R1/8 7 25 225 18.5 6
POL8-02 R1/4 9.5 145 28 25 19 8
POL8-03 R3/8 10.5 29 30.5 24 10
@) E POL8-04 R1/2 14 32 37 29 12
P POL10-01 10 R1/8 7 30.5 22.5 18.5 6
[ POL10-02 R1/4 9.5 33 25 19 8
. e SE POL10-03 R3/8_ | 105 | 85 [ 33 305 24 10
i POL10-04 R1/2 14 36 37 29 12
POL12-02 12 R1/4 95 33 25 19 8
T < POL12-03 R3/8 10.5 21 35 30.5 24 10
- POL12-04 R1/2 14 36 37 29 12
Pa P uilt - "R 0 . .
JPRX &#& 3k /PRX series tube fitting
‘ S BEFIMZ T A B L 8 F ®P J od
Model Outer diameter ol
oD
3 PRX4-01 R1/8| 8 46 | 42| 14
" PRX4-02 4 R1/4 | 10 | 48 |42 | 14 [155[ 13 | 13| 3.2
PRX4-03 R3/8 | 11 | 495 |43 17
h-\ PRX6-01 R1/8| 8 46 | 42| 14
R PRX6-02 6 R1/4 | 10 | 48 [42| 14 |155] 13 | 13| 3.2
- PRX6-03 R3/8 | 11 | 495 |43 17
H LA
: Ny T Y )
i (WA
[H |
i e AN
i NaN
L
T B J
Frofe L= o . . .
JPRX-G &1k /PRX-G series tube fitting
EilR= BETIR/ T A B L F | oP ¢d
Model Outer diameter 8
oD —
PRX4-G01 G1/8 | 55 45 (395 14
PRX4-G02 4 G1/4 | 65 | 465 | 40 17 |[155] 13 [ 13| 3.2
PRX4-G03 G3/8 | 65 47 [405| 20
PRX6-G01 G1/8 | 55 45 (395 14
PRX6-G02 6 G1/4 | 65 | 465 | 40 17 (155 13 | 13 | 3.2
PRX6-G03 G3/8 | 65 47 [405| 20
J T \ @ / Y\
g AN, \Q\ MY M
RS a NSNS
A%
o /
1 Ve” | (o)
. 2N
J

RO B REE X7 R i A AR




RIER KB E L /Push-in Plastic Fittings

B PA &3k /PA series tube fitting

‘ B BEFIME/ T A E E B L oP J
Model QOuter diameter 8
oD -
PA4-M5 4 M5X0.8| 4 | 225 | 17 13 13 1 8 1
PAG-01 6 R1/8 | 7 | 24 | 24 20 18.5 13 12 13
PA8-01 8 R1/8 | 7 | 26 | 24 20 19 14.5 12 14.5
é PA8-02 R1/4 [ 95| 28 | 265 | 205 13 14
P PA10-02 10 R1/4 | 95| 31 | 265 | 205 18.5 18.5 14 18.5
& PA10-03 R3/8 [105] 33 | 32 [ 255 19 19
PA12-03 12 R3/8 [105] 34 | 32 | 255 24 21 19 21
PA12-04 R12 | 14 | 365 | 39 31 18.5 24
— PA6-GO1 6 G1/8 | 5 | 24 [ 235 185 19 13 12 13
= PA8-GO1 8 G1/8 | 5 | 26 | 235 | 185 24 14.5 12 14.5
PA8-G02 G1/4 | 75| 28 | 27 | 195 29 14
PA10-G02 10 G1/4 | 75 | 31 27 | 195 18.5 18.5 14 18.5
@ E PA10-G03 G3/8 | 75| 33 | 32 | 245 19 19
PA12-G03 12 G3/8 | 75| 34 | 32 | 245 24 21 19 21
(B:T} PA12-G04 G1/2 | 10 [ 365 | 39 29 29 24
— l — i gt s 1N
,/
N
T - ) |
- )
K /// i
;
Iy
] . . ]
B PAF &%k /PAF series tube fitting
Eile= BTN/ TIT2 | A1 | A2 E B L oP J
‘ Model Quter diameter 8
¢D B
PAF4-M5 4 M5X0.8| 5 4 | 225 20 16 11 8 11
PAF6-01 6 R1/8 7 24 28 24 13 14 13
PAF8-01 8 R1/8 7 26 28 24 14.5 14 14.5
< | PAF8-02 R1/4 9.5 28 33 27 17
: PAF10-02 10 R1/4 9.5 31 33 27 18.5 17 18.5
¥ \_ / PAF10-03 R3/8 10.5 33 39 325 21
i f PAF12-03 12 R3/8 10.5 34 39 325 21 21 21
PAF12-04 R1/2 14 365 | 465 | 385 24
PAF6-G01 6 G1/8 5 7 24 27.5 22.5 13 14 13
JEREE2 S PAF8-G01 8 G1/8 5 7 26 27.5 225 145 14 145
PAF8-G02 G1/4 7 o5 28 33 26 17
PAF10-G02 10 G1/4 7 |95 ] 31 33 26 18.5 17 18.5
@ 2 ¢ PAF10-G03 G3/8 | 7.5 | 105 33 39 315 21
PAF12-G03 12 G3/8 | 75 [105] 34 39 315 21 21 21
\f ] o PAF12-G04 G1/2 | 10 | 14 | 365 | 465 36.5 24
| H N
( —Ff Q#n. M
= IR ste /
R , I
T = WA U
\ AT
\ Y
\~
Iy

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

187



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

188

RAERX BN EHE K /Push-in Plastic Fittings

JPHW E#E 3 /PHW series tube fitting

B BEFIMZE/ T A E B L1 L2 oP J
Model Outer diameter A
oD —
PHWA4-M5 4 M5X0.8| 4 [195[ 295 | 26 | 75 | 11 12 8
PHW4-01 R1/8 7 |225| 39 | 35 [ 95 | 13 15 12
2 N PHWA4-02 R1/4 95 (245|415 [ 355 | 11 13 15 14
y PHW6-M5 6 M5X0.a| 4 [21.5| 295 | 26 | 85 | 13 12 8
LY / PHW6-01 R1/8 7 |225| 39 | 35 | 105 15 12
PHW6-02 R1/4 95 [245]| 415 [ 355 | 11 15 14
PHW6-03 R3/8 | 105 [ 265 | 505 | 44 | 115 18.5 19
PHW8-01 8 R1/8 7 25 | 39 | 35 [ 11 | 145 15 12
PHWS8-02 R1/4 95 | 28 | 415 [ 355 | 115 15 14
PHWS8-03 R3/8 | 105 | 29 | 505 | 44 | 125 18.5 19
PHWS8-04 R1/2 14 | 32 | 585 | 50.5 | 14.5 19.5 24
PHW10-01 10 R1/8 7 |305| 43 | 39 | 13 | 185 19 12
ﬁg E PHW10-02 R1/4 95 [325] 455 [ 395 | 135 19 14
PHW10-03 R3/8 | 105 | 33 | 505 | 44 [ 145 18.5 19
[]\_L 11 PHW10-04 R1/2 14 | 36 | 585 | 50.5 | 16.5 19.5 24
f] s [ PHWA12-02 12 R1/4 95 | 33 | 48 | 42 [ 15 | 21 215 14
|- || I‘ ~ | PHW12-03 R3/8 | 105 | 35 | 535 | 47 [ 155 21.5 19
[ ”,A'T 5 PHW12-04 R1/2 14 | 36 | 61 53 | 18 22 24
-] o~
NI
) u
<<
T
e L= o . . .
JPAW E %3 /PAW series tube fitting
B BRI/ T A E B L1 L2 | oP | J1 | u2
Model Outer diameter A
oD i
PAW4-M5 4 M5X0.8 4 225 | 295 26 | 75| 1 1M1 | 12| 8
. ] PAW6-01 6 R1/8 7 24 39 35 |105| 13 | 13 | 15 | 12
P £ /f PAWS-01 8 R1/8 7 26 39 35 | 11 [145|145]| 15 | 12
b w f PAWS-02 R1/4 9.5 28 | 415 | 355 [ 115 15 | 14
PAW10-02 10 R1/4 9.5 31 455 | 395 |135(185[ 185 19 | 14
PAW10-03 R3/8 10.5 33 50.5 44 145 18.5( 19
PAW12-03 12 R3/8 10.5 34 53.5 47 |155( 21 | 21 [215] 19
PAW12-04 R1/2 14 36.5 61 53 | 18 22 | 24
® : n
NERAT i
— 3 I
L B - _J
i S | ||— NN M -
m LA 4 H
S I v
< —
T L/

RO B REE X7 R i A AR




RIERSEE S /Push-in Plastic Fittings

JPHT &%k /PHT series tube fitting

e EFIME T A E B L1 L2 oP J
Model Outer diameter 8
6D -
PHT4-01 4 R1/8 7 | 225] 54 50 | 9.5 11 15 12
PHT4-02 R1/4 | 95 | 245 [ 565 [ 505 [ 11 13 15 14
i PHT6-01 6 R1/8 7 | 225 ] 54 50 | 10.5 15 12
. ‘~ 7 PHT6-02 R1/4 | 95 [ 245 [ 565 [ 505 [ 11 13 15 14
& & b4 PHT6-03 R3/8 | 105 | 265 | 695 | 63 | 115 18.5 19
PHT8-01 8 R1/8 7 25 54 50 11 15 12
PHT8-02 R1/4 | 95 | 28 | 565 | 505 | 115 15 14
PHT8-03 R3/8 | 105 | 29 | 695 | 63 | 125 | 45 [ 185 19
PHT8-04 R1/2 14 | 32 78 70 | 145 19.5 24
@ E PHT10-01 10 R1/8 7 | 305 62 58 13 19 12
PHT10-02 R1/4 | 95 [ 325 | 645 | 585 | 135 19 14
NERA’ 1 PHT10-03 R3/8 | 105 | 33 | 695 | 63 | 145 | 185 [ 185 19
. | 5@ PHT10-04 R1/2 14 | 36 78 70 | 165 19.5 24
Sl I - PHT12-02 12 R1/4 | 95 | 33 | 695 [ 635 | 15 215 14
[ —i ¥ PHT12-03 R3/8 | 105 | 35 75 | 685 | 155 21 215 19
|| IL 2 ™ PHT12-04 R1/2 14 | 36 83 75 18 22 24
f it
ﬁl EEERmY !
<<
T
e " 1] ]
B PAT &%k /PAT series tube fitting
BS ETIMR T Al E | B|LI]|L2]| oP | U J2
Model Outer diameter 5
L ¢ D _
b PAT6-01 6 R1/8 | 7 | 24 [ 54 | 50 [105] 13 13 15 12
Y PAT8-01 8 R1/8 | 7 [ 26 |54 | 50 | 11 [ 145 [ 145 [ 15 12
i 1] PAT8-02 R1/4 | 95 | 28 [565] 505 | 11.5 15 14
- o PAT10-02 10 R1/4 | 95| 31 |645(585[135] 185 | 185 [ 19 14
PAT10-03 R3/8 [105] 33 [69.5] 63 [ 145 18.5 19
PAT12-03 12 R3/8 [105] 34 [ 75 [685 [ 155 21 21 215 19
PAT12-04 R1/2 | 14 [365] 83 | 75 | 18 22 24
& : |
NERAT A
== é ‘
i I |
. R §
- S A -
| ||- s \\ A/ ] | [
I i
V=)
Sl r
< N n
T L/

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

189



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

190

RAERK BN EHE S /Push-in Plastic Fittings

JPIG Ei#& 3k /PIG series tube fitting

c1

C2

$D1

D2

B

PP &£k /PP series tube fitting

?P1

oP2

D

B PPF &#& 3k /PPF series tube fitting

B ¢ D1 ¢ D2 B C1 c2
Model
PIG6-4 6 4 36 16 15
PIG8-4 8 4 37.5 18.5 15
PIG8-6 8 6 39 18.5 16
PIG10-6 10 6 41.5 20 16
PIG10-8 10 8 43 20 18.5
PIG12-8 12 8 445 23 18.5
PIG12-10 12 10 48 23 20
PIG16-12 16 12 54 24 23
= ¢ D1 B P1 P2 c
Model
PP 4 4 28 5 3 15
PP 6 6 88 7 8 16
PP 8 8 36 9 4 18.5
PP 10 10 42.5 11 5 20
PP 12 12 43 13 6 23
PP 16 16 49 17 8 24
PP 5/32 5/32 28 5 3 15
PP 3/16 3/16 28 5 B 15
PP 1/4 1/4 33 7 3 16
PP 5/16 5/16 36 9 4 18.5
PP 3/8 3/8 42.5 1" 5 20
PP 1/2 1/2 43 13 6 23
S ¢ D1 B P1 P2 ©
Model
PPF 4 4 18 1" 15 15
C PPF 6 6 19 13 16 16
PPF 8 8 21 14.5 18.5 18.5
H PPF 10 10 23 18.5 20 20
ol o PPF 12 12 25 21 23 23
Sy S
PPF 16 16 27.5 26 24 24
1 PPF 5/32 5132 18 " 15 15
PPF 3/16 3/16 18 1 15 15
PPF 1/4 1/4 19 13 16 16
PPF 5/16 5/16 21 14.5 18.5 18.5
PPF 3/8 3/8 23 18.5 20 20
PPF 1/2 1/2 25 21 23 23

RO B REE X7 R i A AR




/NEVEE$E 3k /Mini Tube Fitting

4% 5 Feature

1. Sz A ERE SEEREE.
2. RRATREREHESE) 40%, RRINSEILNEUL,

3. IREEFRANBRIAABERMEAREMN. RRZENE, KENSE.
4, SESREVIRMAET ARG R A5
1.Ultra-small fast plug-in Pneumatic pipe fitting.

2. The volume is 40% of the standard pipe fitting, successfully achieving miniaturization.
3.The release ring used to remove the pipe is oval and circular.Although it's easy to disassemble.
4.Nickel Plated copper body can prevent corrosion and pollution.

INBUEEHE S /Mini tube fitting

AR & 14 /Technical condition

{8 B33 A /Working medium =5, 7k (B&H) /AirWater(if applicable)

T {EE S5 /Working pressure range  [0~1.0Mpa

{ Fj B2 [£ /7 /Using vacuum pressure  |-100Kpa

T {EBEEE /Working temperature range  [0~60°C

JTE581S (f5) /Ordering code(ex.)

PL 4 -M5-C

@ @

<£ #2 /Model No.

_ B (2 0)

@ EFRT B2 A& /Thread size Mini(Code:C)
EFRT AHIRT EFRT AL 55° FUEIREL |55 HERIREC SR 93 o4 06
Tube size Metric size Tube size Metric thread Straight thread | Taper pipe thread Size
X5 /Code 5] 4 6 XS /Code M3 M5 M6 GO1 01 X 7 10 12
R~F (mm) ®3 o4 o6 $247 M3*0. 5 |M5%0. 8 | M6*1. 0 G1/8 R1/8 Y 6 8 10

[} 7 8.5 10.5
SrEE
Structure illustration
IEH CEFED
Back Ring (POM) HEE AR

Collar (Brass)

W CTHHRED

JEJ&/Nylon Tube
Packing (NBR)

PU%/Polyurethane Tube

WRHES R (PBT)
Plastic bady (PBT)

el GRS
Sleeve (ROM)

R CRHEHR)
Lock Clavs (SUS)

A R
Metal Bady (Brzss)

ORI CT iR
0-Ring (NBR)

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

191



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

192

JNBVE$E L /Mini Tube Fitting

JPC /IEIEZE L /PC series mini tube fitting

=Y

o

—

B PCF /B 1L /PCF series mini tube fitting

Vo

N

i

A

JPOC NEIE S /POC series mini tube fitting

EilR= BEFIME/ T A B L C | xhfH/
Model Outer diameter Edge H
¢ D1
PC3-M3C M3X0.5 | 3 | 155 [ 125 8
PC3-M5C 3 M5X0.8 | 35| 16 [125] 95 8
PC3-M6C M6X1.0 | 4 | 165 | 12,5 8
@ PC4-M3C M3X0.5 | 3 16 | 13 8
PC4-M5C 4 M5X0.8 | 35| 17 | 135 8
PC4-M6C M6X1.0 | 4 | 175 |135| 1 3
PC4-01C R1/8 75| 18 | 14 10
PC6-M5C M5X0.8 | 35 | 175 | 14 10
PC6-M6C 6 M6X1.0 | 4 18 14 | 11.5 10
PC6-01C R1/8 75| 18 | 14 10
A= BETIMR/ T A B oP | C 32 HY
Model Outer diameter Edge H
¢ D1
PCF3-M3C M3X0.5 4 16 8
PCF3-M5C 3 M5X0.8 5 175 | 8 | 95 8
PCF3-M6C M6X1.0 5 17.5 8
PCF4-M3C M3X0.5 4 17.5 8
PCF4-M5C 4 M5X0.8 5 19 8 1 8
PCF4-M6C M6X1.0 5 19 8
PCF4-01C R1/8 75 22 12
PCF6-M5C M5X0.8 5 19 10
PCF6-M6C 6 M6X1.0 5 19 | 10 | 11.5 10
PCF6-01C R1/8 7.5 22 12
RS BEFIMR/ T Al B L [erP| c [ztH/
Model Outer diameter Edge H
D1
POC3-M3C M3X0.5 | 3 [ 155 125 15
P0OC3-M5C 3 M5X0.8 |3.5( 16 | 125 | 8 9.5 2
POC3-M6C M6X1.0 | 4 [ 165 125 2
P0C4-M3C M3X0.5 [ 3 [ 16 | 13 15
POC4-M5C 4 M5X0.8 [3.5[ 17 [ 135 | 8 1 25
POC4-M6C M6X1.0 | 4 [17.5] 135 3
P0C4-01C R1/8 |75 18 [ 14 | 10 3
POC6-M5C M5X0.8 [3.5(17.5| 14 25
POC6-M6C 6 M6x1.0 | 4| 18 | 14 | 10 [ 11.5 3
P0C6-01C R1/8 |[75] 18 | 14 4

RO B REE X7 R i A AR




JNBVE$E L /Mini Tube Fitting

JPL /hEIE L /PL series mini tube fitting

= BEIIR T A|E| B L [oP| C | XhfiH/
¢ Model Outer diameter Edge H
5 D1
W PL3-M3C M3X0.5 | 3 155 | 16 8
| ala PL3-M5C 3 M5X0.8 [ 35| 12| 16 |16 | 7 |95 8
L) [TPLe-mec M6X1.0 | 4 165 | 16 8
- Lf” PL4-M3C M3X0.5| 3 155 | 17 8
L PL4-M5C 4 M5X0.8 | 3.5 16 | 17 " 8
e PL4-M6C Mex1.0 | 4 |'4S[1e5[ 17 | ° 8
PL4-01C R1/8 | 7.5 19.5 | 20 10
PL6-M5C M5X0.8 | 3.5 16 | 18 8
PL6-M6C 6 M6X1.0 | 4 |16.5|165| 18 | 11 [11.5[ 8
PL6-01C R1/8 |75 195 | 21 10
—_— N . . . . .
JPLL /MBI /PLL series mini tube fitting
BS BEFIMEI T A|E| B |L|¢oP| C | sHaH
e Model Outer diameter Edge H
W ¢ D1
- PLL3-M3C M3X0.5 | 3 235 | 24 8
} 83| | PLL3-M5C 3 M5X0.8 [ 35| 12 [ 24 (24| 7 [ 95 8
LA PLL3-M6C M6X1.0 | 4 245 | 24 8
N S PLL4-M3C M3X0.5 | 3 26 275 8
e = i PLL4-M5C 4 M5X0.8 | 3.5 26.5 (275 1 8
T PLL4-M6C M6x1.0 | 4 | 143 27 [275] © 8
0= PLL4-01C R1/8 |75 30 [30.5 10
T PLL6-M5C M5X0.8 | 3.5 28 | 30 8
PLL6-M6C 6 M6X1.0 | 4 |165[285( 30 | 11 |11.5 8
PLL6-01C R1/8 |75 315 33 10
Fohe L= . . . . .
JPB /I ElE %L /PB series mini tube fitting
BS BRI T A E B L o P © FFia H/
Model Outer diameter Edge H
¢ D1
PB3-M3C M3X0.5 | 3 155 | 16 8
PB3-M5C 3 M5X0.8 | 35 | 12 [ 16 [ 16 7 9.5 8
PB3-M6C M6X1.0 | 4 16.5 | 16 8
PB4-M3C M3X0.5 | 3 155 | 17 8
PB4-M5C 4 M5X0.8 | 3.5 16 | 17 1 8
PB4-M6C mM6x1.0 | 4 | 145165 17 | © )
PB4-01C R1/8 | 75 19.5 [ 20 10
- PB6-M5C M5X0.8 | 3.5 16 | 18 8
s | PB6-M6C 6 M6x1.0 | 4 | 165 [ 165 | 18 " 1.5 8
- & PB6-01C R1/8 | 75 19.5 | 21 10
( \ S
I \ &

)
o=

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

193



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

194

JNBVE$E L /Mini Tube Fitting

JPD /NEIE K /PD series mini tube fitting

JPU /NEIE L /PU series mini tube fitting

%

JPG /NEIE L /PG series mini tube fitting

L
P2
D1

i i

\ oo

D2
P2

S EFIME A |E]| B L |oP| C |HBH/
. . Model [Outer diameter Edge H
e &1 < & D1
47 | 3 PD3-M3C M3X0.5 | 3 155 | 28 8
i I o} [PD3-M5C 3 M5X0.8 | 35 | 12| 16 | 28 | 7 |95| 8
[N & | PD3-M6C M6X1.0 | 4 16.5 | 28 8
TE PD4-M3C M3X0.5| 3 15.5 (315 8
il PD4-M5C 4 M5x0.8| 35 |14.5[ 16 |315] 9 | 1 [ 8
)an PD4-M6C M6X1.0 | 4 16.5 | 31.5 8
T PD4-01C R1/8 | 7.5 19.5 [ 34.5 10
PD6-M5C M5X0.8 | 3.5 16 |34.5 8
PD6-M6C 6 M6X1.0 | 4 |16.5[165(345| 11 |11.5( g
PD6-01C R1/8 | 7.5 195 [37.5 10
ai—H] L f S | &EFHE/ B oP c
? ? . Model |[Outer diameter
o 1 ¢ D1
I - { PU 3C 3 23.5 7 9.5
PU 4C 4 27.5 9 11
B PU 6C 6 28 1 15
Eile= BEFIME BEFIME/ B oP c1 c2
Model Outer diameter | Outer diameter
¢ D1 ¢ D1
PG 4-3C 4 3 27.5 9 11 9.5
PG 6-3C 6 3 28 11 115 9.5
PG 6-4C 6 4 28 11 1.5 11

RO B REE X7 R i A AR




/NEVEFE S /Mini Tube Fitting

Ft

BPV /EIE L /PV series mini tube fitting

B EFIME/ E oP © F d
Model Outer diameter
¢D
PV 3C 3 12 7 9.5 5 3.2
PV 4C 4 14.5 9 11 6 3.2
PV 6C 6 16.5 1" 11.5 6.5 3.2
am S e
| &L &
w —] B
o~ CT" @O, Lf'
N I 1 N
I 1
[ ]
I Yoo ul B SRR . . . . .
B PE /NEIE 1L /PE series mini tube fitting
B BHFIME/ E oP c F d
Model Outer diameter
¢D
PE 30 3 12 7 9.5 5 3.2
PE 4C 4 14.5 9 1 6 3.2
PE 6C 6 16.5 11 11.5 6.5 3.2
- 3C 3-E
rr J i o] o
RSNIRSY
LN Ty
= } LN HT &
2 ™
_ N\ M
—
| Farasll & 2ERS . ) rre
JPM /NEIE S /PM series mini tube fitting
I ‘ 2= EFIME/ M B E © G H
Model Outer diameter
¢D
PM 3C 3 8X0.75 20.5 6 9.5 2.5 10
PM 4C 4 10X1.0 23 8 11 3 12
PM 6C 6 12X1.0 24 9 11.5 3.5 14
B
M 2-C
s
[ [ |
ya mY N

a4
q

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

195



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

196

NEVEEHE L /Mini Tube Fitting

BPY /EIE L /PY series mini tube fitting

fPwW pEIE R

o ra sl

B 4EL /PX series mini tube fitting

JPx 1A

B BEFIMZE/ B oP © F J F
Model Outer diameter
oD
PY 3C 3 27 7 9 12 7 3.2
PY 4C 4 30 9.5 11 14 9 3.2
PY 6C 6 33 11 11.5 15 11 3.2
J
f‘ ‘ﬁ f‘ ‘ﬁ
w
o S
o d
&
===
3-9D|
3-9P
S . .. T
sk /PW series mini tube fitting
B BEFIMZ/ BEFIME/ B oP1 | oP2 | C1 | C2 | F J d
Model Outer diameter [Outer diameter
o D1 ¢ D2
PW 4-3C 4 3 27.5 9 7 11 95 | 12 7 3.2
PW 6-3C 6 3 30 1 9 115 | 95 |135| 9 3.2
PW 6-4C 6 4 30.5 1 9 115 11 14| 9 3.2
C1
1 N
s i &
H Nﬁ 1 | N
g8 P —tn =
L -J 'T>
- 2F702 §
B BEFIMZ/ T A E J B L |oP| C | xhiziw
Model Outer diameter Edge H
oD
PX3-M3C M3X0.5 3 315 | 285 8
PX3-M5C 3 M5X0.8 | 35 12 7 32 | 285 | 7 | 95 8
PX3-M6C M6X1.0 4 325 | 285 8
PX4-M3C M3X0.5 3 34 31 8
PX4-M5C 4 M5X0.8 | 3.5 14 9 345 | 31 9 " 8
PX4-M6C M6X1.0 4 35 31 8
PX4-01C R1/8 75 375 | 335 10
PX6-M5C M5X0.8 | 3.5 37 | 335 8
PX6-M6C 6 M6X1.0 4 15 " 375 | 335 | 11 | 115 8
PX6-01C R1/8 75 40 36 10
B
L
ami .
N : é
¥[’lE r—‘ﬁ - [
1y 2 1 1
2] 71—- 1/
e 2-62 s
e F

RO B REE X7 R i A AR




/NEVEE$E S /Mini Tube Fitting

JsC

o raul

=)

gL R

™

JTC

Pa v

=)

%3k /SC series mini tube fitting

BS BTN/ T A L oP1| ¢P2| C | E1 | E2 | H
Model Outer diameter Max | Min
g oD
SC4-M3C 3X0.5 3 28 | 255
SC4-M5C 4 5X0.8 [ 3.5 28 | 255 95 (11 [ 18 | 7 8
' SC4-M6C 6X1.0 4 [ 285 | 26
E1
[T T
(i otn.
- l \1 S|y &
o o 1
<
L
== N . . . . .
#£ 3k /TL series mini tube fitting
BS BRI A E1 P | M B | E2 H
Model |Outer diameter
D
TL4-M5 5X0.8 | 35 | 145 6 125 9 2
v TL4-M6 4 6X1.0 | 4 17 | 65 | 8 |6°0.75[135] 11 3
4 TL4-G01 G1/8 55 21 8 15 | 14 5
TL6-M5 5X0.8 | 35 | 145 6 14| 9 2
TL6-M6 6 6X1.0 4 17 65 [ 10 [8°0.75 11 3
TL6-GO1 G1/8 55 21 8 16.5| 14 5
B R
I ﬁx o~
w
] H
M
TJJ T - E2
N . . . . .
13k /TC series mini tube fitting
B HFIMZ/ T A L oP M H
72 Model  |Outer diameter
../-' q)D
TC4-M5 5X0.8 | 35 15 8
TC4-M6 4 6X1.0 4 15.5 8 |[6"0.75| 8
TC4-G01 G1/8 55 19 10
TC6-M5 5X0.8 | 35 | 16,5 10
TC6-M6 6 6X1.0 4 17 10 |8*0.75| 10
TC6-GO1 G1/8 55 21 10

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

197



NPPC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

198

TE4E4E 3K /Rotary fitting

IE4E#E 3k /Rotary fitting

455 /Feature

1. HBMBENERL, MEEEEMuAiE REk.

2. B4R RAMA, FTRATRBIBENINL, SRR,

1.The joint matches with machine's swing part and rotary part.

2.The rotary part adopts bearing, which can be used for fast swinging part and high-speed rotating part.

AR Z M [Technical condition

R /working medium =5, 7k (B%M) /Airwater(if applicable)
T {EE S35 /working pressure range 0~1.0Mpa

A EL%5 [£ 77 /using vaccum pressure -100Kpa(10Torr)

T {86 /working temperature range  |0~60°C

WEFE1ESL B1F4%1R /Rotating tolerance

EFRT [Tube size $4mm | ¢ 6mm. ¢ 1/4mm ¢ 8mm. ¢ 5/16mm ¢ 10mm. ¢ 3/8mm ¢ 12mm. ¢ 1/2mm
S iFEEIR /Permitted rotating speed 500.r.p.m 400r.p.m 300r. p. m 250r. p.m
ITHRES () RL 8 02
Ordering code(ex.)
@ BS /Model ) 55 HEEFIZYL /Taper pipe thread
BB RS o1 | o2 03 04 06
@ &F R~ /Tube size Thread size g5 | RSB | R14 | R3B | R12 | RaA
BHEFRT NHIRF N HISZLL /Metric thread B IR /Straight thread
RS 4 6 8 10 12 16 Ks M3 M5 M6 GO1 G02 G03 G04 G06
R (mm) o4 ¢ 6 ¢8 $ 10 $12 $16 L M3*0.5 | M5*0.8 | M6*1.0 G1/8 G1/4 G3/8 G1/2 G3/4
HETEE
Structure illustration s e [ —

Plastic body (NBR) Back Ring (POM)

$HE (IR

Col lar (Brass)

JE&/Nylon Tube
PUE/Polyurethane Tube

% (R
Sleeve (POM)

#R (THR)
Lock Claws (SUS)

AT

i % (8
Upper the bearing
cover (Brass)

0BV

ik

Bearing

R (HE5RIR)
Metal Body (Brass)

A
0-Ring (NBR)

RO B REE X7 R i A AR




MEREHESL /Rotary fitting
Y RS . " .
B RC 4%k /RC series rotary fitting
s BRI T A L B P H
I Model Outer diameter
oD
RC4-M5 M5X0.8 | 3 34 16 10 12
RC4-M6 4 M6X1.0 | 4 35 16 10 12
RC4-01 R1/8 8 365 | 16 10 14
V/ Py RC6-M5 M5X08 | 3 | 355 | 16 | 12 | 12
£ § RC6-M6 M6X1.0 | 4 365 | 16 12 12
£ p & RC6-01 6 R1/8 8 38 16 12 14
o £ p RC6-02 R4 | 11 [ 42 16 [ 12 [ 17
- - ' RC8-01 R1/8 8 415 | 185 | 14 14
RC8-02 8 R1/4 1M | 455 | 185 | 14 17
RC8-03 R3/8 | 125 | 485 | 185 | 14 21
op RC10-02 R1/4 11 53 21 17 17
oD RC10-03 10 R3/8 | 125 | 56 21 17 21
RC10-04 R1/2 15 | 583 | 21 17 24
I | RC12-02 R1/4 1 | 583 | 23 20 17
I 1 RC12-03 12 R3/8 | 125 | 61.3 | 23 20 21
RC12-04 R1/2 15 | 636 | 23 20 24
RC16-04 16 R1/2 15 | 646 | 24 24 27
RC1/4-01 1/4 R1/8 8 38 16 12 14
. RC1/4-02 R1/4 11 42 16 12 17
RC5/16-01 R1/8 8 415 | 185 | 14 14
H RC5/16-02 5/16 R1/4 11 | 455 | 185 14 17
RC5/16-03 R3/8 | 125 | 485 | 185 | 14 21
T RC3/8-02 R1/4 11 53 21 17 17
RC3/8-03 3/8 R3/8 | 125 | 56 21 17 21
RC3/8-04 R1/2 15 | 583 [ 21 17 24
RC1/2-02 R1/4 11 | 583 | 23 20 17
RC1/2-03 172 R3/8 | 125 | 61.3 | 23 20 21
RC1/2-04 R1/2 15 | 636 | 23 20 24
BRL #E4%1% 3k /RL series rotary fitting
BS BTIME T ATEJT L] B]PTH
I Model Outer diameter
oD
RL4-M5 M5X0.8 | 3 185 [ 278 | 16 11 12
RL4-M6 4 M6X1.0 | 4 185 [ 288 | 16 11 12
RL4-01 R1/8 8 185 [ 304 | 16 11 14
g i RL4-02 R1/4 11 185 | 344 | 16 11 17
o "\ RL6-M5 M5X0.8 | 3 19 | 288 | 16 13 12
, RL6-M6 6 M6X1.0 | 4 19 | 208 [ 16 13 12
\W RL6-01 R1/8 8 19 | 314 [ 16 13 14
RL6-02 R1/4 11 19 | 354 [ 16 13 17
RL8-01 R1/8 8 225 | 344 | 185 | 144 | 14
RL8-02 8 R1/4 1 | 225 | 379 | 185 | 144 | 17
RL8-03 R3/8 | 125 | 225 | 40.9 | 185 | 14.4 | 21
E RL10-02 R1/4 1 | 275 | 41 205 | 184 | 17
B RL10-03 10 R3/8 | 125 | 275 | 434 | 205 | 184 | 21
RL10-04 R1/2 15 | 275 | 45.7 | 205 | 184 | 24
ﬁrq‘ ' RL12-02 R1/4 11 29 | 415 | 23 21 17
| f ﬁJ RL12-03 12 R3/8 | 125 | 29 | 439 | 23 21 21
i RL12-04 R1/2 15 29 | 462 | 23 21 24
| RL16-04 16 R1/2 15 | 325 | 576 | 24 26 27
== RL1/4-01 R1/8 8 19 | 314 [ 16 13 14
_ H RL1/4-02 1/4 R1/4 11 19 | 354 16 13 17
RL5/16-01 R1/8 8 225 | 344 | 185 | 144 | 14
T RL5/16-02 5/16 R1/4 11 [ 225 | 379 | 185 | 144 | 17
< L
RL5/16-03 R3/8 | 125 | 225 | 40.9 | 185 | 144 | 21
RL3/8-02 R1/4 1 | 275 | 41 205 | 184 | 17
RL3/8-03 3/8 R3/8 | 125 | 275 | 434 | 205 | 184 | 21
RL3/8-04 R1/2 15 | 275 | 457 | 205 | 184 | 24
RL1/2-02 R1/4 11 29 | 415 | 23 21 17
RL1/2-03 172 R3/8 | 125 | 29 | 439 | 23 21 21
RL1/2-04 R1/2 15 29 | 462 | 23 21 24

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

199



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

200

L #4% 3k /Stop valve fitting

#i 1L i@ $£ 3 /Stop valve fitting

4% &5 /Feature

1. BAEURIBI R RIEREL .

2, BT EAWRDE, AHEFESTRE, REEFU=SRE.

1.Quick plug-in connector with shutoff valve function.

2.0wing to the cut-off function, air will not circulate if pull out the pipe, otherwise the air circulate.

AR 14 /Technical condition

{# F35fA /working medium

=5, 7k (B%M) /Airwater(if applicable)

T {E% 136 /working pressure range 0~1.0Mpa
{8 FA ELZ5 [£ 77 /using vacuum pressure -100Kpa(10Torr)
T {E:B B3t /working temperature range 0~60°C
Ordering code(ex.)
@ A5 /Model No. 55 $E%HR4 /Taper pipe thread
BRLT AR S /Code | 01 02 03 04 06
@ EFRT [Tube size Thread size |[#8%4 /Thread| R1/8 | R1/4 R3/8 R1/2 R3/4
EFR~F /Tube size AHIRT IMetric size ANHIIREL /Metric thread EEI84 /Straight thread
X5 /Code 4 6 8 10 12 16 X5 /Code M3 M5 M6 GO1 G02 G03 G04 G06
Rt (mm) o4 06 | o8 | 010 | ¢12 | o016 ||485 /Thread| M3%0.5 | M5*0.8 |[M6*1.0| G1/8 | G114 | G3/8 | G12 | G34
HrEE
Structure illustration
wE CTHHRED IE3F CRHEE)
Packing (NBR) Back Ring (POM)
OBIE (T ik HE GEd)
0-Ring (NBR) Valve Spring _Collar (ZINC)

OFdM CTH§HRIE)
0-Ring (NBR)

itk CHEARED
Metal Bady (Brzss)

——

—~
_

i

Valve

Sleeve

(ROM)

JéJ/Nylon Tube
PU#/Polyurethane Tube

el GRS

#h R

Lock Claws (SUS)

WEME CRUHEHRT B

Resin Bode (PBT)

RO B REE X7 R i A AR




#i1E 8% 3 /Stop valve fitting

I SPC &1Lk /SPC series stop valve fitting

[ |

S oD T A L oP c A
Model il
\ SPC4-M5 M5X0.8 | 35 | 32 10
. SPC4-01 4 R1/8 8 | 248 | 10 15 10
SPC4-02 R1/4 | 10 | 248 14
SPC6-01 5 RIS | 8 | 25 | ,, . 12
- - SPC6-02 R14 | 10 | 27 14
= SPC8-02 5 R14_| 10 [ 335 | 1, | 155 |14
SPC8-03 R3/8 | 11 | 335 17
o SPC10-02 R1/4 | 10 | 36 17
SPC10-03 | 10 R3/8 1 36 17 20 17
] SPC10-04 R12 | 14 | a7 21
< gt% sPC12:03| ,, R¥B | 11 | 37 | 505 | 23 21
t‘ il SPC12-04 R12 | 14 | 37 21
A C
L
2y kN —_— . . .
B SPL &1Lk /SPL series stop valve fitting
= ®D T A L B oP T A
Model wiln
SPC4-M5 M5X0.8 | 35 | 265 10
SPC4-M6 4 M6X1.0 | 4 265 | 365 | 105 15 10
£ a: j SPC4-01 R1/8 8 30 10
' = SPC6-M5 M5X0.8 | 35 | 28 12
-~ - SPc6.01 | 6 RB | 8 | 315 | 37 | 13 | 16 [ 12
SPC6-02 R4 | 10 | 34 14
SPC8-01 8 R1/8 8 35 | 455 | 14 | 185 | 14
B SPC8-02 R4 | 10 | 37 14
| SPC10-02 R14 | 10 | 44 17
(] i sls SPC10-03| 10 R38 | 11 45 53 | 18 20 17
| | SPC10-04 R12 | 14 | 48 21
® \ c SPC12:03| 12 R3/8 | 11 | 475 | 565 | 205 | 23 17
- ) SPC12-04 R12 | 14 | 51 21
< | j
| )|
2y - — —_ . . . .
B SPU #i1LiE# Sk /SPU series stop valve fitting
FilR= oD B oP @
9 Model
SPU 4 4 455 105 15
SPU 6 6 475 13 16
f SPU 8 8 54.5 14 185
AI SPU 10 10 64.5 18 20
ﬁ' - SPU 12 12 66 205 23

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

201



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

202

#[5)j /Check valve

4% 5 /Feature

v A=A, ESRE; AEHEEA, ZESTRE.

EA[H)1A /Check valve

2. BEWREHMENTEL.

1. Air will circulate when input from one direction, otherwise it will not circulate.

2. Ensure the output side pressure will not change.

AR &4 /Technical condition

fE R4k /working medium

=5, k (A% /Airwater(if applicable)

T {EFE $336E /working pressure range 0~1.0Mpa
f# Ff E % [E 77 /using vaccum -100Kpa(10Torr)
T2 EEE /working temperature range 0~60°C

ITEES (FD

Ordering code(ex.) 8 0
@ A5 /Model No. 55 HEEIRLL /Taper pipe thread
2L &S /Code | 01 02 03 04 06
@ EF R /Tube size hread size [#8%/Thread| R1/8 | R1/4 | R3/8 | R12 | R34
EFR~T /Tube size AR~ IMetric size NSRS /Metric thread B EIZ4 /Straight thread
K= /Code 4 6 8 10 | 12 | 16 K= /Code | M3 M5 M6 Go1 | Go2 | Go3 | Go4 | Goe
Rt (mm) o4 | o6 | o8 [ 010 [ 012 | 016 | [#5 /Thread| M305 [ M5r08 [ M6*1.0] G158 | G114 | cais | c12 | cam
G EE

Structure illustration

BE Bad)

Collar (ZINC)

Valve Spring

T
0-Ring (NBR)

Je#z/Nylon Tube

PUE/Polyurethang Tube

% (R
Cap (POM)

#EH (FHMN
Lock Claws (SUS)
BB (TR
Packing (NBR)

R (SESRERD
Mate |Body (Brass)

(3
Valve

RO B REE X7 R i A AR




B 5] /Check valve

JCVPC & E@1%k /CVPC series check valve fitting

i,

/4
&

LI i

JCVPU #EiE#Ek /CVPU series check valve fitting

7

B CVPSF & m)if#% 3 /ICVPSF series check valve fitting

&

/4

B CVPFF & [ai##%k /CVPFF series check valve fitting

di-

RS oD T A L oP [¢
Model
CVPC4-M5 M5X0.8 | 3.5 33 10
. @ CVPC4-M6 4 M6X1.0 | 4 33 10 15 10
CVPC4-01 R1/8 8 28 10
} & CVPC6-01 6 R1/8 8 30 12 16 12
™ CVPC6-02 R1/4 10 30 14
NS CVPC8-01 8 R1/8 8 35 14 | 185 |14
‘l& i CVPC8-02 R1/4 10 35 14
A ‘ — CVPC10-03 10 R3/8 11 44 17 20 17
" CVPC10-04 R1/2 14 44 21
CVPC12-03 12 R3/8 11 425 | 205 23 21
CVPC12-04 R1/2 14 | 425 21
B iR oD B oP ©
Model
CVPU 4 4 45 10.5 15
} H7 1 o CVPU 6 6 475 13 16
by CVPU 8 8 54 14 18.5
\J' H~ . CVPU 10 10 64 18 20
9-¢ 3 CVPU 12 12 64 20.5 23
T1
‘Lj BE T1/T2 A1/A2 L
= O Model
CVPSF01-01 R1/8 8 26.5 12
CVPSF02-02 R1/4 10 33.5 17
CVPSF03-03 R3/8 11 38 20
1\ — CVPSF04-04 R1/2 14 425 24
A1
A2 T2
L
B T1/T2 A1/A2 L
kil Model
> CVPFF01-01 R1/8 8 35 12
T1 | CVPFF02-02 R1/4 10 445 17
CVPFF03-03 R3/8 11 50 20
CVPFF04-04 R1/2 14 56.5 24
A2 T A1

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

203



NPPC

PNEUMATIC

HREREIE E 5L /Standard speed regulating pipe coupling

4% 5 /Feature

FLUID AUTOMATIC COMPONENT

NPT $24 i # S BEHE R T A BIRLUE AR O B

F AR &4 /Technical condition

T BUT T B 4 I 2R SR SR A0 SR A T ARG TR M A ST A R A0

1.The speed controller of the actuator has a nickel-plated copper
body that is resistant to corrosion and contamination. All R and NPT
threads are sealed with standard o-rings for all straight threads.

TR BYEE & #E 3 /Standard speed regulating pipe coupling

ZEHY7RE=[E] /Structure illustration

=

EEHE (TSR
Packing (NBR)

EI GRERE)
Back Ring (POM)

540 (a4
Needle (Brass)

HE (HA®)

i (A
Lock Nut (Brass) Collar (Zinc)

PUFE/Polyurethang Tube

. — FeA/Nylon Tube
Metal Body (Brass) 1

Valve Stem(Brass)

0-Ring (NBP)

“ {5 F37i4% /working medium =5, K (BEM) /Ainwater | v s
B T 1€ /136 /working pressure range 0~1.0Mpa

% £ %2 £ /1 /using vaccum pressure -100Kpa(10Torr)

ﬁ T {52 E 6 /working temperature range 0~60°C

TTRES ()
Ordering code(ex.)

@ #IE /Model No.

sC 8 -01-B

R (RS
Brack Ketc (PON)

B (REE)
Sleeve (POM)

s

wit (TR
H-Packing (NBP) ®hH (RBH)
Lock Claws (SUS)
A (e BRME (BRIE
N-Holder (Brass) ZERT B

Resin Bode (PBT)

T
Controlling method:
%; HSTmissl (R4 EEA ouT PR

T5)
B: #STES (EFTE LEA B FiE.
4 A: exhaust throttle control (with "OUT"

or no sign on the regulating wheel)
B: intake throttle control (there is "B" above the
regulating wheel.

. 55 $EEIRLL /Taper pipe thread
IRL AR KS 01 02 - 03 : pp04 06
@ EFRT /Tube size Thread size =
[ R1/8 R1/4 R3/8 R1/2 R3/4
EFR~T [Tube size AHIRT IMetric size
X5 /Code 4 6 8 10 12 16
R+t (mm) %4 96 98 | ¢10 | ¢12 | 916 N HISZLL /Metric thread B84 /Straight thread
X5 /Code M3 M5 M6 GO1 G02 G03 G04 G06
TR~ /Tube size #HIR~T /Inch size 4247 [Thread | M3*0.5 | M5*0.8 | M6*1.0 G1/8 G1/4 G3/8 G1/2 G3/4
K= /Code 532 | 3/16 | 14 | 516 | 358 | 112 G —UmEF AL /UNF £ 60 $EEIZ4 /Taper pipe thread
R~F (mm) $3.96 | $4.76]| $6.35| $7.94| $9.53| ¢ 12.7 X5 /Code U10 NO1 NO02 NO3 NO04 NO6
424 [Thread 10-32UNF NPT1/8 [ NPT1/4 | NPT3/8 | NPT1/2 | NPT3/4

1. HESTHRIEH!
1.Exhaust throttle control
FEHI MRS NS 5 i Skum it N 28 5 B IR SUR R A 455

Control the air entering from the threaded end; The flow of air from the connector
end into the threaded end is not controlled.

2. HSTREIEH
2.Intake throttle control
EHINELRHEANT S, NBSURHNE S BIESLIRR B A Zi56.

Control the air entering from the connector end; The air entering from the threaded
end and flowing out from the connector end is not controlled.

A AR 8 M AR
204



HRERE B 5L /Standard speed regulating pipe coupling

JSC FifiEZE L /SC series swivel rotating

8BS BETIMR T A E1 E2 P
I ‘ Model Outer diameter Min | MAX | Min | MAX 8
D -
SC4-M3 M3X0.5| 3 285 | 315 | 255 | 285 8
SC4-M5 M5X0.8| 35 | 195 [ 7.5 29 32 | 255 | 285 8
SC4-M6 M6X1.0| 4 295 | 325 | 255 | 285 | 8
*: SC4-M3* 4 M3X0.5| 3 32 35 29 | 32 8
SC4-M5* M5X0.8| 35 [ 195 [ M 325 [ 355 | 29 | 32 8
- . SC4-M6* MeX1.0 | 4 33 36 29 | 32 8
< ; J SC4-01 R1/8 75 | 225 | 105 | 35 40 31 36 13 12
SC4-02 R1/4 | 105 | 245 | 125 | 41 | 465 | 35 |405 14
SC6-M3 M3X05| 3 215 | 85 | 285 | 315 | 255 | 285 8
SC6-M5 M5X0.8 | 35 | 215 | 85 29 32 | 255 [ 285 8
SC6-M6 M6X1.0 | 4 215 | 85 | 295 | 325 | 255 | 285 8
E1 SC6-M5* 6 M5X0.8| 35 | o545 | 14 325 | 355 | 29 | 32 13 8
SC6-M6* M6X1.0 | 4 33 36 29 | 32 8
%% ® SC6-01 R1/8 | 75 | 225 | 105 | 35 | 40 | 31 | 36 12
g T/{ ' SC6-02 R1/4 | 105 | 245 | 125 | 41 | 465 | 35 | 405 14
. (i @t 3 SC6-03 R3/8 | 115 | 265 | 135 | 465 | 52 40 | 455 19
o ol | \ I SC6-04 R12Z | 15 | 32 | 18 | 54 | 60 | 46 | 52 | 145 | 24
SC8-M5* M5X0.8| 35 | 545 | 19 |.325 | 365 | 29 | 32 8
T = SC8-M6* M6X1.0 | 4 33 36 29 | 32 8
SC8-01 8 R1/8 75 25 [ 115 | 35 40 31 36 145 12
SC8-02 R1/4 | 105 | 28 13 41 | 465 | 35 | 405 : 14
SC8-03 R3/8 | 115 | 29 | 145 | 465 | 52 40 | 455 19
SC8-04 R1/2 15 32 18 54 60 46 | 52 24
ol - SC10-01 R1/8 75 | 305 | 135 | 35 40 31 36 12
%ﬁ SC10-02 R1/4 | 105 | 325 | 15 41 | 465 | 35 | 405 14
< = SC10-03 10 R3/8 | 115 | 33 | 165 | 465 | 52 | 40 | 455 "85 [ 19
\ SC10-04 R1/2 15 36 18 54 60 46 | 52 24
SC12-01 R1/8 75 33 15 38 43 34 | 39 14
SC12-02 R1/4 | 105 | 33 | 165 | 41 | 465 | 35 |405 14
SC12-03 R3/8 | 115 | 35 18 | 465 | 52 40 |455| 21 19
SC12-04 R1/2 15 3 | 195 | 54 60 46 | 52 24
R B AR,
~ A% e " " .
JSC-G Tk /SC-G series swivel rotating
BS BETFIME/ T A E1 E2 P 5
Model Outer diameter Min MAX | Min | MAX
D T
SC4-G01 4 G1/8 55 | 225 9 35 40 | 295 | 345 [ 13 8
SC4-G02 G1/4 85 | 245 | 10 41 | 465 | 325 | 38 8
SC6-G01 G1/8 55 | 225 9 35 40 | 295 | 345 8
SC6-G02 G1/4 85 | 245 | 10 41 | 465 [ 325 | 38 13 8
SC6-G03 6 G3/8 95 | 265 | 1 465 | 52 37 | 425 8
SC6-G04 G1/2 12 32 | 145 | 54 60 42 48 | 145 8
SC8-G01 G1/8 55 25 10 35 40 | 295 | 345 12
SC8-G02 G1/4 8.5 28 [ 105 | 41 | 465 | 325]| 38 14
E1 SC8-G03 8 G3/8 | 95 | 29 | 115 | 465 | 52 | 37 | 425 | 45 8
SC8-G04 G1/2 12 32 | 145 | 54 60 42 48 8
[%'[ @ SC10-G01 G1/8 55 | 305 | 12 35 40 | 295 | 345 8
,f SC10-G02 G1/4 85 [ 325|125 41 | 465|325 38 8
ﬁ Ry 1 10 185
/ =~ SC10-G03 G3/8 9.5 33 [ 135 | 465 | 52 37 | 425 8
- NI % 1 1 R SC10-G04 G1/2 12 36 | 145 | 54 60 42 48 12
i — SC12-G02 G1/4 8.5 33 14 41 | 465|325 | 38 14
/U::U < SC12-G03 12 G3/8 9.5 35 15 | 465 | 52 37 | 425 | 21 19
T il | SC12-G04 G1/2 12 36 16 54 60 42 48 24

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik EETE

205



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

206

i B R

3 /Standard speed regulating pipe coupling

JscN

[ |

o~
o w

T+

A%k /SC-N series swivel rotating

J SCDC Tt i1 /SCDC series swivel rotating

ol
- .’ v /

r—w
8
me ‘ \3 ’gt%
T <

2ok

fJosc-Ii

BE EFIME T A E1 | E2 B L P A

Model Outer diameter Min | MAX | Min MAX i
SC5/32-U10 WL 10-32UNF| 35 [ 195 75| 29 32 | 255 | 285 | 11 8
SC5/32-N01 5/32 NPT1/8 | 7.5 | 225[105]| 35 40 31 36 13 8
SC5/32-N02 NPT1/4 | 105 | 245 [125]| 41 | 465 | 35 | 405 8
SC1/4-U10 10-32UNF| 35 [215] 85| 29 32 | 255 | 285 8
SC1/4-NO1 NPT1/8 | 7.5 | 225 [105]| 35 40 31 36 13 8
SC1/4-N02 1/4 NPT1/4 | 105 | 245 |12.5| 41 | 465 | 35 | 405 8
SC1/4-N03 NPT3/8 | 115 | 265 | 14 | 465 | 52 40 | 455 12
SC5/16-N01 NPT1/8 | 75 | 25 |[11.5| 35 40 31 36 14
SC5/16-N02 5/16 NPT1/4 | 105 | 28 | 13 | 41 | 465 | 35 | 405 | 145 8
SC5/16-N03 NPT3/8 | 11.5 | 29 |145] 465 | 52 40 | 455 8
SC5/16-N04 NPT1/2 | 15 | 32 | 18 | 54 60 46 52 8
SC3/8-NO1 NPT1/8 | 7.5 [ 305|135] 35 40 31 36 8
SC3/8-N02 3/8 NPT1/4 | 105 | 325 15 | 41 | 465 | 35 | 405 8
SC3/8-N03 NPT3/8 | 115 | 33 |165| 465 | 52 | 40 | 455 | 185 12
SC3/8-N04 NPT1/2 | 15 | 36 | 18 | 54 60 46 52 14
SC1/2-N02 NPT1/4 | 105 | 33 |165| 41 | 465 | 35 | 405 19
SC1/2-N03 172 NPT3/8 | 115 | 35 | 18 | 4655 | 52 40 | 455 | 21 24
PC1/2-N04 NPT1/2 | 15 | 36 |195] 54 60 46 52

filh BEFIME T A [E1| E2 B L P E

Model Quter diameter Min MAX | Min MAX

oD
SCDC4-M5 M5X0.8 | 3.5 [19.5( 7.5 | 235 | 245 [ 20 21 1 8
SCDC4-01 4 R1/8 75 [225] 10 | 315 | 325 | 275 | 285 13 12
SCDC4-02 R1/4 10.5 [24.5] 125 38 39 32 33 14
SCDC6-M5 M5X0.8 | 35 |21.5] 85 | 235 | 245 | 20 21 8
SCDC6-01 R1/8 75 [225] 10 | 315 | 325 | 27.5 | 285 13 12
SCDC6-02 6 R1/4 10.5 [24.5| 125 | 38 39 32 33 14
SCDC6-03 R3/8 1.5 [26.5] 14 43 44 | 365 | 375 19
SCDC6-04 R1/2 15 | 32 | 18 50 51 42 43 24
SCDC8-01 R1/8 75 | 25 [ 115| 315 | 325 | 275 | 285 | 145 12
SCDC8-02 8 R1/4 105 | 28 | 13 38 39 32 33 14
SCDC8-03 R3/8 115 |29 | 145 43 44 | 365 | 375 19
SCDC8-04 R1/2 15 | 32 | 18 50 51 42 43 24
SCDC10-01 R1/8 75 [305] 135 315 [ 3825 | 275 | 285 12
SCDC10-02 10 R1/4 | 105 |325| 15 | 38 | 39 | 32 | 33 | 85| 14
SCDC10-03 R3/8 15[ 33[165] 43 44 | 365 | 375 19
SCDC10-04 R1/2 15 [ 36 | 18 50 51 42 43 24
SCDC12-02 R1/4 105 | 33 | 165 38 39 32 33 21 14
SCDC12-03 12 R3/8 15 (35| 18 43 44 | 365 | 375 19
SCDC12-04 R1/2 15 [ 36 [ 195 50 51 42 43 24
AY ] . . .
T i 3% 3k /DSC-Il series swivel rotating

B EFIMRI T A E1 | E2 B L P A

Model Outer diameter Min MAX | Min | MAX b5
DSC8-01-Il @ R1/8 8 18 | 4655 [ 515 | 425 | 475
DSC8-02-Il 8 R1/4 11 275 | 19 | 495 [ 545 | 435 | 485 | 145 | 14

E1
o
i 4 3¢%
clemmni=

RO B REE X7 R i A AR




HRAEBY I & 4 L /Standard speed regulating pipe coupling

JSCDC-G Fiifi 1%k /SCDC-G series swivel rotating

I B BRI/ T A E1 | E2 B L P
Model Outer diameter Min | MAX| Min | MAX A
oD T
SCDC4-G01 4 G1/8 | 55 |225| 10 | 315 [325] 26 | 27 13 12
SCDC4-G02 G1/4 | 85 |245| 125 38 | 39 | 295 [ 30,5 14
SCDC6-G01 G1/8 | 55 |225| 10 | 315 [325] 26 | 27 12
SCDC6-G02 G1/4 | 85 |245| 125 38 [ 39 | 295 [305]| 13 14
SCDC6-G03 6 G3/8 | 95 |265]| 14 43 | 44 [ 335|345 19
’ b S/ SCDC6-G04 G1/2 12 | 32 | 18 50 | 51 | 38 | 39 | 145 24
SCDC8-G01 G1/8 | 55 | 25 | 115 | 315 [325] 26 | 27 12
SCDC8-G02 8 G1/4 | 85 | 28 | 13 38 | 39 [ 295 (305 14
SCDC8-G03 G3/8 | 95 | 29 | 145 | 43 | 44 | 335 | 345 | 45 [ 19
E1 SCDC8-G04 G1/2 12 | 32 | 18 50 | 51 | 38 | 39 24
SCDC10-G01 G1/8 | 55 | 305|135 | 315 [325] 26 | 27 12
Fﬁﬁ ol SCDC10-G02 G1/4 | 85 [325]| 15 38 | 39 [ 295 (305 14
T SCDC10-G03 10 G368 | 95 | 33 | 165 | 43 | 44 | 335 |345| 185 [ 19
. i gt% SCDC10-G04 G1/2 12 | 36 | 18 50 | 51 | 38 | 39 24
- EL ‘ ! SCDC12-G02 G1/4 | 85 | 33 [165 [ 38 [ 39 [ 295 [ 305 14
1 T SCDC12-G03 12 G3/8 95 | 35 [ 18 43 44 | 335 [345| 21 19
T < SCDC12-G04 G1/2 12 [ 36 [195] 50 [ 51 [ 38 [ 39 24
~ v — - N . . .
B SCF iM% 3% /SCF series swivel rotating
B BEFIMR/ B1 | B2 L oP | M1 M2 od
= -« Model | Outer diameter Min | Max
45 e _ oD
LT SCF4 4 40 |[115] 27 | 295 | 11 | 14 | SCF5 | 18
SCF6 6 47 [ 15| 39 [ 445 | 13| 20 | scF7 | 27
?\ SCF8 8 52 | 18 | 425 [ 475 [145] 22 | scF9 [ 29
SCF10 10 63.5| 21 | 465 | 525 [185| 26 | SCF11 | 33
SCF12 12 74 [ 28| 54 | 59 | 21 | 32 [ scF13 | 38
" SCF5/32 5/32 40 [115] 27 [ 295 | 11 | 14 [scF5/33| 5/33
SCF3/16 3/16 40 [115] 27 [ 295 | 11 | 14 [scFa3n7| 3117
N &% - . SCF1/4 1/4 47 [ 15| 39 [ 445 | 13 | 20 [scFi5]| 15
¢ N SCF5/16 5/16 52 | 18 | 425 | 475 [ 145 22 [scF5/17] 5/17
I w— wee 1O , ; , SCF3/8 3/8 63.5| 21 | 465 | 525 [185| 26 | SCF3/9| 3/9
SM G 'Hm ‘ SCF1/2 1/2 74 [ 28| 54 | 59 [ 21 [ 32 [scri3| 13
W B i,
! ]
~ A T R RN . . .
JDSC-I T # 5 /DSC-| series swivel rotating
S BETIMR/ T A |E1| E2 B L P A
Model Quter diameter Min MAX | Min MAX ik
DSC8-01- | WL R1/8 8 205 | 475 | 52 [ 435 [ 48
.ﬁ DSC8-02- | 8 R1/4 11 |275]215] 505 | 55 | 445 | 49 14.5 19
DSC8-03- | R3/8 15 215] 52 [ 565 455 [ 50
. E1

=

E2

@D

P

:_:J_‘

.-

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

207



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

208

F 428 /Hand Control fitting

F 2% /Hand Control fitting

4555 /Feature

1\ IERISHRESSENNFSX

2. Hi@ITXHR, <BsiEbELE 08&) PRERNSE,
URIFE S ERE R, RIEHRESHNRE.
1.Control pneumatic device air pressure on and off
2. When the valve is closed, residual air pressure in the
output end (equipment) will be automatically discharged to
protect the pipeline and instrument of the equipment and

ensure the safety during maintenance.

AR 14 /Technical condition

R EE

Structure illustration

fs£ 5744 /Working medium

=5, 7k (B%M) /Airwater(if aplicable)

T {EFE 5356 /Working pressure range

0~1.0Mpa

fesille L)

Cap (POM)
BEHE (THIRED
Packing (NBR)

Col ar Grase)
X (RER)
Back Ring (POM)

HE (HERE)
Col lar (Brass)

JEA/Nylon Tube
PUE/Polyurethang Tube

o (RPE)
Sleeve (POM)

FEH (THR)

EiE (9 MR (4184
MatelBody (Brass) ~ Valve Stem(Brass)

BT BB

{5 Ff BL%2 £ /1 /Using vaccum pressure -100Kpa(10Torr) Resin Bode (PB) Lock lans (SUS)
T {E:BESEE /Working temperature range [0~60°C
ITHBS (D HVSE 8 01
Ordering code(ex.)
@ #I5 /Model No.
WRLT RS 55 $EEIRL /Taper pipe thread
@ EF R [Tube size Thread size K5 /Code | 01 02 03 04 06
4247 [Thread | R1/8 | R1/4 R3/8 R12 | R3/4
EF Rt Tube size AR /Metric size NHMESL /Metric thread B IR /Straight thread
X5 /Code 4 6 8 10 12 16 XS /Code M3 M5 M6 GO1 G02 GO03 G04 G06
Rt (mm) b4 b6 ®8 ®10 ®12 ®16 424 [Thread | M3*0.5 | M5*0.8 | M6*1.0 | G1/8 G1/4 G3/8 G1/2 G3/4
EFR~T /Tube size HHI R
5 /Code 5/32 | 3116 | 1/4 | 516 | 3/8 1/2 Gi—YAFF RS /UNF £ 60 HEEIRLL /Taper pipe thread
Rt (mm) $3.96 | $4.76| $6.35| $7.94| $9.53| $12.7 XS /Code U10 NO1 NO2 NO3 NO04 NO6
24 /Thread 10-32UNF NPT1/8 | NPT1/4 | NPT3/8 | NPT1/2 | NPT3/4

FriBm =@, MAEREFXEM,

REFETREER, ZBELE

IR, Mtis (8% PRANSESNRALBIHE, URIPR
EHERRNGE, FNEHREEHHZE.

Two position -three way valves, acctually

only open- close two position.

The third way is the rotating, which used for output residual air in the
machines. It can protect parts and gauges, also ensure personal safety

during repair parts.

PN}
CIND

BARSEHH

mdn
CONT{R))

RO B REE X7 R i A AR



F#£i# /Hand Control fitting

BHVFF F#=i@1%k /HVFF series nipple

2-¢P

B BRI/ BEFIMR/ L | E1]| E2 P c1 | c2 | F1|F2
Model Outer diameter | Outer diameter
¢ D1 ¢ D2
HVFF6-6 6 6 26 | 26 16 | 16
HVFF8-6 8 6 375 27 | 26 | 145|185 16 | 18 | 8
\ HVFF8-8 8 8 27 | 27 185 | 185
HVFF10-8 10 8 35 | 34 20 | 185
a HVFF10-10 10 10 40.5| 35 | 35 20 | 20
HVFF12-10 12 10 345| 35 | 21 [23 [ 20 | 24 | !
HVFF12-12 12 12 345|345 23 | 23
HVFF1/4-1/4 1/4 1/4 26 | 26 16 | 16
F1 HVFF5/16-1/4 5/16 1/4 375| 27 | 26 | 145 |185| 16 | 18 | 8
HVFF5/16-5/16 5/16 5/16 27 | 27 185 | 18.5
HVFF3/8-5/16 3/8 5/16 35 | 34 20 | 185
293.2 ﬂﬂﬂmﬂﬂﬂﬂm‘}]ﬂm HVFF3/8-3/8 3/8 3/8 35 | 35 20 | 20
N N oNT HVFF1/2-3/8 112 3/8 405345] 35 | 21 [[23 [20 | 24|
J O L Neee 1O —my | _HVFF1/2-1/2 172 1/2 345|345 23 | 23
) S N
- T K : a
S c1 2 _|*®
E1 E2
3 — —_ . .
JHVFS F#=i@# % /HVFS series nipple
‘ S ETIMR/ T AlL]Et]E2|[ P [C|FI[F2] H
Model Outer diameter
$ D1
HVFS6-01 6 R1/8 | 8 26 | 34 16 12
HVFS6-02 R1/4 | 10 36.5 14
= HVFS8-01 R1/8 | 8 |37 345 | 145 1818 [T14
' HVFS8-02 8 R1/4 | 10 27 | 365 18.5 14
) HVFS8-03 R3/8 | 11 37.5 17
o HVFS10-02 R1/4 | 10 44 17
\ L L HVFS10-03 10 R3/8 | 11 35 [ 45 20 17
HVFS10-04 R12 | 14 |405 485 | 21 24 [ 11 [T
HVFS12-03 12 R3/8 | 11 345 45 23 17
HVFS12-04 R1/2 | 14 485 21
HVFS1/4-NO1 1/4 NPT1/8| 8 26 | 34 16 12
o HVFS1/4-N02 NPT1/4| 10 s 36.5 s el s 9/16
HVFS5/16-N01 NPT1/8| 8 : 345 | 14 9/16
2-03.2 T HVFS5/16-N02 5/16 NPT1/4 10 27 | 36.5 18.5 9/16
ﬂuﬂmmlﬂ”mnﬂﬂﬂﬂﬂlﬂh o HVFS5/16-N03 NPT3/8| 11 37.5 11/16
N D [Wpo | Do HVFS3/8-N02 NPT1/4] 10 44 11/16
°¢ i \ (] HVFS3/8-N03 3/8 NPT3/8| 11 35 [ 45 20 11/16
pa Rl Ny e R HVFS3/8-N04 NPT1/2| 14 |405 485 | 21 24 |11 778
. y . HVFS1/2-N03 12 NPT3/8| 11 345 45 23 11/16
o £ HVFS1/2-N04 NPT1/2| 14 485 7/8

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

209



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

210

F42% /Hand Control fitting

B HVSF FiZi@iE % /HVSF series nipple

L\

égz

T 2-93.2
B jv N (D Twere | )T
M\ e ] 5
L) L[

B HVSS Fizi@#% Sk /HVSS series nipple

T 2-¢3.2
JHMMMMMML 12

F2

ONT
d

E1

A2

E2

2= BTN/ T A L E1 E2 P c F1 | F2 H
Model Outer diameter
¢ D1
HVSF6-01 6 R1/8 8 26 | 34 16 12
HVSF6-02 R1/4 | 10 36.5 14
HVSF8-01 Ri/8 | 8 |375 345 | 145 181 8 [T1a
HVSF8-02 8 R1/4 | 10 27 | 365 18.5 14
HVSF8-03 R3/8 | 11 37.5 17
HVSF10-02 R1/4 | 10 44 17
HVSF10-03 10 R3/8 1 35 | 45 20 17
HVSF10-04 R12 | 14 |405 485 | 21 24 [ 1 T2
HVSF12-03 12 R3/8 | 11 345 | 45 23 17
HVSF12-04 R12 | 14 485 21
HVSF1/4-N01 1/4 NPT1/8| 8 26 | 34 16 1/2
HVSF1/4-N02 NPT1/4| 10 36.5 9/16
HVSF5/16-N01 NPT1/8| 8 |37 345 | 145 181 8 |96
HVSF5/16-N02 5/16 NPT1/4[ 10 27 | 36.5 18.5 9/16
HVSF5/16-N03 NPT3/8| 11 37.5 11/16
HVSF3/8-N02 NPT1/4| 10 44 11/16
HVSF3/8-N03 3/8 NPT3/8| 11 35 | 45 20 11/16
HVSF3/8-N04 NPT1/2| 14 |40-5 485 | 21 24 [ 1 778
HVSF1/2-N03 1/2 NPT3/8[ 11 345 | 45 23 11/16
HVSF1/2-N04 NPT1/2| 14 485 7/8
S T A1 T1 A2 L E1 E2 | F1 F2 | H1 H2
Model

HVSS01-01 R1/8 8 R1/8 8 34 34 12 12
HVSS02-01 R1/4 10 R1/8 8 375 | 365 | 34 18 8 14 12
HVSS02-02 R1/4 10 | R1/4 | 10 36.5 | 36.5 14 14
HVSS03-02 | R3/8 1 R1/4 | 10 45 44 17 17
HVSS03-03 R3/8 1 R3/8 1 405 [ 45 45 17 17
HVSS04-03 | R1/2 | 14 | R3/8 | 11 485 | 45 | 24 | 1 [21 | 17
HVSS04-04 | R1/2 14 | R12 | 14 485 | 485 21 21
HVSSOIN-0IN [ NPT1/8| 8 [NPT1/8] 8 34 34 12 12
HVSS02N-01N [ NPT1/4| 10 |NPT1/8] 8 375 | 365 | 34 18 8 14 12
HVSS02N-02N [ NPT1/4 | 10 [NPT1/4| 10 36.5 | 36.5 14 14
HVSS03N-02N [ NPT3/8 | 11 |[NPT1/4| 10 45 44 17 17
HVSSO03N-03N [ NPT3/8 | 11 [NPT3/8| 11 45 45 17 17
HVSS04N-03N | NPT1/2 | 14 |NPT3/8] 11 | 405 [a85 | 45 | 24 | 11 [ 21 | 17
HVSS04N-04N [ NPT1/2 | 14 [NPT1/2| 14 485 | 485 21 21

RO B REE X7 R i A AR




4% 15 /Feature

1\ ERISEHRETSENNFSX

Tk & /Ball valve

1. Control pneumatic device air pressure on and off

BVU ki # 3 /BVU series ball valve fitting

BVC ski@#Ek /BVC series ball valve fitting

§2

I BVC-G #kif#% 3 /BVC-G series ball valve fitting

MODEL ¢ D1 ¢ D2 oP L H
BVUO06 6 6 17 52 23
BVU08 8 8 17 58 23
BVU08-06 8 6 17 55 23
of TN s
S T KU S
L
MODEL o D1 R P L L1 H A
BVC06-01 6 R1/8 17 56 7.5 23 17
BVC06-02 6 R1/4 17 58 9.5 23 17
BVC06-03 6 R3/8 17 59 10.5 23 17
BVC08-01 8 R1/8 17 59 7.5 23 17
BVC08-02 8 R1/4 17 61 9.5 23 17
BVC08-03 8 R3/8 17 62 10.5 23 17
= EsL A
38 <1l
ill HH
L1
L
MODEL ¢D G L1 P L H A
BVC06-G01 6 G1/8 5.5 17 56 23 17
BVC06-G02 6 G1/4 7.5 17 58.5 23 17
BVC06-G03 6 G3/8 7.5 17 59 23 20
BVC08-G01 8 G1/8 515 17 59 23 17
BVC08-G02 8 G1/4 7.5 17 61.5 23 17
BVC08-G03 8 G3/8 7.5 17 62 23 20
- = :ﬁﬂ
L1

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

211



NPPC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

212

£ B RiE#Z L /Metal Push-in Fittings

| &£ RiE$£ L /Metal Push-in Fittings

MPC

S (¢D-T)

& (2D -8y (R) & (&) -8By (R) & (&) -84 (NPT)

Tube-(Metric)-Thread(R) Tube-(Inch)-Thread(R) Tube-(Inch)-Thread(NPT)
MPC03-M3 | MPC06-01 | MPC10-04 | MPC1/8-01 MPC1/4-03 MPC1/2-02 MPC1/8-U10 [ MPC3/16-N03 [ MPC3/8-N01
MPC03-M5 | MPC06-02 | MPC12-02 | MPC1/8-02 | MPC5/16-01 | MPC1/2-03 MPC1/8-NO1 MPC1/4-U10 MPC3/8-N02
MPC04-M5 | MPC08-01 | MPC12-03 | MPC5/32-01 | MPC5/16-02 | MPC1/2-04 MPC1/8-N02 MPC1/4-NO1 MPC3/8-N03
MPC04-01 MPC08-02 MPC12-04 | MPC5/32-02 | MPC5/16-03 MPC5/32-U10 MPC1/4-N02 MPC3/8-N04
MPC04-02 | MPC08-03 | MPC14-03 | MPC3/16-01 | MPC5/16-04 MPC5/32-N01 | MPC1/4-N03 MPC1/2-N02
MPC05-M5 | MPC08-04 | MPC14-04 | MPC3-16-02 | MPC3/8-01 MPC5/32-N02 | MPC5/16-N01 MPC1/2-N03
MPC05-01 MPC10-01 | MPC16-03 | MPC3/16-03 | MPC3/8-02 MPC3/16-U10 | MPC5/16-N02 | MPC1/2-N04
MPC05-02 | MPC10-02 | MPC16-04 | MPC1/4-01 MPC3/8-03 MPC3/16-N01 | MPC5/16-N03
MPC06-M5 MPC10-03 MPC1/4-02 MPC3/8-04 MPC3/16-N02 MPC5/16-N04

MPOC #2 (¢ D-T)/Model( ¢ D-T)
g (A% -84 (R) T (&) -84 (R) & (F) -8By (NPT)
Tube-(Metric)-Thread(R) Tube-(Inch)-Thread(R) Tube-(Inch)-Thread(NPT)
MPOC03-M3 | MPOC06-01 | MPOC10-04 | MPOC1/8-01 MPOC1/4-03 | MPOC1/2-02 MPOC1/8-U10 | MPOC3/16-N03 | MPOC3/8-N01
MPOC03-M5 | MPOC06-02 | MPOC12-02 [ MPOC1/8-02 | MPOC5/16-01 | MPOC1/2-03 | MPOC1/8-N01 | MPOC1/4-U01 | MPOC3/8-N02
4D MPOC04-M5 | MPOC08-01 | MPOC12-03 [ MPOC5/32-01 | MPOC5/16-02 | MPOC1/2-04 | MPOC1/8-N02 | MPOC1/4-N01 | MPOC3/8-N03
\§ MPOC04-01 | MPOC08-02 | MPOC12-04 | MPOC5/32-02 | MPOC5/16-03 MPOC5/32-U10 | MPOC1/4-N02 | MPOC3/8-N04
N MPOCO04-02 | MPOC08-03 | MPOC14-03 | MPOC3/16-01 | MPOC5/16-04 MPOC5/32-N01 | MPOC1/4-N03 | MPOC1/2-N02
S\ MPOC05-M5 | MPOC08-04 | MPOC14-04 | MPOC3-16-02 | MPOC3/8-01 MPOC5/32-N02 | MPOC5/16-N01 | MPOC1/2-N03
A\ MPOC05-01 | MPOC10-01 | MPOC16-03 [ MPOC3/16-03 | MPOC3/8-02 MPOC3/16-U10 | MPOC5/16-N02 | MPOC1/2-N04
T MPOC05-02 | MPOC10-02 | MPOC16-04 | MPOC1/4-01 | MPOC3/8-03 MPOC3/16-N01 | MPOC5/16-N03
MPOC06-M5 | MPOC10-03 MPOC1/4-02 | MPOC3/8-04 MPOC3/16-N02 | MPOC5/16-N04
MPCF #E (¢ D-T)/Model( ¢ D-T)
B (%D -84 (R) F (&) -8By (R) & (&) -84 (NPT)
Tube-(Metric)-Thread(R) Tube-(Inch)-Thread(R) Tube-(Inch)-Thread(NPT)
MPCF04-01 | MPCF08-04 | MPCF14-03 | MPCF1/8-01 | MPCF1/4-03 | MPCF1/2-02 | MPCF1/8-N01 | MPCF1/4-N03 | MPCF3/8-N04
MPCF04-02 | MPCF10-01 | MPCF14-04 | MPCF1/8-02 | MPCF5/16-01 | MPCF1/2-03 | MPCF1/8-N02 [ MPCF1/4-U10 | MPCF1/2-N02
MPCF05-01 | MPCF10-02 | MPCF16-03 | MPCF5/32-01 | MPCF5/16-02 | MPCF1/2-04 | MPCF5/32-N01 | MPCF5/16-N01 | MPCF1/2-N03
MPCF05-02 | MPCF10-03 | MPCF16-04 | MPCF5/32-02 | MPCF5/16-03 MPCF5/32-N02 [ MPCF5/16-N02 | MPCF1/2-N04
MPCF06-01 | MPCF10-04 MPCF3/16-01 | MPCF5/16-04 MPCF3/16-N01 | MPCF5/16-N03
MPCF06-02 | MPCF12-01 MPCF3/16-02 [ MPCF3/8-01 MPCF3/16-N02 | MPCF5/16-N04
MPCF08-01 | MPCF12-02 MPCF3/16-03| MPCF3/8-02 MPCF3/16-N03 | MPCF3/8-NO1
MPCF08-02 | MPCF12-03 MPCF1/4-01 | MPCF3/8-03 MPCF1/4-N01 | MPCF3/8-N02
MPCF08-03 | MPCF12-04 MPCF1/4-02 | MPCF3/8-04 MPCF1/4-N02 | MPCF3/8-N03
MPL #2 (¢ D-T)/Model( ¢ D-T)
& (%) -BY (R) & (&) -85 (R) & (&) - BE (NPT)
Tube-(Metric)-Thread(R) Tube-(Inch)-Thread(R) Tube-(Inch)-Thread(NPT)
MPL03-M3 MPL06-01 MPL10-04 MPL1/8-01 MPL1/4-03 MPL1/2-02 MPL1/8-U10 MPL3/16-N03 MPL3/8-NO1
MPL03-M5 MPL06-02 | MPL12-02 MPL1/8-02 | MPL5/16-01 MPL1/2-03 MPL1/8-NO1 MPL1/4-U01 MPL3/8-N02
MPL04-M5 MPL08-01 MPL12-03 MPL5/32-01 MPL5/16-02 MPL1/2-04 MPL1/8-N02 MPL1/4-NO1 MPL3/8-N03
MPL04-01 MPL08-02 | MPL12-04 | MPL5/32-02 | MPL5/16-03 MPL5/32-U10 MPL1/4-N02 MPL3/8-N04
MPL04-02 MPL08-03 | MPL14-03 | MPL3/16-01 | MPL5/16-04 MPL5/32-N01 MPL1/4-N03 MPL1/2-N02
MPL05-M5 MPL08-04 | MPL14-04 | MPL3-16-02 | MPL3/8-01 MPL5/32-N02 | MPL5/16-NO1 MPL1/2-N03
MPL05-01 MPL10-01 MPL16-03 | MPL3/16-03 | MPL3/8-02 MPL3/16-U10 | MPL5/16-N02 MPL1/2-N04
MPL05-02 MPL10-02 | MPL16-04 MPL1/4-01 MPL3/8-03 MPL3/16-N01 | MPL5/16-N03
MPL06-M5 MPL10-03 MPL1/4-02 MPL3/8-04 MPL3/16-N02 | MPL5/16-N04
MPLN HS (¢ D-T)/Model( ¢ D-T)
T (%D -84 (R) F (&) -84 (R) B (F&T) - 1240 (NPT)
Tube-(Metric)-Thread(R) Tube-(Inch)-Thread(R) Tube-(Inch)-Thread(NPT)
MPLN03-M3 | MPLN06-01 | MPLN10-04 [ MPLN1/8-01 | MPLN1/4-03 | MPLN1/2-02 | MPLN1/8-U10 | MPLN3/16-N03 [ MPLN3/8-NO1
MPLNO03-M5 | MPLN06-02 | MPLN12-02 | MPLN1/8-02 | MPLN5/16-01 | MPLN1/2-03 | MPLN1/8-N01 | MPLN1/4-U01 [ MPLN3/8-N02
MPLN04-M5 | MPLN08-01 | MPLN12-03 | MPLN5/32-01 | MPLN5/16-02 | MPLN1/2-04 | MPLN1/8-N02 | MPLN1/4-NO1 [ MPLN3/8-N03
D) MPLN04-01 | MPLN08-02 | MPLN12-04 | MPLN5/32-02 | MPLN5/16-03 MPLN5/32-U10 | MPLN1/4-N02 | MPLN3/8-N04
EWKWN MPLN04-02 | MPLN08-03 | MPLN14-03 | MPLN3/16-01 | MPLN5/16-04 MPLN5/32-N01 | MPLN1/4-N03 | MPLN1/2-N02
R )\# MPLNO05-M5 | MPLN08-04 | MPLN14-04 | MPLN3-16-02 | MPLN3/8-01 MPLN5/32-N02 | MPLN5/16-N01 | MPLN1/2-N03
\ ¢ MPLN05-01 | MPLN10-01 | MPLN16-03 | MPLN3/16-03 | MPLN3/8-02 MPLN3/16-U10 | MPLN5/16-N02 | MPLN1/2-N04
T D "MPLN05-02 | MPLN10-02 | MPLN16-04 | MPLN1/4-01 | MPLN3/8-03 MPLN3/16-N01 [ MPLN5/16-N03
MPLNO06-M5 | MPLN10-03 MPLN1/4-02 | MPLN3/8-04 MPLN3/16-N02 [ MPLN5/16-N04

RO B REE X7 R i A AR



NAPC'

PNEUMATIC

£ B IRiEE K /Metal Push-in Fittings

| &£E iRiE$E K /Metal Push-in Fittings

FLUID AUTOMATIC COMPONENT

ik EETE

MPLL #2 (¢ D-T)/Model( ¢ D-T)
& (AFD - 424 (R) F (&) -8By (R) & (F&)) - 485 (NPT)
Tube-(Metric)-Thread(R) Tube-(Inch)-Thread(R) Tube-(Inch)-Thread(NPT)
MPLL04-M5 | MPLL08-01 | MPLL12-02 | MPLL1/8-01 MPLL1/4-03 | MPLL1/2-02 | MPLL1/8-U10 | MPLL3/16-N03 | MPLL3/8-NO1
- MPLL04-01 | MPLL08-02 [ MPLL12-03 [ MPLL1/8-02 | MPLL5/16-01 | MPLL1/2-03 | MPLL1/8-NO1 MPLL1/4-U10 | MPLL3/8-N02
Q\.:\ \-\ 1 MPLL04-02 | MPLL08-03 [ MPLL12-04 | MPLL5/32-01 | MPLL5/16-02 | MPLL1/2-04 | MPLL1/8-N02 MPLL1/4-NO1 MPLL3/8-N0O3
N\ MPLLO5-M5 | MPLL08-04 | MPLL14-03 | MPLL5/32-02 | MPLL5/16-03 MPLL5/32-U10 | MPLL1/4-N02 | MPLL3/8-N04
/?f | MPLL-05-01 [ MPLL10-01 [ MPLL14-04 | MPLL3/16-01 | MPLL5/16-04 MPLL5/32-N01 | MPLL1/4-N03 [ MPLL1/2-N02
@,-' #D [ MPLL-05-02 | MPLL10-02 | MPLL16-03 | MPLL3/16-02 | MPLL3/8-01 MPLL5/32-N02 | MPLL5/16-NO1 | MPLL1/2-N03
T MPLL-06-M5 | MPLL10-03 | MPLL16-04 | MPLL3/16-03 | MPLL3/8-02 MPLL3/16-U10 | MPLL5/16-N02 | MPLL1/2-N04
MPLL06-01 | MPLL10-04 MPLL1/4-01 MPLL3/8-03 MPLL3/16-N01 | MPLL5/16-N03
MPLL06-02 | MPLL12-01 MPLL1/4-02 MPLL3/8-04 MPLL3/16-N02 | MPLL5/16-N04
MPLF A2 (¢ D-T)/Model( ¢ D-T)
T (2F) -89 (R) & (&) -2y (R) & (&) -840 (NPT)
Tube-(Metric)-Thread(R) Tube-(Inch)-Thread(R) Tube-(Inch)-Thread(NPT)
MPLF04-01 MPLF08-04 |MPLF14-03 |MPLF1/8-01 MPLF1/4-03  |MPLF1/2-02  |MPLF1/8-N10 MPLF1/4-N03  [MPLF3/8-N04
MPLF04-02  [MPLF10-01 [MPLF14-04 [MPLF1/8-02  |MPLF5/16-01 |MPLF1/2-03  [MPLF1/8-N0O1 MPLF1/4-U10  [MPLF1/2-N02
e MPLF05-01 MPLF10-02 [MPLF16-03 |MPLF5/32-01 |MPLF5/16-02 |MPLF1/2-04  |MPLF5/32-N01 MPLF5/16-N01 |MPLF1/2-N03
'\X /\- MPLF05-02  [MPLF10-03 [MPLF16-04 [MPLF5/32-02 |MPLF5/16-03 MPLF5/32-N02  [MPLF5/16-N02 |MPLF1/2-N04
A MPLF06-01 MPLF10-04 MPLF3/16-01  |MPLF5/16-04 MPLF3/16-NO01 MPLF5/16-N03
p = [MPLF06-02 |MPLF12-01 MPLF3/16-02 |MPLF3/8-01 MPLF3/16-N02  |MPLF5/16-N04
T - MPLF08-01 MPLF12-02 MPLF3/16-03 |MPLF3/8-02 MPLF3/16-N03  [MPLF3/8-N01
D |MPLF08-02  |MPLF12-03 MPLF1/4-01 MPLF3/8-03 MPLF1/4-NO1 MPLF3/8-N02
MPLF08-03  |MPLF12-04 MPLF1/4-02  |MPLF3/8-04 MPLF1/4-N02 MPLF3/8-N03

MPT

S (¢ D-T)/Model( ¢ D-T)

B (NED 124 (R)
Tube-(Metric)-Thread(R)

& (&) -84 (R)
Tube-(Inch)-Thread(R)

& (FED) 1240 (NPT)
Tube-(Inch)-Thread(NPT)

MPT04-M5 |MPT08-01 [MPT12-02 [MPT1/8-08 |MPT1/4-03 |MPT1/2-02 |MPT1/8-U10 [MPT3/16-N03 |MPT3/8-N01
MPT04-01 |MPT08-02 [MPT12-03 [MPT1/8-02 [MPT5/16-01 |MPT1/2-03 |MPT1/8-N0O1 MPT1/4-U10  |MPT3/8-N02
MPT04-02 |MPT08-03 [MPT12-04 [MPT5/32-01 |MPT5/16-02 |MPT1/2-04 |MPT1/8-N02  [MPT1/4-NO1  |MPT3/8-N03
MPT05-M5  |MPT08-04 [MPT14-03 [MPT5/32-02 [MPT5/16-03 MPT5/32-U10 |MPT1/4-N02  [MPT3/8-N04
MPT05-01  |[MPT10-01 [MPT14-04 [MPT3/16-01 [MPT5/16-04 MPT5/32-N01  |MPT1/4-N03  [MPT1/2-N02
MPT05-02 |[MPT10-02 [MPT16-03 [MPT3/16-02 [MPT3/8-01 MPT5/32-N02 |MPT5/16-N01 [MPT1/2-N03
MPT06-M5 |MPT10-03 [MPT16-04 [(MPT3/16-03 |MPT3/8-02 MPT3/16-U10 |MPT5/16-N02 [MPT1/2-N04
MPT06-01  |MPT10-04 MPT1/4-01 MPT3/8-03 MPT3/16-N01  |MPT5/16-N03

MPT06-02 |MPT12-01 MPT1/4-02  (MPT3/8-04 MPT3/16-N02 |MPT5/16-N04

MPD

&S (¢ D-T)/Model( ¢ D-T)

& (D - 125 (R)
Tube-(Metric)-Thread(R)

& (3~ -1824 (R)
Tube-(Inch)-Thread(R)

& (&) - 4245 (NPT)
Tube-(Inch)-Thread(NPT)

MPD04-M5 MPD08-01 MPD12-02 MPD1/8-08 MPD1/4-03 MPD1/2-02 MPD1/8-U10 MPD3/16-N03 MPD3/8-N01
MPDO04-01 MPD08-02 MPD12-03 MPD1/8-02 MPD5/16-01 MPD1/2-03 MPD1/8-NO1 MPD1/4-U10 MPD3/8-N02
MPD04-02 MPD08-03 MPD12-04 MPD5/32-01 MPD5/16-02 MPD1/2-04 MPD1/8-N02 MPD1/4-N01 MPD3/8-N03
MPD05-M5 MPD08-04 MPD14-03 MPD5/32-02 MPD5/16-03 MPD5/32-U10 MPD1/4-N02 MPD3/8-N04
MPD05-01 MPD10-01 MPD14-04 MPD3/16-01 MPD5/16-04 MPD5/32-N01 MPD1/4-N03 MPD1/2-N02
MPD05-02 MPD10-02 MPD16-03 MPD3/16-02 MPD3/8-01 MPD5/32-N02 MPD5/16-NO1 MPD1/2-N03
MPD06-M5 MPD10-03 MPD16-04 MPD3/16-03 MPD3/8-02 MPD3/16-U10 MPD5/16-N02 MPD1/2-N04
MPD06-01 MPD10-04 MPD1/4-01 MPD3/8-03 MPD3/16-N01 MPD5/16-N03

MPD06-02 MPD12-01 MPD1/4-02 MPD3/8-04 MPD3/16-N02 MPD5/16-N04

MPX

&S (¢ D-T)/Model( ¢ D-T)

%ﬁ:

& (D - 124 (R)
Tube-(Metric)-Thread(R)

& (& -84 (R)
Tube-(Inch)-Thread(R)

& (FESD) -840 (NPT)
Tube-(Inch)-Thread(NPT)

MPX04-M5 MPX08-01 MPX12-02 MPX1/8-08 MPX1/4-03 MPX1/2-02 MPX1/8-U10 |MPX3/16-N03 |MPX3/8-N01
MPX04-01 MPX08-02 MPX12-03 MPX1/8-02 MPX5/16-01 MPX1/2-03 MPX1/8-N01  [MPX1/4-U10 |MPX3/8-N02
MPX04-02 MPX08-03 MPX12-04 MPX5/32-01 MPX5/16-02 MPX1/2-04 MPX1/8-N02  |MPX1/4-N01 MPX3/8-N03
MPX05-M5 MPX08-04 MPX14-03 MPX5/32-02 MPX5/16-03 MPX5/32-U10 |[MPX1/4-N02 |MPX3/8-N04
MPX05-01 MPX10-01 MPX14-04 MPX3/16-01 MPX5/16-04 MPX5/32-N01  |MPX1/4-N03 |MPX1/2-N02
MPX05-02 MPX10-02 MPX16-03 MPX3/16-02 MPX3/8-01 MPX5/32-N02 |MPX5/16-N01 |MPX1/2-N03
MPX06-M5 MPX10-03 MPX16-04 MPX3/16-03 MPX3/8-02 MPX3/16-U10 |MPX5/16-N02 |MPX1/2-N04
MPX06-01 MPX10-04 MPX1/4-01 MPX3/8-03 MPX3/16-N01  |MPX5/16-N03

MPX06-02 MPX12-01 MPX1/4-02 MPX3/8-04 MPX3/16-N02 |MPX5/16-N04

RO B R ER X 7 R i A AR

213



NPPC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

214

£ BIRiEIE K /Metal Push-in Fittings

| £ &L /Metal Push-in Fittings

MPMF

&5 (¢ D-T)/Model( ¢ D-T)

B (D -84 (R)
Tube-(Metric)-Thread(R)

& (F&) -8y (R)
Tube-(Inch)-Thread(R)

& (&) -89 (NPT)
Tube-(Inch)-Thread(NPT)

MPMF04-01 | MPMF08-04 | MPMF14-03 | MPMF1/8-01 | MPMF1/4-03 | MPMF1/2-02 | MPMF1/8-N10 | MPMF1/4-N03 | MPLF3/8-N04
MPMF04-02 | MPMF10-01 | MPMF14-04 | MPMF1/8-02 | MPMF5/16-01 | MPMF1/2-03 | MPMF1/8-N01 | MPMF1/4-U10 | MPLF1/2-N02
4D | _MPMF05-01 | MPMF10-02 | MPMF16-03 | MPMF5/32-01 | MPMF5/16-02 | MPMF1/2-04 | MPMF5/32-N0O1_| MPMF5/16-N01 | MPLF1/2-N03
$ MPMF05-02 | MPMF10-03 | MPMF16-04 | MPMF5/32-02 | MPMF5/16-03 MPMF5/32-N02 | MPMF5/16-N02 | MPLF1/2-N04
f MPMF06-01 | MPMF10-04 MPMF3/16-01 | MPMF5/16-04 MPMF3/16-N01 | MPMF5/16-N03
w MPMF06-02 | MPMF12-01 MPMF3/16-02 | MPMF3/8-01 MPMF3/16-N02 | MPMF5/16-N04
r MPMF08-01 | MPMF12-02 MPMF3/16-03 | MPMF3/8-02 MPMF3/16-N03 | MPMF3/8-N01
MPMF08-02 | MPMF12-03 MPMF1/4-01 | MPMF3/8-03 MPMF1/4-N01 [ MPMF3/8-N02
MPMF08-03 | MPMF12-04 MPMF1/4-02 | MPMF3/8-04 MPMF1/4-N02 | MPMF3/8-N03
MPCJ #S (¢ D-T)/Model( ¢ D-T)

& (D - 125 (R)
Tube-(Metric)-Thread(R)

B () -84 (R)
Tube-(Inch)-Thread(R)

& (H&)) - 1250 (NPT)
Tube-(Inch)-Thread(NPT)

MPCJ04-M5 | MPCJ08-01 | MPCJ12-02 MPCJ1/8-01 MPCJ1/4-03 | MPCJ1/2-02 MPCJ1/8-U10 MPCJ3/16-N03 MPCJ3/8-N01
MPCJ04-01 MPCJ08-02 | MPCJ12-03 MPCJ1/8-02 MPCJ5/16-01 [ MPCJ1/2-03 MPCJ1/8-NO1 MPCJ1/4-U10 MPCJ3/8-N02
MPCJ04-02 | MPCJ08-03 [ MPCJ12-04 | MPCJ5/32-01 | MPCJ5/16-02 | MPCJ1/2-04 MPCJ1/8-N02 MPCJ1/4-NO1 MPCJ3/8-N03
MPCJ05-M5 | MPCJ08-04 [ MPCJ14-03 | MPCJ5/32-02 | MPCJ5/16-03 MPCJ5/32-U10 MPCJ1/4-N02 MPCJ3/8-N04
MPCJ-05-01 [ MPCJ10-01 | MPCJ14-04 | MPCJ3/16-01 | MPCJ5/16-04 MPCJ5/32-N01 MPCJ1/4-N03 MPCJ1/2-N02
MPCJ-05-02 | MPCJ10-02 | MPCJ16-03 | MPCJ3/16-02 MPCJ3/8-01 MPCJ5/32-N02 | MPCJ5/16-N01 MPCJ1/2-N03
MPCJ-06-M5 | MPCJ10-03 [ MPCJ16-04 | MPCJ3/16-03 MPCJ3/8-02 MPCJ3/16-U10 [ MPCJ5/16-N02 MPCJ1/2-N04
MPCJ06-01 MPCJ10-04 MPCJ1/4-01 MPCJ3/8-03 MPCJ3/16-NO1 MPCJ5/16-N03

MPCJ06-02 MPCJ12-01 MPCJ1/4-02 MPCJ3/8-04 MPCJ3/16-N02 | MPCJ5/16-N04

MPCFJ

F1S (¢ D-T)/Model( ¢ D-T)

& (D - 124 (R)
Tube-(Metric)-Thread(R)

& (&) -84 (R)
Tube-(Inch)-Thread(R)

& (&) - 1240 (NPT)
Tube-(Inch)-Thread(NPT)

MPCFJ1/8-01

MPCFJ1/4-03

MPCFJ1/2-02

MPCFJ1/8-NO1

MPCFJ1/4-N03

MPCFJ3/8-N04

MPCFJ1/8-02

MPCFJ5/16-01

MPCFJ1/2-03

MPCFJ1/8-N02

MPCFJ1/4-U10

MPCFJ1/2-N02

MPCFJ5/32-01

MPCFJ5/16-02

MPCFJ1/2-04

MPCFJ5/32-N01

MPCFJ5/16-NO1

MPCFJ1/2-N03

MPCFJ5/32-02

MPCFJ5/16-03

MPCFJ5/32-N02

MPCFJ5/16-N02

MPCFJ1/2-N04

MPCFJ3/16-01

MPCFJ5/16-04

MPCFJ3/16-N01

MPCFJ5/16-N03

MPCFJ3/16-02

MPCFJ3/8-01

MPCFJ3/16-N02

MPCFJ5/16-N04

MPCFJ3/16-03

MPCFJ3/8-02

MPCFJ3/16-N03

MPCFJ3/8-N0O1

MPCFJ1/4-01

MPCFJ3/8-03

MPCFJ1/4-NO1

MPCFJ3/8-N02

MPCFJ04-01 |MPCFJ08-04 [MPCFJ14-03
MPCFJ04-02 |MPCFJ10-01 |MPCFJ14-04
MPCFJ05-01 |MPCFJ10-02 | MPCFJ16-03
MPCFJ05-02 |MPCFJ10-03 |MPCFJ16-04
MPCFJ06-01 |MPCFJ10-04
MPCFJ06-02 |MPCFJ12-01
MPCFJ08-01 |MPCFJ12-02
MPCFJ08-02 |MPCFJ12-03
MPCFJ08-03 |MPCFJ12-04

MPCFJ1/4-02

MPCFJ3/8-04

MPCFJ1/4-N02

MPCFJ3/8-N03

MPH

RIS (¢ D-T)Model( D-T)

B (AE)D -84 (R)
Tube-(Metric)-Thread(R)

& () -84 (R)
Tube-(Inch)-Thread(R)

& () -840 (NPT)
Tube-(Inch)-Thread(NPT)

MPHO04-M5 MPH08-01 MPH12-02 MPH1/8-08 MPH1/4-03 MPH1/2-02 MPH1/8-U10 MPH3/16-N03 MPH3/8-NO1
MPH04-01 MPH08-02 MPH12-03 MPH1/8-02 MPH5/16-01 MPH1/2-03 MPH1/8-N01 MPH1/4-U10 MPH3/8-N02
MPH04-02 MPH08-03 MPH12-04 MPH5/32-01 MPH5/16-02 MPH1/2-04 MPH1/8-N02 MPH1/4-N01 MPH3/8-N03
MPHO05-M5 MPH08-04 MPH14-03 MPH5/32-02 MPH5/16-03 MPH5/32-U10 MPH1/4-N02 MPH3/8-N04
MPH05-01 MPH10-01 MPH14-04 MPH3/16-01 MPH5/16-04 MPH5/32-N01 MPH1/4-N03 MPH1/2-N02
MPH05-02 MPH10-02 MPH16-03 MPH3/16-02 MPH3/8-01 MPH5/32-N02 MPH5/16-NO1 MPH1/2-N03
MPH06-M5 MPH10-03 MPH16-04 MPH3/16-03 MPH3/8-02 MPH3/16-U10 MPH5/16-N02 MPH1/2-N04
MPH06-01 MPH10-04 MPH1/4-01 MPH3/8-03 MPH3/16-NO1 MPH5/16-N03

MPH06-02 MPH12-01 MPH1/4-02 MPH3/8-04 MPH3/16-N02 MPH5/16-N04

MDPH

FIE (¢ D-T)/Model(d D-T)

& (NFD - 125 (R)
Tube-(Metric)-Thread(R)

B (3~ -84 (R)
Tube-(Inch)-Thread(R)

& (&) - 185 (NPT)
Tube-(Inch)-Thread(NPT)

MDPH04-M5 [MDPH08-01 |MDPH12-02 [MDPH1/8-01 MDPH1/4-03 MDPH1/2-02 |[MDPH1/8-U10 MDPH3/16-N03 | MDPH3/8-N0O1
MDPHO04-01 MDPHO08-02 |MDPH12-03 [MDPH1/8-02 MDPH5/16-01  |MDPH1/2-03  |MDPH1/8-N01 MDPH1/4-U10 MDPH3/8-N02
MDPHO04-02  |MDPH08-03 |MDPH12-04 |MDPH5/32-01 |MDPH5/16-02 |MDPH1/2-04 |MDPH1/8-N02 MDPH1/4-N01 MDPH3/8-N03
MDPHO05-M5  |MDPH08-04 |[MDPH14-03 |MDPH5/32-02 |MDPH5/16-03 MDPH5/32-U10  [MDPH1/4-N02 MDPH3/8-N04
MDPHO05-01 MDPH10-01 [MDPH14-04 |MDPH3/16-01 |MDPH5/16-04 MDPH5/32-N01  |MDPH1/4-N03 MDPH1/2-N02
MDPHO05-02  |[MDPH10-02 |[MDPH16-03 |MDPH3/16-02 |MDPH3/8-01 MDPH5/32-N02  |[MDPH5/16-N01  |MDPH1/2-N03
MDPHO06-M5 |MDPH10-03 |[MDPH16-04 |MDPH3/16-03 |MDPH3/8-02 MDPH3/16-U10 |[MDPH5/16-N02 |MDPH1/2-N04
MDPH06-01 MDPH10-04 MDPH1/4-01 MDPH3/8-03 MDPH3/16-N01  |MDPH5/16-N03

MDPHO06-02  |MDPH12-01 MDPH1/4-02 MDPH3/8-04 MDPH3/16-N02  |MDPH5/16-N04

RO B REE X7 R i A AR




£ B IRiEHE K /Metal Push-in Fittings

| &£ B RiE#£ L /Metal Push-in Fittings

MTPH

#2 (¢ D-T)Model( ¢ D-T)

B (AH)D -84 (R)
Tube-(Metric)-Thread(R)

B (3~ -84 (R)
Tube-(Inch)-Thread(R)

=
&

Tube-(Inch)-Thread(NPT)

(FE<T) - 1240 (NPT)

MTPH04-M5 [ MTPH08-01 | MTPH12-02 | MTPH1/8-01 | MTPH1/4-03 | MTPH1/2-02 | MTPHJ1/8-U10 | MTPH3/16-N03 | MTPH3/8-NO1
MTPHO04-01 | MTPH08-02 | MTPH12-03 | MTPH1/8-02 | MTPH5/16-01 | MTPH1/2-03 | MTPH1/8-N0O1 MTPH1/4-U10 | MTPH3/8-N02
MTPH04-02 | MTPH08-03 | MTPH12-04 | MTPH5/32-01 | MTPH5/16-02 | MTPH1/2-04 | MTPH1/8-N02 | MTPH1/4-N01 | MTPH3/8-N03
MTPHO5-M5 | MTPH08-04 | MTPH14-03 | MTPH5/32-02 | MTPH5/16-03 MTPH5/32-U10 | MTPH1/4-N02 | MTPH3/8-N04
MTPH-05-01 | MTPH10-01 | MTPH14-04 | MTPH3/16-01 | MTPH5/16-04 MTPH5/32-N01 | MTPH1/4-N03 | MTPH1/2-N02
» MTPH-05-02 | MTPH10-02 | MTPH16-03 | MTPH3/16-02 | MTPH3/8-01 MTPH5/32-N02 | MTPH5/16-N01 | MTPH1/2-N03
¥ r MTPH-06-M5 | MTPH10-03 | MTPH16-04 | MTPH3/16-03 | MTPH3/8-02 MTPH3/16-U10 | MTPH5/16-N02 [ MTPH1/2-N04
MTPH06-01 | MTPH10-04 MTPH1/4-01 | MTPH3/8-03 MTPH3/16-N01 | MTPH5/16-N03
MTPH06-02 | MTPH12-01 MTPH1/4-02 | MTPH3/8-04 MTPH3/16-N02 | MTPH5/16-N04
MPHF #2 (¢ D-T)/Model( ¢ D-T)

& (2FD -8By (R)
Tube-(Metric)-Thread(R)

& (&) -8y (R)
Tube-(Inch)-Thread(R)

& (&) - B8 (NPT)
Tube-(Inch)-Thread(NPT)

MPHF04-01 | MPHF08-04 | MPHF14-03 | MPHF1/8-01 MPHF1/4-03 MPHF1/2-02 MPHF1/8-N10 MPHF1/4-N03 | MPHF3/8-N04
MPHF04-02 | MPHF10-01 | MPHF14-04 | MPHF1/8-02 | MPHF5/16-01 | MPHF1/2-03 MPHF1/8-N01 MPHF1/4-U10 [ MPHF1/2-N02
MPHF05-01 | MPHF10-02 | MPHF16-03 | MPHF5/32-01 [ MPHF5/16-02 | MPHF1/2-04 MPHF5/32-N01 | MPHF5/16-N01 | MPHF1/2-N03
MPHF05-02 | MPHF10-03 | MPHF16-04 | MPHF5/32-02 | MPHF5/16-03 MPHF5/32-N02 | MPHF5/16-N02 | MPHF1/2-N04
MPHF06-01 | MPHF10-04 MPHF3/16-01 | MPHF5/16-04 MPHF3/16-N01 | MPHF5/16-N03
MPHF06-02 | MPHF12-01 MPHF3/16-02 | MPHF3/8-01 MPHF3/16-N02 | MPHF5/16-N04
MPHF08-01 | MPHF12-02 MPHF3/16-03 | MPHF3/8-02 MPHF3/16-N03 | MPHF3/8-N0O1
MPHF08-02 | MPHF12-03 MPHF1/4-01 MPHF3/8-03 MPHF1/4-N01 MPHF3/8-N02
MPHF08-03 | MPHF12-04 MPHF1/4-02 MPHF3/8-04 MPHF1/4-N02 MPHF3/8-N03

MPK

RIS (¢ D-T)/Model( ¢ D-T)

& (DN - 184 (R)
Tube-(Metric)-Thread(R)

& (&) -84 (R)
Tube-(Inch)-Thread(R)

& (&P -840 (NPT)
Tube-(Inch)-Thread(NPT)

&D

MPKO04-M5 MPKO08-01 MPK12-02 MPK1/8-01 MPK1/4-03 MPK1/2-02 MPK1/8-U10 MPK3/16-N03 MPK3/8-N0O1
MPK04-01 MPK08-02 MPK12-03 MPK1/8-02 MPK5/16-01 MPK1/2-03 MPK1/8-N01 MPK1/4-U10 MPK3/8-N02
MPK04-02 MPK08-03 MPK12-04 MPK5/32-01 MPK5/16-02 MPK1/2-04 MPK1/8-N02 MPK1/4-N01 MPK3/8-N03
MPKO05-M5 MPK08-04 MPK14-03 MPK5/32-02 MPK5/16-03 MPK5/32-U10 MPK1/4-N02 MPK3/8-N04
MPK05-01 MPK10-01 MPK14-04 MPK3/16-01 MPK5/16-04 MPK5/32-N01 MPK1/4-N03 MPK1/2-N02
MPK05-02 MPK10-02 MPK16-03 MPK3/16-02 MPK3/8-01 MPK5/32-N02 MPK5/16-N01 MPK1/2-N03
MPKO06-M5 MPK10-03 MPK16-04 MPK3/16-03 MPK3/8-02 MPK3/16-U10 MPK5/16-N02 MPK1/2-N04
MPK06-01 MPK10-04 MPK1/4-01 MPK3/8-03 MPK3/16-N01 MPK5/16-N03

MPK06-02 MPK12-01 MPK1/4-02 MPK3/8-04 MPK/16-N02 MPK5/16-N04

MDPK

&5 (¢ D-T)/Model( ¢ D-T)

B (AFHD) -84 (R)
Tube-(Metric)-Thread(R)

B () -84 (R)
Tube-(Inch)-Thread(R)

& (FE~T) -840 (NPT)
Tube-(Inch)-Thread(NPT)

MDPK04-M5 | MDPK08-01 | MDPK12-02 | MDPK1/8-08 MDPK1/4-03 | MDPK1/2-02 | MDPK1/8-U10 MDPK3/16-N03 MDPK3/8-NO1
MDPK04-01 | MDPK08-02 [ MDPK12-03 | MDPK1/8-02 | MDPK5/16-01 | MDPK1/2-03 | MDPK1/8-NO1 MDPK1/4-U10 MDPK3/8-N02
MDPK04-02 | MDPK08-03 | MDPK12-04 [ MDPK5/32-01 | MDPK5/16-02 | MDPK1/2-04 | MDPK1/8-N02 MDPK1/4-N01 MDPK3/8-N03
MDPK05-M5 | MDPK08-04 | MDPK14-03 | MDPK5/32-02 | MDPK5/16-03 MDPK5/32-U10 MDPK1/4-N02 MDPK3/8-N04
MDPK05-01 | MDPK10-01 | MDPK14-04 | MDPK3/16-01 | MDPK5/16-04 MDPKS5/32-N01 MDPK1/4-N03 MDPK1/2-N02
MDPKO05-02 | MDPK10-02 | MDPK16-03 | MDPK3/16-02 | MDPK3/8-01 MDPK5/32-N02 | MDPK5/16-NO1 MDPK1/2-N0O3
MDPKO06-M5 | MDPK10-03 | MDPK16-04 | MDPK3/16-03 | MDPK3/8-02 MDPK3/16-U10 | MDPK5/16-N02 MDPK1/2-N04
MDPKO06-01 | MDPK10-04 MDPK1/4-01 MDPK3/8-03 MDPK3/16-NO1 MDPK5/16-N03

MDPKO06-02 | MDPK12-01 MDPK1/4-02 MDPK3/8-04 MDPK3/16-N02 | MDPK5/16-N04

MTPK

&5 (¢ D-T)/Model( ¢ D-T)

B (NFD -84 (R)
Tube-(Metric)-Thread(R)

& (FED -84 (R)
Tube-(Inch)-Thread(R)

& (FE) -84 (NPT)
Tube-(Inch)-Thread(NPT)

MTPKO04-M5 | MTPKO08-01 | MTPK12-02 | MTPK1/8-01 MTPK1/4-03 MTPK1/2-02 MTPK1/8-U10 MTPK3/16-N03 | MTPK3/8-NO1
MTPK04-01 MTPK08-02 | MTPK12-03 | MTPK1/8-02 MTPK5/16-01 | MTPK1/2-03 MTPK1/8-N01 MTPK1/4-U10 MTPK3/8-N02
MTPKO04-02 | MTPK08-03 | MTPK12-04 | MTPK5/32-01 | MTPK5/16-02 | MTPK1/2-04 MTPK1/8-N02 MTPK1/4-N01 MTPK3/8-N03
MTPKO05-M5 | MTPKX08-04 | MTPK14-03 [ MTPK5/32-02 | MTPK5/16-03 MTPK5/32-U10 MTPK1/4-N02 MTPK3/8-N04
MTPKO05-01 MTPK10-01 | MTPK14-04 [ MTPK3/16-01 | MTPK5/16-04 MTPK5/32-N01 MTPK1/4-N03 MTPK1/2-N02
MTPKO05-02 | MTPK10-02 | MTPK16-03 | MTPK3/16-02 MTPK3/8-01 MTPK5/32-N02 [ MTPK5/16-N01 MTPK1/2-N0O3
MTPKO06-M5 | MTPK10-03 | MTPK16-04 | MTPK3/16-03 MTPK3/8-02 MTPK3/16-U10 | MTPK5/16-N02 | MTPK1/2-N04
MTPK06-01 MTPK10-04 MTPK1/4-01 MTPK3/8-03 MTPK3/16-N01 | MTPK5/16-N03

MTPK06-02 | MTPK12-01 MTPK1/4-02 MTPK3/8-04 MTPK3/16-N02 | MTPK5/16-N04

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

215



NPPC

PNEUMATIC

£ B JE#E L /Metal Push-in Fittings

| &£ B RiE$E L /Metal Push-in Fittings

FLUID AUTOMATIC COMPONENT

MPU #-S (¢ D)/Model($ D) MPV #S (¢ D)/Model( 4 D)
B (0FD & (&) B (D g (&
Tube(Metric) Tube(Inch) Tube(Metric) Tube(Inch)
MPU03 MPU1/8 MPV03 MPV1/8
MPU04 MPU5/32 MPV04 MPV5/32
( MPUO5 MPU3/16 ‘ MPV05 MPV3/16
! k‘ MPU06 MPU1/4 J (‘““"-‘*’ MPV06 MPV1/4
¥ o MPU08 MPUS5/16 @N > MPV08 MPV5/16
( MPU10 MPU3/8 Qﬁ MPV10 MPV3/8
\ MPU12 MPU1/2 ¢D 4 MPV12 MPV1/2
»D MPU14 MPV14
MPU16 MPV16
i+
|T—4 MPUT #-S (¢ D)/Model( ¢ D) MPY #-S (¢ D)/Model( ¢ D)
& & (BFD & (&D B (0FD) & (&
& Tube(Metric) Tube(Inch) Tube(Metric) Tube(Inch)
5 MPUTO03 MPUT1/8 MPY03 MPY1/8
& MPUTO04 MPUT5/32 ol MPY04 MPY5/32
- N MPUTO05 MPUT3/16 \ MPY05 MPY3/16
< a MPUT06 MPUT1/4 MPY06 MPY1/4
" ﬁ( S MPUTO08 MPUT5/16 \" K‘\, MPY08 MPY5/16
*\ o }Y« MPUT10 MPUT3/8 { & MPY10 MPY3/8
oD W f MPUT12 MPUT1/2 'D\ MPY12 MPY1/2
MPUT14 * MPY14
MPUT16 MPY16
MPM A5 (4 D)/Model( ¢ D) MPZA #1-E (¢ D)/Model( ¢ D)
& (AFHD & (& B (RFD & (&)
Tube(Metric) Tube(Inch) Tube(Metric) Tube(Inch)
MPMO03 MPM1/8 MPZA03 MPZA1/8
} MPMO04 MPM5/32 MPZA04 MPZA5/32
4 MPMO05 MPM3/16 MPZA05 MPZA3/16
‘\ MPMO06 MPM1/4 MPZA06 MPZA1/4
ab MPMO08 MPM5/16 MPZA08 MPZA5/16
. 4 MPM10 MPM3/8 MPZA10 MPZA3/8
AR MPM12 MPM1/2 MPZA12 MPZA1/2
MPM14 MPZA14
MPM16 MPZA16
MPPF #S (¢ D)/Model( ¢ D) MPP #2 (¢ D)/Model( ¢ D)
B (NFD g (& B (ED & (&)
Tube(Metric) Tube(Inch) Tube(Metric) Tube(Inch)
MPPF03 MPPF1/8 MPPO03 MPP1/8
MPPF04 MPPF5/32 MPP04 MPP5/32
h ] MPPF05 MPPF3/16 MPP05 MPP3/16
MPPF06 MPPF1/4 MPP06 MPP1/4
MPPF08 MPPF5/16 MPP08 MPP5/16
MPPF10 MPPF3/8 MPP10 MPP3/8
MPPF12 MPPF1/2 MPP12 MPP1/2
MPPF14 MPP14
MPPF16 MPP16
MPG #E (¢ D1- ¢ D2)/Model( ¢ D) MPTG #E (¢ D1- ¢ D2)/Model($ D1- ¢ D2)
& (D & (&) B (D g (&
Tube(Metric) Tube(Inch) Tube(Metric) Tube(Inch)
MPG03 MPG1/8 MPTG03 MPTG1/8
¢ D2 MPG04 MPG5/32 MPTG04 MPTG5/32
‘ MPG05 MPG3/16 MPTG05 MPTG3/16
MPG06 MPG1/4 MPTG06 MPTG1/4
MPG08 MPG5/16 MPTG08 MPTG5/16
3\;\\ MPG10 MPG3/8 MPTG10 MPTG3/8
agg ¥ MPG12 MPG1/2 MPTG12 MPTG1/2
MPG14 MPTG14
MPG16 MPTG16

A AR 8 M AR
216



NRPRC

PNEUMATIC

£ B PEE L Metal Push-in Fittings

| £ B 1RiEZ L /Metal Push-in Fittings

FLUID AUTOMATIC COMPONENT

MPGJ S (¢ D1-¢ D2)/Model($ D1- ¢ D2) MPLJ #1S (¢ D)/Model( ¢ D)
& (2FD & (& & (RED & (&
Tube(Metric) Tube(Inch) Tube(Metric) Tube(Inch)
MPGJ06-04 MPGJ1/4-5/32 MPLJ04 MPLJ1/8
'*',' o MPGJ08-04 MPGJ5/16-5/32 MPLJ05 MPLJ5/32
MPGJ08-06 MPGJ5/16-1/4 MPLJ06 MPLJ3/16
p MPGJ10-06 MPGJ3/8-1/4 MPLJ08 MPLJ1/4
w‘ ) MPGJ10-08 MPGJ3/8-5/16 * MPLJ10 MPLJ5/16
®p2 N MPGJ12-06 MPGJ1/2-1/4 < MPLJ12 MPLJ3/8
MPGJ12-08 ¢D #5, MPLI14 MPLJ1/2
MPGJ12-10 MPLJ16
*
IR
MPLGJ #S (¢ D1- ¢ D2)/Model( ¢ D1-¢ D2) MPTJ #2 (¢ D)/Model( ¢ D) g
g (%D & (%D & (AFHD g (& B
Tube(Metric) Tube(Inch) Tube(Metric) Tube(Inch) Lt
MPLGJ06-04 MPLGJ1/4-5/32 MPTJ04 MPTJ1/8
- MPLGJ08-04 MPLGJ5/16-5/32 MPTJO5 MPTJ5/32
/‘ Y MPLGJ08-06 MPLGJ5/16-1/4 MPTJ06 MPTJ3/16
/ \/mz MPLGJ10-06 MPLGJ3/8-1/4 MPTJ08 MPTJ1/4
¢D1 MPLGJ10-08 MPLGJ3/8-5/16 MPTJ10 MPTJ5/16
MPLGJ12-06 MPLGJ1/2-1/4 MPTJ12 MPTJ3/8
MPLGJ12-08 MPTJ14 MPTJ1/2
MPLGJ12-10 MPTJ16
MPTGJ S (¢ D1- ¢ D2)/Model( $ D1- ¢ D2) MPDJ #15 (4 D)/Model( ¢ D)
E (2FD & (F&D & (AFD & (&ED
Tube(Metric) Tube(Inch) Tube(Metric) Tube(Inch)
MPTGJ06-04 MPTGJ1/4-5/32 MPDJ04 MPDJ1/8
MPTGJ08-04 MPTGJ5/16-5/32 /?‘ i MPDJ05 MPDJ5/32
MPTGJ08-06 MPTGJ5/16-1/4 : MPDJ06 MPDJ3/16
MPTGJ10-06 MPTGJ3/8-1/4 MPDJO08 MPDJ1/4
MPTGJ10-08 MPTGJ3/8-5/16 MPDJ10 MPDJ5/16
D1 MPTGJ12-06 MPTGJ1/2-1/4 MPDJ12 MPDJ3/8
MPTGJ12-08 f MPDJ14 MPDJ1/2
MPTGJ12-10 MPDJ16
MPDGJ #IE (¢ D1- ¢ D2)/Model( ¢ D1- ¢ D2) MPXJ #E (¢ D)/Model( ¢ D)
& (2FD & (& & (2D & (D
Tube(Metric) Tube(Inch) Tube(Metric) Tube(Inch)
MPDGJ06-04 MPDGJ1/4-5/32 MPXJ04 MPXJ1/8
‘/?‘ MPDGJ08-04 MPDGJ5/16-5/32 MPXJ05 MPXJ5/32
o< '{ MPDGJ08-06 MPDGJ5/16-1/4 MPXJ06 MPXJ3/16
MPDGJ10-06 MPDGJ3/8-1/4 MPXJ08 MPXJ1/4
S m #D2 MPDGJ10-08 MPDGJ3/8-5/16 MPXJ10 MPXJ5/16
MPDGJ12-06 MPDGJ1/2-1/4 o MPXJ12 MPXJ3/8
MPDGJ12-08 ‘ MPXJ14 MPXJ1/2
MPDGJ12-10 MPXJ16
MPXGJ #IS (¢ D1- ¢ D2)/Model( ¢ D1- ¢ D2)
B (2FD & (&
Tube(Metric) Tube(Inch)
MPXGJ06-04 MPXGJ1/4-5/32
MPXGJ08-04 MPXGJ5/16-5/32
MPXGJ08-06 MPXGJ5/16-1/4
MPXGJ10-06 MPXGJ3/8-1/4
MPXGJ10-08 MPXGJ3/8-5/16
4 B B MPXGJ12-06 MPXGJ1/2-1/4
MPXGJ12-08
MPXGJ12-10

AR BMREE 3 7= S B A9 AR
a " 217



NPPC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

218

EBRIEEL (75 O BE) /Metal Push-in Fittings with g thread (O-Ring)

| &£ERiEZL (5 O 2@E) /Metal Push-in Fittings with g thread (O-Ring)

MPC-G

A2 (¢ D-T)/Model( ¢ D-T)

MPOC-G

A5 (¢ D-T)/Model( ¢ D-T)

B (NED 124 (G)
Tube-(Metric)-Thread(G)

B (AH)D -84 (G)
Tube-(Metric)-Thread(G)

MPCO03-G01 MPC10-G02 MPOCO03-G01 MPOC10-G02
MPC04-G01 MPC10-G03 MPOC04-G01 MPOC10-G03
$¢D MPC04-G02 MPC10-G04 MPOC04-G02 MPOC10-G04
% MPCO05-G01 MPC10-G01 MPOC05-G01 MPOC12-G01
X MPC05-G02 MPC12-G02 MPOC05-G02 MPOC12-G02
) MPC06-G01 MPC12-G03 MPOCO06-G01 MPOC12-G03
MPC06-G02 MPC12-G04 MPOCO06-G02 MPOC12-G04
\ MPC08-G01 MPC14-G03 MPOCO08-G01 MPOC14-G03
T MPC08-G02 MPC14-G04 MPOC08-G02 MPOC14-G04
MPC08-G03 MPC16-G03 MPOCO08-G03 MPOC16-G03
MPC08-G04 MPC16-G04 MPOCO08-G04 MPOC16-G04
MPC10-G01 MPOC10-G01
MPL-G #S (¢ D-T)/Model( ¢ D-T) MPLL-G &S (¢ D-T)/Model( ¢ D-T)

& (D) - 1245 (G)
Tube-(Metric)-Thread(G)

E (2F) -84 (G)
Tube-(Metric)-Thread(G)

MPL03-G01 MPL10-G02 MPLL03-GO1 MPLL10-G02
MPL04-G01 MPL10-G03 MPLL04-GO1 MPLL10-G03
MPL04-G02 MPL10-G04 ‘\\ MPLL04-G02 MPLL10-G04
MPL05-G01 MPL10-GO1 % MPLL05-GO1 MPLL12-GO1
MPL05-G02 MPL12-G02 . \._4'}>t MPLL05-G02 MPLL12-G02
MPL06-G01 MPL12-G03 4 MPLL06-GO1 MPLL12-G03
MPL06-G02 MPL12-G04 ® &0 MPLL06-G02 MPLL12-G04
MPLO08-GO01 MPL14-G03 MPLL08-GO1 MPLL14-G03
MPL08-G02 MPL14-G04 MPLL08-G02 MPLL14-G04
MPL08-G03 MPL16-G03 MPLL08-G03 MPLL16-G03
MPL08-G04 MPL16-G04 MPLL08-G04 MPLL16-G04
MPL10-G01 MPLL10-G01
MPT-G A5 (¢ D-T)/Model( ¢ D-T) MPD-G #S (¢ D-T)/Model( ¢ D-T)
& (D) - 1345 (G) T (2F) -84 (G)
Tube-(Metric)-Thread(G) Tube-(Metric)-Thread(G)

MPTO03-GO1 MPT10-G02 MPD03-GO1 MPD10-G02
MPTO04-GO1 MPT10-G03 MPD04-GO1 MPD10-G03
MPT04-G02 MPT10-G04 4D MPD04-G02 MPD10-G04
MPT05-G01 MPT10-GO1 ‘ MPD05-GO1 MPD12-G01
MPT05-G02 MPT12-G02 4t % MPD05-G02 MPD12-G02
MPT06-G01 MPT12-G03 presy MPD06-GO1 MPD12-G03
MPT06-G02 MPT12-G04 4 ) M > MPD06-G02 MPD12-G04
MPTO08-G01 MPT14-G03 MPD08-GO01 MPD14-G03
MPTO08-G02 MPT14-G04 ! J MPD08-G02 MPD14-G04
MPT08-G03 MPT16-G03 b MPD08-G03 MPD16-G03
MPT08-G04 MPT16-G04 MPD08-G04 MPD16-G04
MPT10-G01 MPD10-GO1

MTPK-G

#I= (¢ D-T)/Model( ¢ D-T)

& (D) - 124 (G)
Tube-(Metric)-Thread(G)

MTPK04-G01 MTPK10-G03
MTPK04-G02 MTPK10-G04
MTPK05-GO1 MTPK12-GO1
MTPKO05-G02 MTPK12-G02
MTPK06-GO1 MTPK12-G03
MTPK06-G02 MTPK12-G04
MTPK08-G01 MTPK14-G03
MTPK08-G02 MTPK14-G04
MTPKO08-G03 MTPK16-G03
MTPKO08-G04 MTPK16-G04
MTPK10-GO1

MTPK10-G02

RO B REE X7 R i A AR




ERPEEL (7 O BUE) /Metal Push-in Fittings with g thread (O-Ring)

I & hiEiES (% 0 2L E) /Metal Push-in Fittings with g thread (O-Ring)

MPX-G

ZIS (¢ D-T)/Model( ¢ D-T)

MPCJ-G

FI2 (¢ D-T)/Model( ¢ D-T)

‘\ $D
\‘

& (2D - 124 (G)
Tube-(Metric)-Thread(G)

MPX04-G01 MPX10-G03
MPX04-G02 MPX10-G04
MPX05-G01 MPX12-G01
MPX05-G02 MPX12-G02
MPX06-G01 MPX12-G03
MPX06-G02 MPX12-G04
MPX08-G01 MPX14-G03
MPX08-G02 MPX14-G04
MPX08-G03 MPX16-G03
MPX08-G04 MPX16-G04
MPX10-G01

MPX10-G02

& (aF) -84 (G)
Tube-(Metric)-Thread(G)

MPCJ04-G01 MPCJ10-G03
MPCJ04-G02 MPCJ10-G04
MPCJ05-G01 MPCJ12-G01
MPCJ05-G02 MPCJ12-G02
MPCJ06-G01 MPCJ12-G03
MPCJ06-G02 MPCJ12-G04
MPCJ08-G01 MPCJ14-G03
MPCJ08-G02 MPCJ14-G04
MPCJ08-G03 MPCJ16-G03
MPCJ08-G04 MPCJ16-G04
MPCJ10-G01

MPCJ10-G02

MPH-G #S (¢ D-T)/Model( ¢ D-T) MDPH-G #IS (¢ D-T)/Model( ¢ D-T)
& (AFD - 124 (G) & (F)D -84 (G)
Tube-(Metric)-Thread(G) Tube-(Metric)-Thread(G)
MPH04-G01 MPH10-G03 MDPH04-G01 MDPH10-G03
MPH04-G02 MPH10-G04 MDPH04-G02 MDPH10-G04
MPH05-G01 MPH12-G01 MDPH05-GO01 MDPH12-G01
\».,, MPH05-G02 MPH12-G02 MDPH05-G02 MDPH12-G02
MPHO06-GO1 MPH12-G03 MDPHO06-G01 MDPH12-G03
.- MPH06-G02 MPH12-G04 MDPH06-G02 MDPH12-G04
2 MPH08-G01 MPH14-G03 MDPH08-G01 MDPH14-G03
T . MPH08-G02 MPH14-G04 MDPH08-G02 MDPH14-G04
s MPH08-G03 MPH16-G03 MDPH08-G03 MDPH16-G03
MPHO08-G04 MPH16-G04 MDPH08-G04 MDPH16-G04
MPH10-G01 MDPH10-G01
MPH10-G02 MDPH10-G02
MTPH-G B5 (¢ D-T)/Model( ¢ D-T) PHF-G #5 (¢ D-T)/Model( ¢ D-T)

B (AFD -1 (G)
Tube-(Metric)-Thread(G)

MTPH04-GO1 MTPH10-G03
MTPHO04-G02 MTPH10-G04
MTPHO05-G01 MTPH12-G01
MTPHO05-G02 MTPH12-G02
MTPHO06-GO1 MTPH12-G03
MTPH06-G02 MTPH12-G04
MTPH08-GO01 MTPH14-G03
MTPHO08-G02 MTPH14-G04
MTPHO08-G03 MTPH16-G03
MTPHO08-G04 MTPH16-G04
MTPH10-G01

MTPH10-G02

B (AFHD -84 (G)
Tube-(Metric)-Thread(G)

PHF04-G01 PHF10-G03
PHF04-G02 PHF10-G04
PHF05-GO01 PHF12-G01
PHF05-G02 PHF12-G02
PHF06-G01 PHF12-G03
PHF06-G02 PHF12-G04
PHF08-G01 PHF14-G03
PHF08-G02 PHF14-G04
PHF08-G03 PHF16-G03
PHF08-G04 PHF16-G04
PHF10-GO1

PHF10-G02

MPK-G

EI2 (¢ D-T)/Model( ¢ D-T)

MDPK-G

2 (¢ D-T)/Model( ¢ D-T)

B (AFD -1 (G)
Tube-(Metric)-Thread(G)

MPK04-G01 MPK10-G03
MPK04-G02 MPK10-G04
MPK05-G01 MPK12-G01
MPK05-G02 MPK12-G02
MPK06-G01 MPK12-G03
MPK06-G02 MPK12-G04
MPKO08-GO01 MPK14-G03
MPK08-G02 MPK14-G04
MPK08-G03 MPK16-G03
MPK08-G04 MPK16-G04
MPK10-GO01

MPK10-G02

B (AFHD -84 (G)
Tube-(Metric)-Thread(G)

MDPK04-G01 MDPK10-G03
MDPK04-G02 MDPK10-G04
MDPKO05-G01 MDPK12-G01
MDPKO05-G02 MDPK12-G02
MDPKO06-G01 MDPK12-G03
MDPK06-G02 MDPK12-G04
MDPK08-GO01 MDPK14-G03
MDPKO08-G02 MDPK14-G04
MDPKO08-G03 MDPK16-G03
MDPKO08-G04 MDPK16-G04
MDPK10-G01

MDPK10-G02

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

219



NPPC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

220

T #E4NIE K /Stainless Steel Pvsh-in Fittings

| F54W#E L /Stainless Steel Pvsh-in Fittings

MPCS

RIE (¢ D-T)/Model($ D-T)

B (AFED) -84 (R)
Tube-(Metric)-Thread(R)

& (D) -84 (G)
Tube-(Inch)-Thread(G)

& (&) - 1850 (NPT)
Tube-(Inch)-Thread(NPT)

MPCS04-M5 | MPCS08-01 | MPCS10-03 | MPCS04-G01 | MPCS08-G03 [ MPCS12-G02 | MPCS1/8-U10 MPCS1/4-N01 MPCS3/8-N02

MPCS04-01 | MPCS08-02 | MPCS10-04 | MPCS04-G02 | MPCS08-G04 | MPCS12-G03 | MPCS1/8-N01 MPCS1/4-N02 MPCS3/8-N03

MPCS04-02 | MPCS08-03 | MPCS12-02 | MPCS06-G01 | MPCS10-G01 | MPCS12-G04 | MPCS1/8-N02 MPCS1/4-N03 MPCS3/8-N04

MPCS06-M5 | MPCS08-04 | MPCS12-03 | MPCS06-G02 | MPCS10-G02 MPCS5/32-U10 | MPCS5/16-N01 | MPCS1/2-N02

MPCS06-01 | MPCS10-01 | MPCS12-04 | MPCS08-G01 | MPCS10-G03 MPCS5/32-N01 | MPCS5/16-N02 | MPCS1/2-N03

MPCS06-02 | MPCS10-02 MPCS08-G02 | MPCS10-G04 MPCS5/32-N02 | MPCS5/16-N03 [ MPCS1/2-N04
MPCS1/4-U10 MPCS3/8-N01

MPLS

A1 (¢ D-T)/Model( ¢ D-T)

B (AFED) -84 (R)
Tube-(Metric)-Thread(R)

& () -84 (G)
Tube-(Inch)-Thread(G)

& (&) - 1250 (NPT)
Tube-(Inch)-Thread(NPT)

MPLS04-M5 | MPLS08-01 | MPLS10-03 | MPLS04-G01 | MPLS08-G03 | MPLS12-G02 | MPLS1/8-U10 MPLS1/4-NO1 MPLS3/8-N02

MPLS04-01 | MPLS08-02 | MPLS10-04 [ MPLS04-G02 | MPLS08-G04 | MPLS12-G03 [ MPLS1/8-NO1 MPLS1/4-N02 MPLS3/8-N03

MPLS04-02 | MPLS08-03 | MPLS12-02 | MPLS06-GO1 MPLS10-G01 | MPLS12-G04 | MPLS1/8-N02 MPLS1/4-N03 MPLS3/8-N04

MPLS06-M5 | MPLS08-04 | MPLS12-03 [ MPLS06-G02 | MPLS10-G02 MPLS5/32-U10 | MPLS5/16-NO1 MPLS1/2-N02

MPLS06-01 | MPLS10-01 | MPLS12-04 | MPLS08-GO01 MPLS10-G03 MPLS5/32-N01 | MPLS5/16-N02 [ MPLS1/2-N03

MPLS06-02 | MPLS10-02 MPLS08-G02 | MPLS10-G04 MPLS5/32-N02 | MPLS5/16-N03 | MPLS1/2-N04
MPLS1/4-U10 MPLS3/8-N01

MPCFS #2 (¢ D-T)/Model( ¢ D-T)
& (N -2y (R) T (&) -84 (G) & (F&D) -840 (NPT)
Tube-(Metric)-Thread(R) Tube-(Inch)-Thread(G) Tube-(Inch)-Thread(NPT)
MPCFS04-M5 MPCFS10-01 MPCFS04-G01 MPCFS10-G03 MPCFS1/8-U10 MPCFS5/16-N01
MPCFS04-01 MPCFS10-02 MPCFS04-G02 MPCFS10-G04 MPCFS1/8-N0O1 MPCFS5/16-N02
MPCFS04-02 MPCFS10-03 MPCFS06-G01 MPCFS12-G02 MPCFS1/8-N02 MPCFS5/16-N03
MPCFS06-M5 MPCFS10-04 MPCFS06-G02 MPCFS12-G03 MPCFS5/32-U10 MPCFS3/8-N01
MPCFS06-01 MPCFS12-02 MPCFS08-G01 MPCFS12-G04 MPCFS5/32-N01 MPCFS3/8-N02
MPCFS06-02 MPCFS12-03 MPCFS08-G02 MPCFS5/32-N02 MPCFS3/8-N03
MPCFS08-01 MPCFS12-04 MPCFS08-G03 MPCFS1/4-U10 MPCFS3/8-N04
¥ MPCFS08-02 MPCFS08-G04 MPCFS1/4-N01 MPCFS1/2-N02
MPCFS08-03 MPCFS10-G01 MPCFS1/4-N02 MPCFS1/2-N03
MPCFS08-04 MPCFS10-G02 MPCFS1/4-N03 MPCFS1/2-N04
MPTS #E (¢ D-T)/Model( ¢ D-T)
B (%D -84 (R) & (&) -84 (G) & (&) -84 (NPT)
Tube-(Metric)-Thread(R) Tube-(Inch)-Thread(G) Tube-(Inch)-Thread(NPT)
MPTS04-M5 MPTS10-01 MPTS04-G01 MPTS10-G03 MPTS1/8-U10 MPTS5/16-N01
MPTS04-01 MPTS10-02 MPTS04-G02 MPTS10-G04 MPTS1/8-NO1 MPTS5/16-N02
MPTS04-02 MPTS10-03 MPTS06-GO1 MPTS12-G02 MPTS1/8-N02 MPTS5/16-N03
MPTS06-M5 MPTS10-04 MPTS06-G02 MPTS12-G03 MPTS5/32-U10 MPTS3/8-NO1
MPTS06-01 MPTS12-02 MPTS08-GO1 MPTS12-G04 MPTS5/32-N01 MPTS3/8-N02
MPTS06-02 MPTS12-03 MPTS08-G02 MPTS5/32-N02 MPTS3/8-N03
MPTS08-01 MPTS12-04 MPTS08-G03 MPTS1/4-U10 MPTS3/8-N04
MPTS08-02 MPTS08-G04 MPTS1/4-NO1 MPTS1/2-N02
MPTS08-03 MPTS10-GO1 MPTS1/4-N02 MPTS1/2-N03
MPTS08-04 MPTS10-G02 MPTS1/4-N03 MPTS1/2-N04
MPUCS &S (¢ D)/Model( ¢ D) MPULS #E (¢ D)/Model( ¢ D)
B CATHD CEC D) B AHD ()
Tube(Metric) Tube(Inch) Tube(Metric) Tube(Inch)
MPUCS04 MPUCS1/8 / MPULS04 MPULS1/8
MPUCS06 MPUCS5/32 ’ MPULS06 MPULS5/32
F MPUCS08 MPUCS1/4 MPULS08 MPULS1/4
% MPUCS10 MPUCS5/16 MPULS10 MPULS5/16
MPUCS12 MPUCS3/8 MPULS12 MPULS3/8
MPUCS1/2 MPULS1/2
MPUTS #-S (¢ D)/Model( ¢ D) MPMS #Z (¢ D)/Model( ¢ D)
B CAHD EHE R B CAHD ()
Tube(Metric) Tube(Inch) Tube(Metric) Tube(Inch)
! - MPUTS04 MPUTS1/8 MPMS04 MPMS1/8
i - MPUTS06 MPUTS5/32 MPMS06 MPMS5/32
d MPUTS08 MPUTS1/4 MPMS08 MPMS1/4
&D \ 3 MPUTS10 MPUTS5/16 MPMS10 MPMS5/16
',//’A MPUTS12 MPUTS3/8 MPMS12 MPMS3/8
MPUTS1/2 MPMS1/2

RO B REE X7 R i A AR




£ B % # /Metal Speed Controls

J £/EiA%® /Metal Speed Controls

fﬁ)f—l_'\ / %ﬂ’]‘g /Feature/Size

(S
2. EMEENSEHRIESEDSENRELRE.

Features:

1 B PEEIET LRSI SR AN MM S BRI T TIEE -

1.The user can control the air circuit pressure accurately by controlling the volume of air flow,
2.The tighter structure ensure the velocity and the flow rate of the gas in air circuit.

L BERBRIMR: FER. BHEMR: TRIZE GPRRETESD
Material Body and colletNickel-plated Brass O-ringNBR(other material is available on request
BRI PT, GH24r, B
Threads BSPT. BSPP,NPT,Metric threads
SHEH 0.8-16bar (1R#}ESE) PU, PE, BAE 6-11-12
Pressure Tube to connect 0.8-16bar(see tube),PU,PE,Nylon 6-11-12
s ERES
Fiuid Compressed air
mE -10°C~60°C (RIESEMEEE
Temperature -10-60°C(see data of used tubing)
A5 (¢ D-T)/Model( ¢ D-T)
MNSE B (RFD -89 (R) & (&) -8y (R) & (&) -84 (R)
Tube-(Metric)-Thread(R) Tube-(Inch)-Thread(R) Tube-(Inch)-Thread(R)
MNSE04-M5 MNSE08-03 MNSE1/8 -01 MNSE5/16-3 MNSE1/8-U10 MNSE1/4-N02
MNSE04-M6 MNSEO08-04 MNSE1/8-02 MNSE5-16-04 MNSE1/8-N01 MNSE1/4-N03
MNSE04-01 MNSE10-01 MNSE5/32-01 MNSE3/8-01 MNSE1/8-N02 MNSE5/16-N01
MNSE04-02 MNSE10-02 MNSE5/32-02 MNSE3/8-02 MNSE5/32-U10 MNSE5/16-N02
MNSE04-03 MNSE10-03 MNSE3/16-01 MNSE3/8-03 MNSE5/32-N01 MNSE5/16-N03
MNSE06-M5 MNSE10-04 MNSE3/16-02 MNSE3/8-04 MNSE5/32-N02 MNSE3/8-N01
MNSE06-M6 MNSE12-01 MNSE3/16-03 MNSE1/2-02 MNSE3/16-U10 MNSE3/8-N02
MNSEO06-01 MNSE12-02 MNSE1/4-01 MNSE1/2-03 MNSE3/16-N01 MNSE3/8-N03
MNSE06-02 MNSE12-03 MNSE1/4-02 MNSE1/2-04 MNSE3/16-N02 MNSE3/8-N04
»D MNSE06-03 MNSE12-04 MNSE1/4-03 MNSE3/16-N03 MNSE1/2-N02
MNSE08-01 MNSE16-03 MNSE5/16-01 MNSE1/4-U10 MNSE1/2-N03
MNSE08-02 MNSE16-04 MNSE5/16-02 MNSE1/4-N01 MNSE1/2-N04
MNSE-G #S (¢ D-T)/Model( ¢ D-T) MNSP-G &2 (¢ D-T)/Model( ¢ D-T)
& (A% - 184 (G) & (L% - 184 (G)
Tube-(Metric)-Thread(G) Tube-(Metric)-Thread(G)
MNSE04-G01 MNSE10-G03 MNSP04-G01 MNSP10-G03
MNSE04-G02 MNSE10-G04 MNSP04-G02 MNSP10-G04
MNSE05-G01 MNSE12-G01 MNSP05-G01 MNSP12-G01
MNSE05-G02 MNSE 12-G02 MNSP05-G02 MNSP12-G02
MNSE06-G01 MNSE12-G03 MNSP06-G01 MNSP12-G03
MNSE06-G02 MNSE12-G04 MNSP06-G02 MNSP12-G04
MNSE08-G01 MNSE14-G03 MNSP08-G01 MNSP14-G03
MNSE08-G02 MNSE 14-G04 MNSP08-G02 MNSP14-G04
MNSE08-G03 MNSE16-G03 oD MNSP08-G03 MNSP16-G03
MNSE08-G04 MNSE16-G04 MNSP08-G04 MNSP16-G04
MNSE10-G01 MNSP10-G01
MNSE10-G02 MNSP10-G02
S (¢ D-T)/Model( ¢ D-T)
MNSP B (QFD 1240 (R) & (&) -8y (R) & (&) -8By (R)
Tube-(Metric)-Thread(R) Tube-(Inch)-Thread(R) Tube-(Inch)-Thread(R)
MNSP04-M5 MNSP08-03 MNSP1/8 -01 MNSP5/16-3 MNSP1/8-U10 MNSP1/4-N02
MNSP04-M6 MNSP08-04 MNSP1/8-02 MNSP5-16-04 MNSP1/8-N01 MNSP1/4-N03
MNSP04-01 MNSP10-01 MNSP5/32-01 MNSP3/8-01 MNSP1/8-N02 MNSP5/16-N01
MNSP04-02 MNSP10-02 MNSP5/32-02 MNSP3/8-02 MNSP5/32-U10 MNSP5/16-N02
MNSP04-03 MNSP10-03 MNSP3/16-01 MNSP3/8-03 MNSP5/32-N01 MNSP5/16-N03
MNSP06-M5 MNSP10-04 MNSP3/16-02 MNSP3/8-04 MNSP5/32-N02 MNSP3/8-NO1
MNSP06-M6 MNSP12-01 MNSP3/16-03 MNSP1/2-02 MNSP3/16-U10 MNSP3/8-N02
MNSP06-01 MNSP12-02 MNSP1/4-01 MNSP1/2-03 MNSP3/16-N01 MNSP3/8-N03
MNSP06-02 MNSP12-03 MNSP1/4-02 MNSP1/2-04 MNSP3/16-N02 MNSP3/8-N04
MNSP06-03 MNSP12-04 MNSP1/4-03 MNSP3/16-N03 MNSP1/2-N02
MNSP08-01 MNSP16-03 MNSP5/16-01 MNSP1/4-U10 MNSP1/2-N03
MNSP08-02 MNSP16-04 MNSP5/16-02 MNSP1/4-N01 MNSP1/2-N04

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

221



NPPC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

222

RiTE %k /Rapid Fittings

TKN-SL

A5 (¢ D-T)/Model( ¢ D-T) MNSE #15 (¢ D-T)/Model( $ D-T)
B (A% -84 (G) & (&) -84 (G) B (DD & (F&D
Tube-(Metric)-Thread(G) Tube-(Inch)-Thread(G) Tube-(Metric) | Tube-(Inch)
TKNSL-5/3-M5 |TKNSL-8/6-03 TKNSL-5/3-G01 | TKNSL-10/8-G04 MNSF04 MNSF1/8
TKNSL-5/3-M6 [TKNSL-10/8-01 |TKNSL-6/4-G01 [TKNSL-12/10-G03 MNSF06 MNSF5/32
TKNSL-5/3-01 [TKNSL-10/8-02 |TKNSL-6/4-G02 [TKNSL-12/10-G04 MNSF08 MNSF3/16
TKNSL-6/4-M5 |TKNSL-10/8-03 |TKNSL-6/4-G03 MNSF10 MNSF1/4
TKNSL-6/4-M6 |[TKNSL-10/8-04 |TKNSL-8/6-G01 e MNSF12 MNSF5/16
TKNSL-6/4-01 [TKNSL-12/10-03 |TKNSL-8/6-G02 I i dD MNSF3/8
TKNSL-6/4-02 |TKNSL-12/10-04 |TKNSL-8/6-G03 4 MNSF1/2
TKNSL-6/4-03 TKNSL-10/8-G01 ez
TKNSL-8/6-01 TKNSL-10/8-G02 D
TKNSL-8/6-02 TKNSL-10/8-G03

J 7 E1E L /Rapid Fittings

455 [ HFE IFeature/Size

T R EELA SR LB B L.
2. PRITEEIESAH R B FRTAREE.

3. SERZELHHRNEHER G AT UABRHE R SEEREINSBAEIET.

1.Push in fitting can be used with nylon pipe.

2.The push-in fittings' clips can be fastoned by tools or hand|
3.The special conical design at the pipe's installation part can effectively|

lavoid the cutting of pipe caused by accident.

Tube-(Metric)-Thread(R)

R BRI B : RER. BHEMR: TG MRAES)
Material Body and colletNickel-plated Brass O-ringNBR(other material is available on request
BRLTHAR PT, G4, AHIRLL
Threads BSPT. BSPP,NPT,Metric threads
SBEN 0.8-16bar (R#ESE) PU, PE, BRE 6-11-12
Pressure Tube to connect 0.8-16bar(see tube),PU,PE,Nylon 6-11-12
K EHE=S
Fiuid Compressed air
IR -10°C~60°C (RIBIEMEEE
Temperature -10-60°C(see data of used tubing)
A5 (¢ D-T)/Model(  D-T)
TKN-PC F (A% -84 (R) B (A% -84 (G)

Tube-(Metric)-Thread(G)

TKNPC-5/3-M5

TKNPC-6/4-02

TKNPC-10/8-02

TKNPC-5/3-G01

TKNPC-8/6-G02

TKNPC-10/8-G04

TKNPC-5/3-M6

TKNPC-6/4-03

TKNPC-10/8-03

TKNPC-6/4-G01

TKNPC-8/6-G03

TKNPC-12/10-G03

TKNPC-5/3-01

TKNPC-8/6-01

TKNPC-10/8-04

TKNPC-6/4-G02

TKNPC-10/8-G01

TKNPC-12/10-G04

TKNPC-6/4-M5

TKNPC-8/6-02

TKNPC-12/10-03

TKNPC-6/4-G03

TKNPC-10-8-G02

o

TKNPC-6/4-M6

TKNPC-8/6-03

TKNPC-12/10-04

TKNPC-8/6-G01

TKNPC-10/8-G03

TKNPC-6/4-01

TKNPC-10/8-01

#I2 (¢ D-T)/Model( ¢ D-T)

TKN-PCF

B (AE)D -84 (R)
Tube-(Metric)-Thread(R)

B (AFHD -89 (G)
Tube-(Metric)-Thread(G)

TKNPCF-5/3-M5

TKNPCF-6/4-02

TKNPCF-10/8-02

TKNPCF-5/3-G01

TKNPCF-8/6-G02

TKNPCF-10/8-G04

TKNPCF-5/3-M6

TKNPCF-6/4-03

TKNPCF-10/8-03

TKNPCF-6/4-G01

TKNPCF-8/6-G03

TKNPCF-12/10-G03

TKNPCF-5/3-01

TKNPCF-8/6-01

TKNPCF-10/8-04

TKNPCF-6/4-G02

TKNPCF-10/8-G01

TKNPCF-12/10-G04

TKNPCF-6/4-M5

TKNPCF-8/6-02

TKNPCF-12/10-03

TKNPCF-6/4-G03

TKNPCF-10-8-G02

TKNPCF-6/4-M6

TKNPCF-8/6-03

TKNPCF-12/10-04

TKNPCF-8/6-G01

TKNPCF-10/8-G03

TKNPCF-6/4-01

TKNPCF-10/8-01

S (¢D-T

/Model( ¢ D-T)

TKN-PL

B (MDD -84 (R)
Tube-(Metric)-Thread(R)

ke
==
B

() - 184 (G)

Tube-(Metric)-Thread(G)

TKNPL-5/3-M5

TKNPL-6/4-02

TKNPL-10/8-02

TKNPL-5/3-G01

TKNPL-8/6-G02

TKNPL-10/8-G04

TKNPL-5/3-M6

TKNPL-6/4-03

TKNPL-10/8-03

TKNPL-6/4-G01

TKNPL-8/6-G03

TKNPL-12/10-G03

TKNPL-5/3-01

TKNPL-8/6-01

TKNPL-10/8-04

TKNPL-6/4-G02

TKNPL-10/8-G01

TKNPL-12/10-G04

TKNPL-6/4-M5

TKNPL-8/6-02

TKNPL-12/10-03

TKNPL-6/4-G03

TKNPL-10-8-G02

TKNPL-6/4-M6

TKNPL-8/6-03

TKNPL-12/10-04

TKNPL-8/6-G01

TKNPL-10/8-G03

TKNPL-6/4-01

TKNPL-10/8-01

RO B REE X7 R i A AR




1R#7E L /Rapid Fittings

TKN-PLN

A2 (¢ D-T)/Model( ¢ D-T)

& (NED -8 (R)
Tube-(Metric)-Thread(R)

B (D -84 (G)
Tube-(Metric)-Thread(G)

D

Vo .-
A

TKNPLN-5/3-M5

TKNPLN-6/4-02

TKNPLN-10/8-02

TKNPLN-5/3-G01

TKNPLN-8/6-G02

TKNPLN-10/8-G04

TKNPLN-5/3-M6

TKNPLN-6/4-03

TKNPLN-10/8-03

TKNPLN-6/4-G01

TKNPLN-8/6-G03

TKNPLN-12/10-

G03

TKNPLN-5/3-01

TKNPLN-8/6-01

TKNPLN-10/8-04

TKNPLN-6/4-G02

TKNPLN-10/8-G01

TKNPLN-12/10-G04

TKNPLN-6/4-M5

TKNPLN-8/6-02

TKNPLN-12/10-03

TKNPLN-6/4-G03

TKNPLN-10-8-G02

TKNPLN-6/4-M6

TKNPLN-8/6-03

TKNPLN-12/10-04

TKNPLN-8/6-G01

TKNPLN-10/8-G03

TKNPLN-6/4-01

TKNPLN-10/8-01

TKN-PLF

A5 (¢ D-T)/Model( $ D-T)

& (AFD - 129 (R)
Tube-(Metric)-Thread(R)

B (AFH) -8By (G)
Tube-(Metric)-Thread(G)

Ca

TKNPLF-5/3-M5

TKNPLF-6/4-02

TKNPLF-10/8-02

TKNPLF-5/3-G01

TKNPLF-8/6-G02

TKNPLF-10/8-G04

TKNPLF-5/3-M6

TKNPLF-6/4-03

TKNPLF-10/8-03

TKNPLF-6/4-G01

TKNPLF-8/6-G03

TKNPLF-12/10-G03

TKNPLF-5/3-01

TKNPLF-8/6-01

TKNPLF-10/8-04

TKNPLF-6/4-G02

TKNPLF-10/8-G01

TKNPLF-12/10-G04

TKNPLF-6/4-M5

TKNPLF-8/6-02

TKNPLF-12/10-03

TKNPLF-6/4-G03

TKNPLF-10-8-G02

TKNPLF-6/4-M6

TKNPLF-8/6-03

TKNPLF-12/10-04

TKNPLF-8/6-G01

TKNPLF-10/8-G03

TKNPLF-6/4-01

TKNPLF-10/8-01

TKN-PB

F12 (¢ D-T)/Model( ¢ D-T)

B (AED -2 (R)
Tube-(Metric)-Thread(R)

& (AFD - 124 (G)
Tube-(Metric)-Thread(G)

TKNPB-5/3-M5

TKNPB-6/4-02

TKNPB-10/8-02

TKNPB-5/3-G01

TKNPB-8/6-G02

TKNPB-10/8-G04

TKNPB-5/3-M6

TKNPB-6/4-03

TKNPB-10/8-03

TKNPB-6/4-G01

TKNPB-8/6-G03

TKNPB-12/10-G03

TKNPB-5/3-01

TKNPB-8/6-01

TKNPB-10/8-04

TKNPB-6/4-G02

TKNPB-10/8-G01

TKNPB-12/10-G04

TKNPB-6/4-M5

TKNPB-8/6-02

TKNPB-12/10-03

TKNPB-6/4-G03

TKNPB-10-8-G02

TKNPB-6/4-M6

TKNPB-8/6-03

TKNPB-12/10-04

TKNPB-8/6-G01

TKNPB-10/8-G03

TKNPB-6/4-01

TKNPB-10/8-01

TKN-PTN

F12 (¢ D-T)/Model( D-T)

B (MDD -4 (R)
Tube-(Metric)-Thread(R)

E (2D - 1249 (G)
Tube-(Metric)-Thread(G)

TKNPTN-5/3-M5

TKNPTN-6/4-02

TKNPTN-10/8-02

TKNPTN-5/3-G01

TKNPTN-8/6-G02

TKNPTN-10/8-G04

TKNPTN-5/3-M6

TKNPTN-6/4-03

TKNPTN-10/8-03

TKNPTN-6/4-G01

TKNPTN-8/6-G03

TKNPTN-12/10-G03

TKNPTN-5/3-01

TKNPTN-8/6-01

TKNPTN-10/8-04

TKNPTN-6/4-G02

TKNPTN-10/8-G01

TKNPTN-12/10-G04

TKNPTN-6/4-M5

TKNPTN-8/6-02

TKNPTN-12/10-03

TKNPTN-6/4-G03

TKNPTN-10-8-G02

TKNPTN-6/4-M6

TKNPTN-8/6-03

TKNPTN-12/10-04

TKNPTN-8/6-G01

TKNPTN-10/8-G03

TKNPTN-6/4-01

TKNPTN-10/8-01

TKN-PD

#I2 (¢ D-T)/Model( ¢ D-T)

& (D - 124 (R)
Tube-(Metric)-Thread(R)

B (AFHD -8By (G)
Tube-(Metric)-Thread(G)

TKNPD-5/3-M5

TKNPD-6/4-02

TKNPD-10/8-02

TKNPD-5/3-G01

TKNPD-8/6-G02

TKNPD-10/8-G04

TKNPD-5/3-M6

TKNPD-6/4-03

TKNPD-10/8-03

TKNPD-6/4-G01

TKNPD-8/6-G03

TKNPD-12/10-G03

TKNPD-5/3-01

TKNPD-8/6-01

TKNPD-10/8-04

TKNPD-6/4-G02

TKNPD-10/8-G01

TKNPD-12/10-G04

TKNPD-6/4-M5

TKNPD-8/6-02

TKNPD-12/10-03

TKNPD-6/4-G03

TKNPD-10-8-G02

TKNPD-6/4-M6

TKNPD-8/6-03

TKNPD-12/10-04

TKNPD-8/6-G01

TKNPD-10/8-G03

TKNPD-6/4-01

TKNPD-10/8-01

TKN-PDN

FI= (¢ D-T)/Model($ D-T)

& (D -2y (R)
Tube-(Metric)-Thread(R)

& (D) - 124 (G)
Tube-(Metric)-Thread(G)

TKNPDN-5/3-M5

TKNPDN-6/4-02

TKNPDN-10/8-02

TKNPDN-5/3-G01

TKNPDN-8/6-G02

TKNPDN-10/8-G04

TKNPDN-5/3-M6

TKNPDN-6/4-03

TKNPDN-10/8-03

TKNPDN-6/4-G01

TKNPDN-8/6-G03

TKNPDN-12/10-G03

TKNPDN-5/3-01

TKNPDN-8/6-01

TKNPDN-10/8-04

TKNPDN-6/4-G02

TKNPDN-10/8-G01

TKNPDN-12/10-G04

TKNPDN-6/4-M5

TKNPDN-8/6-02

TKNPDN-12/10-03

TKNPDN-6/4-G03

TKNPDN-10-8-G02

TKNPDN-6/4-M6

TKNPDN-8/6-03

TKNPDN-12/10-04

TKNPDN-8/6-G01

TKNPDN-10/8-G03

TKNPDN-6/4-01

TKNPDN-10/8-01

TKN-PH

F1S (¢ D-T)/Model( 4 D-T)

& (2D -2y (R)
Tube-(Metric)-Thread(R)

& (D) - 124 (G)
Tube-(Metric)-Thread(G)

TKNPH-5/3-M5

TKNPH-6/4-02

TKNPH-10/8-02

TKNPH-5/3-G01

TKNPH-8/6-G02

TKNPH-10/8-G04

TKNPH-5/3-M6

TKNPH-6/4-03

TKNPH-10/8-03

TKNPH-6/4-G01

TKNPH-8/6-G03

TKNPH-12/10-G03

TKNPH-5/3-01

TKNPH-8/6-01

TKNPH-10/8-04

TKNPH-6/4-G02

TKNPH-10/8-G01

TKNPH-12/10-G04

TKNPH-6/4-M5

TKNPH-8/6-02

TKNPH-12/10-03

TKNPH-6/4-G03

TKNPH-10-8-G02

TKNPH-6/4-M6

TKNPH-8/6-03

TKNPH-12/10-04

TKNPH-8/6-G01

TKNPH-10/8-G03

TKNPH-6/4-01

TKNPH-10/8-01

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

223



NPPC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

224

%k /Pipe Joint Fittings

TKN-DPH

#I2 (¢ D-T)/Model( ¢ D-T)

& (D - 125 (R)
Tube-(Metric)-Thread(R)

F (2F) -84 (G)

Tube-(Metric)-Thread(G)

e
g

TKNDPH-5/3-M5

TKNDPH-6/4-02

TKNDPH-10/8-02

TKNDPH-5/3-G01

TKNDPH-8/6-G02

TKNDPH-10/8-G04

TKNDPH-5/3-M6

TKNDPH-6/4-03

TKNDPH-10/8-03

TKNDPH-6/4-G01

TKNDH-8/6-G03

TKNDPH-12/10-G03

TKNDPH-5/3-01

TKNDPH-8/6-01

TKNDPH-10/8-04

TKNDPH-6/4-G02

TKNDPH-10/8-G01

TKNDPH-12/10-G04

TKNDPH-6/4-M5

TKNDPH-8/6-02

TKNDPH-12/10-03

TKNDPH-6/4-G03

TKNDPH-10-8-G02

TKNDPH-6/4-M6

TKNDPH-8/6-03

TKNDPH-12/10-04

TKNDPH-8/6-G01

TKNDPH-10/8-G03

TKNDPH-6/4-01

TKNDPH-10/8-01

TKN-TPH

A2 (¢ D-T)/Model( ¢ D-T)

TKN-PU

& (NFD - 125 (R)
Tube-(Metric)-Thread(R)

B (AFH) -84 (G)
Tube-(Metric)-Thread(G)

2 (¢ D)/Model( ¢ D)

E (2FD
Tube-(Metric)

TKNTPH-5/3-M5

TKNTPH-8/6-02

TKNTPH-5/3-G01

TKNTPH-10/8-G02

TKNTPH-5/3-M6

TKNTPH-8/6-02

TKNTPH-6/4-G01

TKNTPH-10/8-G03

TKNPU-5/3

TKNTPH-5/3-01

TKNTPH-8/6-02

TKNTPH-6/4-G02

TKNTPH-10/8-G04

TKNPU-6/4

TKNTPH-6/4-M5

TKNTPH-10/8-02

TKNTPH-6/4-G02

TKNTPH-12/10-G03

TKNPU-8/6

TKNTPH-6/4-M6

TKNTPH-10/8-03

TKNTPH-8/6-G01

TKNTPH-12/10-G04

TKNPU-10/8

TKNTPH-6/4-01

TKNTPH-10/8-04

TKNTPH-8/6-G02

TKNPU-12/10

TKNTPH-6/4-02

TKNTPH-12/10-03

TKNTPH-8/6-G03

TKNTPH-6/4-03

TKNTPH-12/10-04

TKNTPH-10/8-G01

TKNTPH-8/6-01

S (¢ D-T) S (¢ D-T) S (¢D-T)
TKN-PV Model( ¢ D-T) TKN-PE Model( ¢ D-T) TKN-PZA Model( ¢ D-T)
& (R & (D SO D)
Tube-(Metric) Tube-(Metric) Tube-(Metric)
TKNPV-5/3 TKNPE-5/3 TKNPZA-5/3
TKNPV-6/4 TKNPE-6/4 TKNPZA-6/4
TKNPV-8/6 TKNPE-8/6 TKNPZA-8/6
TKNPV-10/8 TKNPE-10/8 TKNPZA-10/8
TKNPV-12/10 TKNPE-12/10 TKNPZA-12/10

| =&k /Pipe Joint Fittings

ilﬁ 5 /Feature

VA3

W FERAATUSRREERERA

2, PRIBEELHFIIAT AR F R TAEE

3. SERRAHFNE#MGT TR SERRINSFH

HOEI T

1.Sleeve pipe joint fitting can be used with nylon pipe.
2.Rapid fittings' clips can be fastoned by tools or hand.
3.The special conical design at the pipe's installation part can
effectively avoid the cutting of pipe caused by accident.

TKT-PC

A2 (¢ D-T)/Model( ¢ D-T)

B (AE)D -84 (R)
Tube-(Metric)-Thread(R)

B (AE) -84 (G)
Tube-(Metric)-Thread(G)

TKTPC04-01 TKTPC08-02 TKTPC12-02 TKTPC04-G01 TKTPC08-G02 TKTPC12-G02
. ‘OD TKTPC04-02 TKTPC08-03 TKTPC12-03 TKTPC04-G02 TKTPC08-G03 TKTPC12-G03
: TKTPC06-01 TKTPC10-02 TKTPC12-04 TKTPC06-G01 TKTPC10-G02 TKTPC12-G04
“) TKTPC06-02 TKTPC10-03 TKTPC06-G02 TKTPC10-G03
T \ y TKTPC08-01 TKTPC10-04 TKTPC08-G01 TKTPC10-G04
#U-E (¢ D-T)/Model(  D-T)
TKT-PL B (2FD -9 (R) B (2FD -1 (G)
Tube-(Metric)-Thread(R) Tube-(Metric)-Thread(G)
TKTPL04-01 TKTPL08-02 TKTPL12-02 TKTPL04-G01 TKTPL08-G02 TKTPL12-G02
TKTPL04-02 TKTPL08-03 TKTPL12-03 TKTPL04-G02 TKTPL08-G03 TKTPL12-G03
AN TKTPL06-01 TKTPL10-02 TKTPL12-04 TKTPL06-GO01 TKTPL10-G02 TKTPL12-G04
.{\ TKTPL06-02 TKTPL10-03 TKTPL06-G02 TKTPL10-G03
T 7 D TKTPLO08-01 TKTPL10-04 TKTPL08-G01 TKTPL10-G04

TKT-PCF

A5 (¢ D-T)/Model( ¢ D-T)

& (2D -89 (R)
Tube-(Metric)-Thread(R)

& (D - 124 (G)

Tube-(Metric)-Thread(G)

TKTPCF04-01

TKTPCF08-02

TKTPCF12-02

TKTPCF04-G01

TKTPCF08-G02

TKTPCF12-G02

TKTPCF04-02

TKTPCF08-03

TKTPCF12-03

TKTPCF04-G02

TKTPCF08-G03

TKTPCF12-G03

TKTPCF06-01

TKTPCF10-02

TKTPCF12-04

TKTPCF06-GO1

TKTPCF10-G02

TKTPCF12-G04

TKTPCF06-02

TKTPCF10-03

TKTPCF06-G02

TKTPCF10-G03

TKTPCF08-01

TKTPCF10-04

TKTPCF08-G01

TKTPCF10-G04

RO B REE X7 R i A AR




&4 /Pipe Joint Fittings

FIS (¢ D-T)/Model($ D-T)

TKT-PB F (D -84 (R) E (AN -8By (G)
Tube-(Metric)-Thread(R) Tube-(Metric)-Thread(G)
TKTPB04-01 TKTPB08-02 TKTPB12-02 TKTPB04-G01 TKTPB08-G02 TKTPB12-G02
TKTPB04-02 TKTPB08-03 TKTPB12-03 TKTPB04-G02 TKTPB08-G03 TKTPB12-G03
TKTPB06-01 TKTPB10-02 TKTPB12-04 TKTPB06-GO1 TKTPB10-G02 TKTPB12-G04
TKTPB06-02 TKTPB10-03 TKTPB06-G02 TKTPB10-G03
TKTPB08-01 TKTPB10-04 TKTPB08-GO1 TKTPB10-G04
A5 (¢ D-T)/Model( ¢ D-T)
TKT-PD B (A% -84 (R) B (AFHD -8By (G)
Tube-(Metric)-Thread(R) Tube-(Metric)-Thread(G)
TKTPDO04-01 TKTPD08-02 TKTPD12-02 TKTPD04-G01 TKTPD08-G02 TKTPD12-G02
TKTPD04-02 TKTPD08-03 TKTPD12-03 TKTPD04-G02 TKTPDO08-G03 TKTPD12-G03
TKTPD06-01 TKTPD10-02 TKTPD12-04 TKTPD06-GO01 TKTPD10-G02 TKTPD12-G04
TKTPD06-02 TKTPD10-03 TKTPD06-G02 TKTPD10-G03
TKTPD08-01 TKTPD10-04 TKTPD08-GO01 TKTPD10-G04
S (¢D-T) S (¢ D-T) S (¢ D-T)
TKT-PU Model( ¢ D-T) TKT-PV Model( ¢ D-T) TKT-PE Model( ¢ D-T)
B (2FD & (2D & (2FD
Tube-(Metric) Tube-(Metric) Tube-(Metric)
o *D TKTPUO4 ? TKTPV04 TKTPEO4
- A TKTPUO6 o TKTPV06 TKTPEOG
‘@ S TKTPUO08 \ef TKTPV08 TKTPEO8
i ¢
3 TKTPU10 . TKTPV10 TKTPE10
) TKTPU12 : TKTPV12 TKTPE12
S (¢D-T) S (¢D-T)
TKT-PZA Model( ¢ D-T) TKT-PM Model( ¢ D-T)
E (AFD & (RFD
) Tube-(Metric) Tube-(Metric)
{ ®D TKTPZAU04 4D TKTPMO04
X TKTPZAU06 < !& TKTPMO06
s TKTPZAU08 ; "@ TKTPMO08
§ ﬂ?’\ TKTPZAU10 %‘ TKTPM10
- TKTPZAU12 = TKTPM12
Paranil & RS . . .
| &%k /Pipe Fittings
¥ 5 / M#& IFeature/Size
R R
Material Nlickel-plated Brass
n — -
|, BT SUA I SRS AR E R, ATIRENE Pt Eiin BSPT B B s
EURLUR TG B 7= B2 TRET e
1.By using the joint can change the thread and size of joint, so as to Pressure (See tube)
help customers cut down the budget of replacing the product due to the Tk BHTs
improper thread size. Fiuid Compressed air
R HERRE
Temperature (See data of used tubing)

TTY-YL

RIE (¢ T1-¢ T2)/Model($» T1- ¢ T2)

1247 (R) T1-42480 (R)T2 | 4240 (NPT) T1- 4840 (NPT)T2 1240 (G) T1- 4847 (G)T2
Thread(R)T1-Thresd(R)T2 | Thread(NPT)T1-Thresd(NPT)T2 Thread(G)T1-Thresd(G)T2
TTYYLO1-01 TTYYL06-06 TTYYLNO1-NO1 TTYYLNO6-NO6 TTYYLGO01-G01 TTYYLG06-G06
TTYYL02-02 TTYYL06-04 TTYYLNO2-NO2 TTYYLNO6-N0O4 TTYYLG02-G02 TTYYLG06-G04
TTYYL02-01 TTYYL06-03 TTYYLNO2-NO1 TTYYLNO6-N0O3 TTYYLG02-G01 TTYYLG06-G03
TTYYL03-03 TTYYL06-02 TTYYLN03-NO3 TTYYLN06-NO2 TTYYLG03-G03 | TTYYLG06-G02
TTYYL03-02 TTYYL08-08 TTYYLNO03-NO2 TTYYLN08-NO8 TTYYLG03-G02 | TTYYLG08-G08
TTYYLO3-01 TTYYL08-06 TTYYLNO3-NO1 TTYYLNO8-N06 TTYYLG03-G01 TTYYLG08-G06
TTYYL04-04 TTYYL08-04 TTYYLNO4-N04 TTYYLNO8-N04 TTYYLG04-G04 TTYYLG08-G04
TTYYLO04-03 TTYYL08-03 TTYYLNO4-NO3 TTYYLNO8-NO3 TTYYLG04-G03 TTYYLG08-G03
TTYYL04-02 TTYYLNO4-N02 TTYYLG04-G02

TTYYLO4-01 TTYYLNO4-NO1 TTYYLG04-GO1

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

225



NPPC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

226

i

& 1%k [Pipe Fittings

J &5 /Pipe F

ittings

AE (¢ T1-¢ T2)/Model(d T1-$ T2)
TTY-YD 125 (R) T1- 424 (R)T2 240 (NPT) T1- 4247 (NPT)T2 124 (G) T1-424 (G)T2
Thread(R)T1-Thresd(R)T2 Thread(NPT)T1-Thresd(NPT)T2 Thread(G)T1-Thresd(G)T2
TTYYDO1-01 TTYYDO06-06 TTYYDNO1-NO1 TTYYDNO6-N06 [ TTYYDG01-Go1 | TTYYDG06-G06
TTYYD02-02 | TTYYDO06-04 TTYYDNO2-NO2 | TTYYDNO6-N04 | TTYYDG02-G02 | TTYYDG06-G04
T2 TTYYD02-01 TTYYDO06-03 TTYYDNO2-NO1 TTYYDNO6-NO3 | TTYYDG02-G01 | TTYYDGO06-G03
TTYYD03-03 | TTYYD06-02 TTYYDNO3-NO3 | TTYYDNO6-NO2 | TTYYDG03-G03 | TTYYDG06-GO2
‘Q TTYYD03-02 | TTYYD08-08 TTYYDNO3-N02 | TTYYDNO08-N08 | TTYYDG03-G02 | TTYYDG08-GO8
‘\“ TTYYDO03-01 TTYYDO08-06 TTYYDNO3-NO1 TTYYDNO8-NO6 | TTYYDG03-G01 | TTYYDG08-G06
TTYYD04-04 | TTYYD08-04 TTYYDNO4-N04 | TTYYDNO8-N04 | TTYYDG04-G04 | TTYYDG08-G04
T TTYYD04-03 | TTYYD08-03 TTYYDNO4-NO3 | TTYYDNO8-N0O3 | TTYYDG04-G03 | TTYYDG08-GO3
TTYYDO04-02 TTYYDNO4-N0O2 TTYYDG04-G02
TTYYDO04-01 TTYYDNO4-NO1 TTYYDG04-G01
S (¢ T1-¢ T2)/Model($ T1- ¢ T2)
TTY-YB 247 (R) T1- 424 (R)T2 1247 (NPT) T1- 4242 (NPT)T2 24 (G) T1-424 (G)T2
Thread(R)T1-Thresd(R)T2 Thread(NPT)T1-Thresd(NPT)T2 Thread(G)T1-Thresd(G)T2
TTYYBO01-01 TTYYB06-06 TTYYBNO1-NO1 TTYYBNO6-NO6 | TTYYBGO1-G01 | TTYYBG06-G06
TTYYB02-02 TTYYB06-04 TTYYBNO2-NO2 | TTYYBNO6-N04 | TTYYBG02-G02 | TTYYBG06-G04
; TTYYB02-01 TTYYB06-03 TTYYBN02-NO1 TTYYBNO6-NO3 | TTYYBG02-G01 | TTYYBG06-G03
4 T2 | TTYYB03-03 TTYYB06-02 TTYYBNO3-NO3 [ TTYYBNO6-NO2 [ TTYYBG03-G03 | TTYYBG06-G02
\ TTYYB03-02 TTYYB08-08 TTYYBNO3-NO2 [ TTYYBNO8-NO8 [ TTYYBG03-G02 | TTYYBG08-G08
. TTYYB03-01 TTYYB08-06 TTYYBNO3-NO1 TTYYBNO8-N06 | TTYYBG03-G01 | TTYYBG08-G06
S TTYYB04-04 | TTYYB08-04 TTYYBNO4-NO4 | TTYYBN0O8-N04 | TTYYBG04-G04 | TTYYBG08-G04
T1 TTYYB04-03 TTYYB08-03 TTYYBNO4-N0O3 [ TTYYBNO8-NO3 [ TTYYBG04-G03 | TTYYBG08-G03
TTYYB04-02 TTYYBNO04-N02 TTYYBG04-G02
TTYYB04-01 TTYYBNO4-NO1 TTYYBG04-GO1
S (T) AL (¢ T1-T2)/Model( ¢ T1-T2)
TTY-PVF 1247 (G) 247 (NPT) TTY-GDT 1247 (R)T1-T2 #2457 (NPT)T1-T2 124 (G)T1-T2
Thread(R) Thread(NPT) Thread(R)T1-T2 Thread(NPT)T1-T2 Thread(G)T1-T2
TTYPVFO1 | TTYPVFNO1 TTYGDT02-01 TTYGDTN02-NO1 | TTYGDTG02-GO01
TTYPVF02 | TTYPVFNO2 TTYGDT03-01 TTYGDTNO3-NO1 | TTYGDTGO03-G01
TTYPVF03 | TTYPVFNO3 T2 TTYGDT03-02 TTYGDTNO3-N02 | TTYGDTG03-G02
TTYPVF04 | TTYPVFNO4 &\ TTYGDT04-01 TTYGDTN04-NO1 | TTYGDTG04-GO01
TTYPVF06 | TTYPVFNO6 — TTYGDT04-02 TTYGDTNO04-N02 | TTYGDTG04-G02
TTYPVF08 | TTYPVFNO8 TTYGDT04-03 TTYGDTNO04-N03 | TTYGDTG04-G03

TTYGDT06-02

TTYGDTNO6-N02

TTYGDTG06-G02

TTYGDT06-03

TTYGDTN06-NO3

TTYGDTG06-G03

TTYGDT06-04

TTYGDTN06-N04

TTYGDTG06-G04

S (T)/Mode (T) S (¢ T1-T2)/Model($ T1-T2)
TTY-PCF 1240 (G) [#24L (NPT) TTY-YM 1247 (R) 124 (NPT) 124 (G)
Thread(R) | Thread(NPT) Thread(R) Thread(NPT) Thread(G)
TTYPCFO1 TTYPCFNO1 TTYYM-M5 TTYYM-NO1 TTYYM-GO1
4 TTYPCF02 | TTYPCFNO2 TTYYM-01 TTYYM-NO2 TTYYM-G02
/"'K ) TTYPCF03 | TTYPCFNO3 TTYYM-02 TTYYM-NO3 TTYYM-GO03
éw TTYPCF04 | TTYPCFNO4 TTYYM-03 TTYYM-NO4 TTYYM-G04
\ 7 2 TTYPCF06 | TTYPCFNO06 TTYYM-04 TTYYM-N06 TTYYM-G06
T TTYPCF08 | TTYPCFNO8 TTYYM-06 TTYYM-NO8 TTYYM-GO08
TTYYMO8

TTY-PV A5 (¢ D-T)/Model( $ D-T)

124 (R) 1247 (NPT)

Thread(R) Thread(NPT)

TTYPVO1 TTYPVO1NO1

TTYPV02 TTYPV02N02

TTYPVO3 TTYPVO3NO3

TTYPV04 TTYPV04N04

TTYPV06 TTYPVOGNO6

TTYPVO08 TTYPVO8NO8

RO B REE X7 R i A AR




NRPRC

PNEUMATIC

& 153k IPipe Fittings

J &£k /Pipe Fittings

=
g
&
s
[0}
TTY-GYM HE (T)Mode (T) TTY-DT HE (T)Mode (T) 8
124 (R) 440 (NPT) 1247 (G) 1247 (R) 1247 (NPT) 1247 (G) g
Thread(R) Thread(NPT) Thread(G) Thread(R) Thread(NPT) Thread(G) g
TTYGYM-M5 | TTYGYM-NO1 | TTYGYM-GO1 TTYDT-M5 TTYDT-NO1 TTYDT-GO1 '5
TTYGYM-01 | TTYGYM-NO2 | TTYGYM-G02 TTYDT-01 TTYDT-NO2 TTYDT-G02 g
TTYGYM-02 | TTYGYM-NO3 | TTYGYM-GO03 15 TTYDT-02 TTYDT-NO3 TTYDT-GO3 3
TTYGYM-03 | TTYGYM-NO4 | TTYGYM-G04 TTYDT-03 TTYDT-NO4 TTYDT-G04 i
TTYGYM-04 | TTYGYM-NO6 | TTYGYM-GO06 TTYDT-04 TTYDT-NO6 TTYDT-G06
TTYGYM-06 | TTYGYM-NO8 | TTYGYM-GO08 TTYDT-06 TTYDT-NO8 TTYDT-G08
TTYGYM-08 TTYDT-08
I
*
TTY-DY S (¢ T1-¢ T2)/Model (¢ T1-$ T2) TTY-PE S (T)Mode (T) IR
240 (R)T1-(G)T2 [#24r (NPT)T1-T2 1257 (G)T1-T2 24 (R) $24r (NPT) ﬁ
Thread(R)T1(G)T2 | Thread(NPT)T1-T2 Thread(G)T1-T2 Thread(R) Thread(NPT) ®
TTYDY02-G01 TTYDYNO2-NO1 TTYDYG02-G01 TTYPBF-01 TTYPBF-NO1 B
TTYDY03-G01 TTYDYNO3-NO1 TTYDYG03-G01 TTYPBF-02 TTYPBF-NO2
TTYDY03-G02 TTYDYNO03-NO2 TTYDYG03-G02 TTYPBF-03 TTYPBF-NO3
TTYDY04-G01 TTYDYNO04-NO1 TTYDYG04-G01 TTYPBF-04 TTYBF-NO4
TTYDY04-G02 TTYDYNO04-N02 TTYDYG04-G02 TTYPBF-06 TTYBF-N06
TTYDY04-G03 TTYDYNO04-NO3 TTYDYG04-G03 TTYPBF-08 TTYBF-NO8
TTYDY06-G02 TTYDYNO06-NO2 TTYDYG06-G02
| TTYDY06-G03 TTYDYNO06-NO3 TTYDYG06-G03
L | TTYDY06-G04 TTYDYNO6-N0O4 TTYDYG06-G04
TTY-PE A2 (T)/Model(T) TTY-PET A2 (T)/Model(T)
B (R) B (NPT) B (R) B (NPT)
Thread(R) Thread(NPT) Thread(R) Thread(NPT)
TTYPEO1 TTYPENO1 ! TTYPETO1 TTYPETNO1
TTYPEO2 TTYPENO2 b ’ TTYPETO02 TTYPETNO2
TTYPEO3 TTYPENO3 f g '\-\ TTYPETO03 TTYPETNO3
TTYPEO4 TTYPENO4 W ! TTYPETO04 TTYPETNO4
TTYPEOG TTYPENO6 / T TTYPETO06 TTYPETNOG
TTYPEO8 TTYPENO8 TTYPETO08 TTYPETNO8
TTY-PEF 2 (T)/Model(T) TTY-PDF 2 (T)/Model(T)
1240 (R) 240 (NPT) 1240 (R) 1247 (NPT)
Thread(R) Thread(NPT) Thread(R) Thread(NPT)
TTYPEFO1 TTYPEFNO1 TTYPDFYO1 TTYPDFNO1
- .-ﬁ* TTYPEF02 TTYPEFNO2 TTYPDFT02 TTYPDFNO2
i TTYPEFO03 TTYPEFNO3 TTYPDF03 TTYPDFNO3
TTYPEF04 TTYPEFNO4 TTYPDF04 TTYPDFNO4
e TTYPEFO06 TTYPEFNO6 TTYPDF06 TTYPDFNO06
W T TTYPEFO08 TTYPEFNO8 TTYPDF08 TTYPDFNO8
TTY-PFD 2 (T)/Model(T) TTY-PYF #2 (T)/Model(T)
1247 (R) 24 (NPT 1247 (R) 124y (NPT
Thread(R) Thread(NPT) Thread(R) Thread(NPT)
TTYPFDO1 TTYPFDNO1 TTYPYFGO1 TTYPYFNO1
TTYPFDO02 TTYPFDNO2 TTYPYFGO02 TTYPYFNO2
TTYPFDO3 TTYPFDNO3 TTYPYFGO03 TTYPYFNO3
TTYPFD04 TTYPFDNO4 TTYPYFGO04 TTYPYFNO4
TTYPFDO6 TTYPFDNO06 -
TTYPFDO8 TTYPFDNO8 T

AR BMREE 3 7= S B A9 AR
b i 227



NPPC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

228

423 /Pipe Fittings

| &%k /Pipe Fittings

TTY-HTM

A2 (¢ D-¢ T)/Model(¢ D-¢T)

B (AED -84 (R) & (S -84 (R) & (T -840 (NPT)

Tube-(Metric)-Thread(R) Tube-(Inch)-Thread(R) Tube-(Inch)-Thread(NPT)
TTYHTMO05-01 | TTYHTM10-02 TTYHTMO05-G01  |TTYHTM10-G02 | TTYHTMO5-NO1 TTYHTM10-N02
TTYHTMO05-02  |TTYHTM10-03 TTYHTMO05-G02 | TTYHTM10-G03  |TTYHTM05-NO2  |TTYHTM10-NO3
TTYHTMO7-01 | TTYHTM12-02 TTYHTMO7-GO1  |TTYHTM12-G02  |TTYHTMO7-NO1 TTYHTM12-N02
TTYHTM07-02 | TTYHTM12-03 TTYHTM07-G02  |TTYHTM12-G03  |TTYHTMO7-NO2  |TTYHTM12-N03
TTYHTMO08-01 | TTYHTM12-04 TTYHTM08-GO1  |TTYHTM12-G04 | TTYHTMO08-NO1 TTYHTM12-N04
TTYHTMO08-02  |TTYHTM17-03 TTYHTMO08-G02 | TTYHTM17-G03  |TTYHTM08-NO2  |TTYHTM17-N0O3
TTYHTMO09-01  |TTYHTM17-04 TTYHTMO09-GO1  |TTYHTM17-G04 | TTYHTMO09-NO1 TTYHTM17-N04
TTYHTM09-02 | TTYHTM18-03 TTYHTM09-G02  |TTYHTM18-G03  |TTYHTMO09-NO2  |TTYHTM18-NO3
TTYHTM09-03  |TTYHTM18-04 TTYHTM09-G03  |TTYHTM18-G04  |TTYHTMO09-NO3  |TTYHTM18-N04
TTYHTM10-01 TTYHTM10-GO1 TTYHTM10-NO1

TTY-HTF

RIS (¢ D- T)/Model(¢D-¢T)

& (D -85 (R)
Tube-(Metric)-Thread(R)

& (& -1y (R)
Tube-(Inch)-Thread(R)

& (F) - 4240 (NPT)
Tube-(Inch)-Thread(NPT)

TTYHTFO05-01 TTYHTF10-02 TTYHTF05-GO1 TTYHTF10-G02 TTYHTFO05-NO1 TTYHTF10-NO2
TTYHTF05-02 TTYHTF10-03 TTYHTF05-G02 TTYHTF10-G03 TTYHTF05-N02 TTYHTF10-NO3
TTYHTFO07-01 TTYHTF12-02 TTYHTF07-G01 TTYHTF12-G02 TTYHTFO7-NO1 TTYHTF12-N02

TTYHTFO07-02 TTYHTF12-03

TTYHTF07-G02 TTYHTF12-G03

TTYHTFO7-NO2 TTYHTF12-NO3

TTYHTF08-01 TTYHTF12-04

TTYHTF08-GO01 TTYHTF12-G04

TTYHTFO08-NO1 TTYHTF12-N04

TTYHTF08-02 TTYHTF17-03

TTYHTF08-G02 TTYHTF17-G03

TTYHTFO08-N02 TTYHTF17-NO3

TTYHTF09-01 TTYHTF17-04 TTYHTF09-GO1 TTYHTF17-G04 TTYHTF09-NO1 TTYHTF17-N04
TTYHTF09-02 TTYHTF18-03 TTYHTF09-G02 TTYHTF18-G03 TTYHTF09-N02 TTYHTF18-NO3
TTYHTF09-03 TTYHTF18-04 TTYHTF09-G03 TTYHTF18-G04 TTYHTF09-NO3 TTYHTF18-N04

TTYHTF10-01

TTYHTF10-G01

TTYHTF10-NO1

TTY-LB

RIS (¢ D- T)/Model(¢D-T)

(A% -84 (R)
Tube-(Metric)-Thread(R)

B (&) -8y (R)
Tube-(Inch)-Thread(R)

B (&) -84 (NPT)
Tube-(Inch)-Thread(NPT)

TTYLB05-01 TTYLB10-02 TTYLB05-GO01 TTYLB10-G02 TTYLB05-NO1 TTYLB10-NO2
TTYLB05-02 TTYLB10-03 TTYLB05-G02 TTYLB10-G03 TTYLB05-NO2 TTYLB10-NO3
TTYLBO7-01 TTYLB12-02 TTYLB07-GO1 TTYLB12-G02 TTYLBO7-NO1 TTYLB12-N02
TTYLBO07-02 TTYLB12-03 TTYLB07-G02 TTYLB12-G03 TTYLBO7-NO2 TTYLB12-NO3
TTYLB08-01 TTYLB12-04 TTYLB08-GO1 TTYLB12-G04 TTYLB08-NO1 TTYLB12-N04
TTYLB08-02 TTYLB17-03 TTYLB08-G02 TTYLB17-G03 TTYLB08-NO2 TTYLB17-NO3
TTYLB09-01 TTYLB17-04 TTYLB09-GO1 TTYLB17-G04 TTYLB09-NO1 TTYLB17-N04
TTYLB09-02 TTYLB18-03 TTYLB09-G02 TTYLB18-G03 TTYLB09-NO2 TTYLB18-NO3
TTYLB09-03 TTYLB18-04 TTYLB09-G03 TTYLB18-G04 TTYLB09-NO3 TTYLB18-N04
TTYLB10-01 TTYLB10-GO01 TTYLB10-NO1

TTY-YT #I2 (¢ D-T)/Model(¢D-T) [TTY-MFM B2 (¢ D-T)/Model( ¢ D-T) TTY-FC FIS (T)/Model(T)
B2 (R) | #8450 (NPT) 1247 (G) 247 (NPT) 1240 (R) 1247 (NPT)
Thread(R) Thread(NPT) Thread(G) Thread(NPT) > 4 Thread(R) Thread(NPT)
TTYYT-01 TTYYT-NO1 TTYMFM-GO1 [TTYMFM-NO1 1‘/\“ .? TTYFC-G01 TTYFC-NO1
TTYYT-02 TTYYT-NO2 Q TTYMFM-G02 |TTYMFM-NO02 “ S ; TTYFC-G02 TTYFC-N02
TTYYT-03 TTYYT-NO3 @' TTYMFM-G03 [TTYMFM-NO3 //’" a ’j TTYFC-G03 TTYFC-NO3
TTYYT-04 TTYYT-NO4 T TTYMFM-G04 |TTYMFM-NO4 i " TTYFC-G04 TTYFC-N0O4
TTY-BB ES (¢ D)/Model(¢D) [TTY-FCT S (T)/Model(T) TTY-TB BI= (¢ D)/Model( 4 D)
85 (R) B (G) |84 (NPD 85 (R)
Thread(R) Thread(G) | Thread(NPT) Thread(R)
TTYBB-05 TTYFCT-01 [TTYFCT-NO1 TTYTB-05
ToD TTYBB-07 TTYFCT-02 [TTYFCT-NO2 TeD TTYTB-07
- / TTYBB-08 TTYFCT-03 [TTYFCT-NO3 ’ TTYTB-08
@D TTYBB-09 TTYFCT-04 |TTYFCT-NO4 e TTYTB-09
g‘ TTYBB-10 Barb T TTYTB-10
TTYBB-12 TTYTB-12
TTYBB-17 TTYTB-17
TTYBB-18 TTYTB-18

RO B REE X7 R i A AR




Z[EiFE LB /Pneumatic Induction Check Valves

EEREL
HWHTHIRE

§ = /£ 2L E® /Pneumatic Induction Check Valves

ABERZMURENRR, ENRRRERATBEEEDTE.

SERAMEEFEL, EAER.
Instructions for use

Auxiliary equipments

Replace for three position valve

Weight suspension,avoid body falling while pressure vanished

Air cylinder can be stopped at any position presisly.

##& % /Specification Table

TTTARR MPCV-1/8 MPCV-1/4 MPCV-3/8 MPCV-1/2

How to order

fERRA =5, |AIr =5 /Air =5 /Air =5 /AiIr

Used fiuid

BARE 500 900 1300 1300

Maximum flowc (umin)

EHEE 1--9 1--9 1--9 1--9

Pressure range(Kgf/cm2)

58 35 65 120 230

Weight(g)
PART NO. D1 L1 L2 L3 S
MPCV-1/8 ZG1/8 9 16 445 13
MPCV-1/4 ZG1/4 12 22 50.5 17
MPCV-2/8 ZG3/8 13.5 24 59 20
MPCV-1/2 2G1/2 17 31 68 25

]
O 1
X3 X3 — P i
z-{)

o<1 [

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

229



NPPC

PNEUMATIC

HRisE$E L /Quick Coupler

[ RiE L /Quick Coupler

=
=
Ll
z
o
o
3
o SH S Rt SF BS R~ SM BS Rt
8 Model Size Model Size Model Size
] SH-20 5/16" i SF-20 1/4PT SM-20 1/4PT
o SH-30 3/8" i SF-30 3/8PT SM-30 3/8PT
2 SH-40 12" % SF-40 1/2PT SM-40 1/2PT
()
35
-
(T
B R~ BS R~ BS R~
SP Model Size iy Model Size 7 Model Size
SH-20 5/16" ¥ - SF-20 1/4PT SM-20 1/4PT
SH-30 3/8" i Vi - SF-30 3/8PT Q" o SM-30 3/8PT
o SH-40 12" 5 < &r\’ SF-40 1/2PT ' SM-40 1/2PT
~c -
IR J, \
o B 4 :
g
&
ES
BS Rt BS R~
PM Model Size PP Model Size
SH-20 5/16" ¥ SF-20 1/4PT
SH-30 | 38" ‘* : SF-30 3/8PT

SH-40 12" & SF-40 1/2PT

SML SMT SMM

SMX SMV SMY

A FHR BRI S B HOARF
230



JHE &8 /Silencer
s == O .
J i85 /Silencer
A BIHERR S [ BgRh (R | S(mm) B BUHAEE BEg | By (R [ S(mm) Vv ELHEGR B | gk (RF) | S(mm)
A Type Muffler | Code |Screw Thread(size) B Type Muffler Code [ Screw Thread(size) V Type Muffler Code |Screw Thread(size)
A-M5 M5" 9 B-M5 M5" 8 V-M5 M5 8
A-6 1/8" 13 B-6 1/8" 12 V-6 1/8" 12
£ A-8 1/4" 17 B-8 1/4" 15 V-8 1/4" 15
A-10 3/8" 22 B-10 3/8" 19 V-10 3/8" 19
A-15 1/2" 24 B-15 1/2" 22 V-15 1/2" 22
A-20 3/4" 30 B-20 3/4" 27 V-20 3/4" 30
- A-25 1" 36 B-25 1" 36 V-25 1" 36
i g A-32 1-1/4" 46
L A-40 1-1/2" 52
A-50 2" 64
B-C BUER SRR | S | Bk (RS | S(mm) V-C B 5RIHA =R BS |8BgeR (RSP | S(mm) | | FBARERRR | BS | B4k (R
B type galvanized Code | Screw Thread(size) B type galvanized Code [Screw Thread(size | type plug-in| Code [ Screw Thread(size
muffer(cheap) muffer(cheap) muffler
e ¥ | BC-6 1/8" 11 VC-6 1/8" 11 1-15 10*2.5
(.r.— BC-8 1/4" 14 VC-8 1/4" 14 1-16 13*3
— BC-10 3/8" 17 VC-10 3/8" 17 1-17 13*4
a BC-15 1/2" 22 VC-15 1/2" 22 1-18 17*6
= BC-20 3/4" 27 VC-20 3/4" 27
b BC-25 1" 33 VC-25 1" 33 5
VC-32 1-1/4" 43 L
VC-40 1" 51 d
SC jHmAaR BS | 8BgeAh (RSP | S(mm) SEB &JiEAgR e By (RSP [ S(mm) | SET BEAERR BS | Byek (R[S (mm)
SC Type Muffler | Code | Screw Thread(size) SEB Type Muffler Code |[Screw Thread(size SET Type Muffler [ Code | Screw Thread(size
SC-M5 M5 8.5 SEB-M5 M5 7 SET-6 1/8" 8
SC-6 1/8" 12 SEB-7 1/8" 12 SET-8 1/4" 10
SC-8 1/4" 15 SEB-9.5 1/4" 15 SET-10 3/8" 13
SC-10 3/8" 19 SEB-12.5 3/8" 19 SET-15 1/2" 15
SC-15 1/2" 23 SEB-15.5 1/2" 23 SET-20 3/4" 19
SC-20 3/4" 30 SEB-20.5 3/4" 30 SET-25 1" 24
SC-25 1" 35 SEB-26 1" 36
SCQ KA B | Bk (RsF) | S(mm) D BIHAREE BE  (#Bgek/h (R [ S(mm)| SSMBHFERE BS [ By (RSP [S(mm)
SCQ Type Muffler | Code | Screw Thread(size) D Type Muffler Code |Screw Thread(size SSM Type Muffler| Code | Screw Thread(size
= SCQ-6 1/8" 7 D-6 1/8" 8 SSM-M5 M5 8
i SCQ-8 1/4" 8 D-8 1/4" 10 SSM-6 1/8" 12
SCQ-10 3/8" 10 D-10 3/8" 15 SSM-8 1/4" 15
SCQ-15 1/2" 14 D-15 1/2" 19 SSM-10 3/8" 19
SCQ-20 3/4" 17 D-20 3/4" 20 SSM-15 1/2" 23
SCQ-25 1" 21 D-25 1" 27 SSM-20 3/4" 30
SSM-25 1" 36
SS-VERFEWEER BT | B (R |S(mm)|SSDV RRHWiEAERR| &S | #BgeR/) (R | S(mm)| SD ELEAESR BT | 8Bk (RSP [S(mm)
SS-V Type Stainless| Code |Screw Thread(size) SSDV Type Stainless| Code [Screw Thread(size SD Type Muffler | Code | Screw Thread(size
steel Muffler steel Muffler
SS8-V-M5 M5 8 SSDV-6 1/8" 13 SD-6 1/8" 12
SS-V-6 1/8" 12 SSDV-8 1/4" 16 SD-8 1/4" 15
SS-V-8 1/4" 15 SSDV-10 3/8" 19 SD-10 3/8" 19
SS-V-10 3/8" 19 SSDV-15 1/2" 24 SD-15 1/2" 22
SS-V-15 1/2" 23 SSDV-20 3/4" 30 SD-20 3/4" 27
SS-V-20 3/4" 30 SSDV-25 1" 36 SD-25 1" 34
SS-V-25 1" 36
BESL 1l UHA =S S | 8BgRh (RY) | S(mm)| DS HSELGKAERR BS |8BgRh (R [S(mm)| BELC HESELEAR | BS | 840k (R |S(mm)
BESL Type Exhaust| Code |Screw Thread(size) DS Type Exhaust Code [Screw Thread(size BELC Type Exhaust| Code | Screw Thread(size
BESL-6 1/8" 12 DS-6 1/8" 16 BELC-6 1/8" 13
BESL-8 1/4" 14 DS-8 1/4" 16 ‘M BELC-8 1/4" 14
BESL-10 3/8" 17 -?“ BELC-10 3/8" 17
BESL-15 1/2" 24 | BELC-15 1/2" 22
BESL-20 3/4" 27 & - ‘ BELC-20 3/4" 27
BESL-25 1" 34 BELC-25 1" 34

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

231



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

232

ARIE /Mini Ball Valve

SS-PDK TENBHES THA =T BS Bk (Rs) | S(mm) PTV ISR HE SR =% g By (R |S(mm)
SS-PDK Type Stainless steel Code Screw Thread(size) PTV Plastic Exhaust Code |[Screw Thread(size
Muffler Muffling Throttle Valve
SS-PDK-6 1/8" 13 PTV-6 1/8" 10
& SS-PDK-8 1/4" 14 PTV-8 1/4" 14
SS-PDK-10 3/8" 17 PTV-10 3/8" 17
3 SS-PDK-15 1/2" 22 PTV-15 1/2" 24
¥ Q . SS-PDK-20 3/4" 27 PTV-20 3/4" 30
. SS-PDK-25 P 34 PTV-25 g 36
PSU Y RLHRA 2 BS | ggokd (R [ S(mm) | PSE BlEBRGEASR | S |HBgR/ (RSP [ S(mm) | suBlEBRGERR | &S | 8850k (R |S(m)
Code | Screw Thread(size) Code |Screw Thread(size Code | Screw Thread(size
PSU-M5 M5 7 PSE-M5 M5 7 SU-6 1/8" 16
PSU-6 1/8" 13 PSE-6 1/8" 13 SU-8 1/4" 20
PSU-8 1/4" 17 PSE-8 1/4" 17 SU-10 3/8" 24
PSU-10 3/8" 25 PSE-10 3/8" 25 [ ; o SU-15 1/2" 24
PSU-15 1/2" 25 PSE-15 1/2" 25 %g SU-20 3/4" 48
PSU-20 3/4" PSE-20 3/4" 37 g;..— ? SU-25 1" 48
PSU-25 1" PSE-25 1" 48 == ?
———
i £ /Mini Ball Valve
LRI /Mini Ball Valve
%S /No 4% /Spec %S /No ##& /Spec
HD-311/1 1/8" HD-312/1 1/8"
” HD-311/2 1/4" — HD-312/2 1/4"
HD-311/3 3/8" HD-312/3 3/8"
HD-311/4 1/2" HD/312/4 1/2"
AR /Mini Ball Valve
"5 /No ##& /Spec %S /No & /Spec
HD-313/1 1/8" HD-314/1 F1/8*F1/8*F1/8
HD-313/2 1/4" HD-314/2 F1/4*F1/4*F1/4
HD-313/3 3/8"
HD-313/4 1/2"
R {RAZ /Mini Ball Valve
%= INo ##% /Spec
HD-315/1 F1/8*F1/8*F1/8
HD-315/2 F1/4*F1/4*F1/4
J 4L#%3k 8 /Ball Valve With Union
4T #RFkIE /Ball Valve With Union
%= INo #4% [Spec 4= INo #4% [Spec
HD-301/1 1/4" D6 HD-306/1 1/4"
HD-301/2 1/4" D8 HD-306/2 3/8"
HD-301/3 1/4"™ @ 10 HD-306/3 1/4"
";_ HD-301/4 1/4™ D12
! HD-301/5 3/8" D6
HD-301/6 3/8"™ D8
HD-301/7 3/8"* @10
HD-301/8 3/8" D12
HD301/9 1/2"™ D6
HD301/10 1/2"™ 8
HD-301/11 1/2" D 10
HD-301/12 12" D12

RO B REE X7 R i A AR




£T#%EK 1 /Ball Valve With Union

ZT#AEKIE /Ball Valve With Union
%2 /No H#% /Spec %2 /No H#% /Spec
HD-302/1 1/4"®6 HD-307/1 /4"
HD-302/2 1/4™ 08 HD-307/2 3/8"
HD-302/3 1/4™®10 HD-307/3 1/4"
HD-302/4 11412
ra— HD-302/5 3/8" D6
v HD-302/6 3/8" D8
i.:b-": HD-302/7 3/8" D10
e HD-302/8 3/8" D12
HD302/9 1/2"®6
HD302/10 1/2"®8
HD-302/11 1/2"®10
HD-302/12 1212
2Tk (E /Ball Valve With Union
%5 /No #1& /Spec %5 /No #1& /Spec
HD-303/1 1/4"®6 HD-308/1 1/4"
HD-303/2 1/4"®8 HD-308/2 3/8"
HD-303/3 1/4™®10 HD-308/3 /4"
HD-303/4 /412
el -4 HD-303/5 378" 06 r“;’
. HD-303/6 3/8"*®8 -;l"‘ .‘:F
Y : HD-303/7 3/8" D10 -
i - HD-303/8 3/8" D12 e
HD303/9 1/2"®6
HD303/10 1/2"®8
HD-303/11 1/2"®10
HD-303/12 12D 12
4T #REKIE /Ball Valve With Union
%5 /No #i& /Spec %5 /No #i& /Spec
HD-304/1 6 HD-309/1 1/4"
HD-304/2 8 HD-309/2 3/8"
HD-304/3 10 HD-309/3 1/4"
HD-304/4 12
e . 4
- ""r‘-
'.—.:*
ZI#RFEKIE /Ball Valve With Union
%= /No H#% /Spec %2 /No H#% /Spec
HD-305/1 14 D6 HD-410/1 M1/4"D6
HD-305/2 148 HD-410/2 M1/4"D8
HD-305/3 /4™ 10 HD-410/3 M1/4™10
HD-305/4 14D 12 HD-410/4 MA/4™ D12
HD-305/5 3/8" D6
HD-305/6 3/8" D8
HD-305/7 318" B 10
HD-305/8 3/8" 12
HD305/9 172" 06
HD305/10 12" D8
HD-305/11 172" 10
HD-305/12 172D 12

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

233



PNEUMATIC
PU K& / PU Pipe

| PUSE /PU Pipe

UEZRRREMRMIMARN, BARIFAEMY, TEHKX, WS
@ﬂﬁﬂﬁ?ﬁ‘hﬁhﬂ WY BASFROSAER, & A AT AL x%bmﬁvk"'“’_%ﬂﬁ PERYH
BTHEEL, ERFERE.

PU pipe is made of polyurethane material and has good elasticity. It is suitable for places with
large bending, gas resistance, abrasion resistance, vibration resistance and zigzag resistance.
Suitable for the fluid water,air,non-corrosive oil and distributing tube, it's flexible and convenient
when operating.

FLUID AUTOMATIC COMPONENT

. PU Z%iT%5 / PU Series ordering code ‘

[PU 8 | - | 5 | - | B, |

ik BETY

#3 /series
PU & /PU Tube

4hZ /Outer dia
& 4/5/6/8/10/12/16/1/4/5/16/3/8/1/2

12 /Inner dia
$2.5/3/4/5/5.5/6/6.5/12

Eii & /color
Transparent  Black Orange Red Green Blue Yellow
fft R435 M4 /Advantage MEEHIE /Performance data
#4 PU (polyurethane) /Material PU (polyurethane) MRESEE: -20°C~+80°C /Temperature range: -20°C~+80°C
WIFBIZRFNE /Superb suppleness H2\%E: +0.1mm /Diameter tolerance:+0.1mm

AEME: 95A 98A /Hardness:95A 98A
Hisk3®AE : 400kgf/cm? /Tensile strength:400kgf/cm?

Eih1E/>, M /less bending radius, bending resistance
A5 E@Eiﬁ'l‘lﬂf\_“z /high elastic recovery memorizing effect

THEER, R, #E

Abraison resistance, tear resistance, impact resistance

WBRRKEE: 490-590%
ultimate elongation:490-590%

7k, =5, FEMEH /water,air,non-corrosive oil

MifEE35E : 35mg /Abraison resistance: 35mg

RITE SR IE, BEIRTE

inflammable object can be circulated, welding acceptable

HRZ4SERE . 110kgficm?
tearing strength:110kgf/cm?

BE 100% RALAIR, RINFTHIFER=H.

RIRENS KB TEENDRERHLFR: 31

ratio of blasting pressure against safety factor of long working pressure: 3:1

can be burnt into ashes, enviromental-friendly

234

1THaES IME Az 2E TRERED TEED T N/ &/ [ZE
Ordering code | External diameter | Internal diameter | Wall thickness | Blast pressure | Working pressure Bending KG/Roll Roll/CTN CTN/CBM
PU4x2.5/200M 4 2.5 0.75 30 10 12 2.2 10 0.09
PU5x3/200M* 5 8 1 30 10 15 85} 10 0.1
PU6x4/200M 6 4 1 30 10 15 4.2 8 0.1
PU8x5/100M 8 5 1.5 30 10 15 4 8 0.1
PU8x5.5/100M* 8 5.5 1.25 24 8 25 3.7 8 0.1
PU8x6/100M* 8 6 1 18 6 25 3.4 8 0.1
PU10x6.5/100M 10 6.5 1.75 30 10 30 6 6 0.12
PU12x8/100M 12 8 2 30 10 40 8.1 4 0.12
PU16x12/100M 16 12 2 21 7 40 11 3 0.15
PU1/4-100M* 6.35 4.35 1 30 10 15 43 8 0.1
PU5/16-100M* 7.95 4.95 1.5 30 10 15 4 8 0.11
PU3/8-100M* 9.5 6 1.75 30 10 30 6 6 0.12
PU1/2-100M* 12.7 8.5 2.1 30 10 40 8.2 4 0.12

RO B REE X7 R i A AR




PTFE M Z#E /Tetrafluoroethylene tube

B PTFE W& Z#E /Tetrafluoroethylene tube

1 $RALERHRMUEZHE (PTFE BRERL. KAEL.
45 ERET sk aFME .

2. BEMLEREN: AZENER, 82Tk, SRR, MiR. LIRME. SNBE, 2.
BREMNT, TEFMSHENATNER. EBEARAELFRIEMER.

3. BAME: EAEmBINE, BUACHE ZHA T, TESH. BFERF. RF. fiX. ®I.
K. B#. £F. BAFEERHETW.
1. Teflon tube is a special tube made by extrusion and sintering of PTFE (commonly known as
teflon, plastic king) through drying, high-temperature sintering, shaping and other processes.
2, high chemical stability: can withstand all strong acid, including aqua regia, hydrofluoric
acid, nitric acid, fuming sulfuric acid, organic acid, strong alkali, strong oxidant, reducing
agent and various organic solvents. Quite suitable for high purity chemicals transferring.
3, suitable for environment: suitable for high temperature environment, ptfe pipe is widely used in
machinery, transformer, electronic appliances, automobile, aerospace, chemical industry, computer,
heating, military, communication and other important scientific and technological industries.

BHE) MRTERGEEETIR. SRR

. PTFE Z7%IiTW%5 / PTFE Series ordering code

|PTFE

Z7 /series
PTFE I Z#%& /PTFE Tube

4hZ /Outer dia
$4/6/8/10/12

A1 /Inner dia
$2.5/4/6/7.5/8/9/10

Bita /color
White Black
t R4514% /Advantage MEBEXHE /performance data

#EE: PTFE URZEE (F@k. SREL) ,
material: PTFE tube(teflon)

/teflon

PELMATERE: V-1
flame retardant performance: VW-1

REFHUZENTSENE, WA

good chemical and climate resistance, high and low temperature resistance

e EIR: TIERE -196°C-+250°C
high and low temperature resistance:-196°C-+250°C

MM : WNAZHAFHRIAT, R SRR
corrosion resistant: resistant to most of the chemicals and solvents, can
withstand strong acid and base

FEELME: 1500 ABER, 1018 BR#§ / Bk
electrical insulation: 1500V high voltage, 1018Q/cm

SR - LFREEL, BENTRENZNES

climate resistant: merely aging, got the longest aging life-span

fEAEm: 10FUE

working life-span: more than 10yrs

REERY: SEHREFMRTERANRRE
low friction coefficient: lowest friction coefficient among the high lubricated
solid material

EEEREH: —RINA 0.04

friction coefficient: normally is 0.04

HFHN BB /excellent dielectric insulation performance

HERE : 26KV/mm /disruptive strength: 26KV/mm

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

0.0
TS IME Az BE TRRESD TEED i N/ E &/ i
Ordering code | External diameter | Internal diameter| Wall thickness | Blast pressure |Working pressure Bending KG/Roll Roll/CTN CTN/CBM

PTFE4x2.5/100M 4 2.5 0.75 30 10 12 1.8 10 0.1
PTFE6x4/100M 6 4 1 30 10 12 3.7 5 0.08
PTFE8x6/100M 8 6 1 30 10 15 5 5 0.08
PTFE10x7.5/100M 10 7.5 1.25 30 10 30 8 3 0.08
PTFE10x8/100M 10 8 1 24 8 30 6.5 3 0.08
PTFE12x9/100M 12 9 1.5 30 10 40 11.5 3 0.12
PTFE12x10/100M 12 10 1 24 8 40 8 3 0.12

RO B R ER X 7 R i A AR

235



PNEUMATIC
PAS% /PAPipe

] PASE /PAPipe

I ‘ LWREESARE6FIRRE 11 EIZ (PA6.PA11) , RAEEMB AR ORI, BARFHIELAMIM I EE
REREERFN—ME. (PA6 EAENMIREER, NigEIHE

2. e, mﬂ*’*h,m&t AR A EBEESZETER; THEELF, AT7E-40-100° CHIFMETRTIE.
3. RENF, BOMES, RERFLLESFMAERR; EREETRMIMEERES. K. REh, ©FE7,
BERGE.

1. Nylon tubes are divided into nylon 6 and nylon 11 (PA6 and PA11). The raw material isimported from
Germany and Japan. (PAG6 is suitable for use in mechanical equipment with absolute advantage in price.)
2, resistance to twists and turns, wear resistance, pressure resistance, can be used under harsh
circumstances like sand, iron filings etc, good weather resistance, able to work under situations like -40-100°C.
3, smooth surface, reduce resistance, can prevent from rusting and scaling deposition. In that case, nylon
tube can be used to transport compressed air, water, fuel, chemical solvents, liquid food etc.

FLUID AUTOMATIC COMPONENT

. PA Z7%iTa%5 / PA Series ordering code

[PA 8 | - |1 5 | - | B

ik BETY

#5 /series
PA JE#% /PA Tube

4MZ /Outer dia
$ 4/6/6/8/10/12/14/16/1/4/5/16

A2 /Inner dia
$2.5/4/6/7.5/8/9/10/11/13

B /color
© 0 © R ® L ®
Transparent  Black Orange Red Green Blue Yellow

PA6 4 BEH3E /PAG performance data PA11 M BEHHE /PA11 performance data

236

#1%L PA6(NYLONB) /Material PA6(NYLON 6)

#& PA11(NYLON11) /material PA11(NYLON 11)

JBESEE: -30°C~+100°C /temperature range:-30°C~+100°C mESEREl: -40°C~+80°C /temperature range:-40°C~+80°C
HZAZE: +0.1mm /diameter tolerance:+0.1mm HZ2\%E: +0.1mm /diameter tolerance:+0.1mm

1R E IR E 79 25°C B 66kgf/cm?

when blast pressure temperature is25°C , 66kgf/cm?

1R E SR E 79 25°C B 48kgf/cm?
when blast pressure temperature is 25°C, 48kgf/cm?

IR E 1R /3 100°C BT 30kgf/cm?
when blast pressure temperature is 100°C , 30kgf/cm?

JR%E J3IRE A 100°C B 24kgf/cm?
when blast pressure temperature is 100°C, 24kgf/cm?

#hZdsaE : 472J/M /tearing strength: 472J/M

#RZ5EE . 472J/M Jtearing strength: 472J/M

BRRENSKEBTEENRERHKELHA: 31

ratio of blasting pressure against safety factor of long working pressure: 3:1

BRENSKEBTEENRERHELHR: 31

ratio of blasting pressure against safety factor of long working pressure: 3:1

0.0
TR S ME Az BE IRERES IEED i N/ B &/ L7
Ordering code |External diameter|Internal diameter| Wall thickness | Blast pressure | Working pressure Bending KG/Roll Roll/CTN CTN/CBM
PA4x2.5/200M 4 25 0.75 66 22 15 1.7 10 0.1
PA6x4/100 6 4 1 66 22 20 1.7 10 0.1
PA6x4/200M 6 4 1 66 22 20 3.4 5 0.08
PA8x6/100M 8 6 1 66 22 20 2.4 5} 0.08
PA10x7.5/100M 10 7.5 1.25 66 22 30 3.8 3 0.08
PA10x8/100M 10 8 1 54 18 30 &3 3 0.08
PA12x9/100M 12 9 1.5 66 22 40 55 3 0.15
PA12x10/100M 12 10 1 54 18 40 3.8 8 0.17
PA14x11/100M 14 11 1.5 66 22 40 6.5 3 0.17
PA16x13/100M 16 13 1.5 54 18 40 7.5 3 0.17
PA1/4-100M 6.35 4.35 1 66 22 20 1.8 10 0.08
PA5/16-100M 7.95 5.95 1 66 22 20 24 5 0.08
PA3/8-100M 9.5 7 1.25 66 22 30 3.6 3 0.08
PA1/2-100M 12.7 9.5 1.6 66 22 40 6.2 3 0.15

RO B REE X7 R i A AR




BEYAE 7 51 /Flame retardant tube series

J BE#AE RF /Flame retardant tube series

FRRE RHABRZIEINEEAMERM RN TR, BHERIFAEMEMIIERR, &R
TIRESE NN TSGR, M ARE, ERSEMES BT, mERRRS,
i BT B & K47 B AR ST E IR0, B & Sk, @B THEMRL, ERAERE,
RERMERIFINEEIFRE .

Flame retardant pipe Flame retardant pipe is made of polyurethane inner layer and outer
layer processing with refractory material, with good elasticity and flame-proof, suitable for
welding and other workplace with sparks, such as industrial robot welding, lathe or ship high
temperature workplace, and places with friction resistance, vibration resistance, resistance
to twists and turns. Suitable for fluid air, non-corrosive oil, suitable for all kinds of fittings,
convenient for pipe laying operation, convenient and flexible to use, firstly pull out the outer
layer and direct intubation when installating tube.

. IRPU %7%!iT%5 / IRPU Series ordering code

[IRPU 8 - | s - | B
5 /series
IRPU A% /IRPUTube
$MZ /Outer dia
$ 4/6/8/10/12
P42 /Inner dia
$2.5/4/5/6.5/8
Eiifs /color
Black Red Blue
TS IME [FES 3= JRERE 71 TEED i N/ E &/ 8 R
Ordering code | External diameter|Internal diameter| Wall thickness | Blast pressure | Working pressure Bending KG/Roll Roll/CTN CTN/CBM
IRPU4x2.5/200M 4 2.5 0.75 36 12 12 4 4 0.08
IRPU6x4/200M 6 4 1 36 12 15 7 4 0.08
IRPU8x5/100M 8 5 1.5 36 12 15 7.8 4 0.08
IRPU10x6.5/100M 10 6.5 1.75 36 12 30 9.7 2 0.08
IRPU12x8/100M 12 8 2 36 12 40 12.6 2 0.08

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

237



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

238

CL#2#EE /CL spiral tube

J CL #25E% /CL spiral tube

1 ERAE, HEEE.

2, ERLEHESBGEE.

1. It's convennient to use and save space.
2. The extension retracts automatically after

used.
Y q A
. CL %%iTM%5 / CLSeries ordering code
[cL 6 - | 4 - - B
5 /series
oL CL 125
CL Sprial tube
SMZE /Outer dia
$6/8/10
A1 /Inner dia
$©4/4/6.5
P42 /Inner dia
2m/3m/5m/7m/10m/14/m/20m
Eiifs /color
Transparent  Black Orange Red Green Blue Yellow
BS 6M 9M 12M 15M E1 E2
Model  Iagipof /D1 [Mishiz /D2 |MiePIfE /D1 |BRAEAME /D2 |MiPI /D1 | WA /D2 (mm) (mm)
Internal spiral|External spiral|Internal spiral|External spiral|Internal spiral|fExternal spiral
diameter/D1 i /D2 i D1 di /D2 i /D1 i D2
CL6x4 25 37 35 47 40 52 50 50
CL8x4 34 50 40 56 45 61 50 50
CL10x6.5 50 70 45 65 60 80 50 50

RO B REE X7 R i A AR




PE 5% / PE Pipe

| PE 5% /PE Pipe
i

N

BAERRIMEKER, #E, FNSHEREES, FEREFNSHtE. £RAMMMERAT
AREUERMEE, AERARKERE, REEEE, AMETRRAR.
Suitable for food or transportation of water resources, ink, capacity of various corrosive liquid, and
has excellent bending properties. Under the action of sunlight and heat aging easily degradation and
discoloration, from white to yellow to brown, and finally black, and performance decline into crack.

. PE Z%|iTM%5 / PE Series ordering code

[PE 8 - | 55 - | B

Z7| /series

PE RZ & /PE Tube

$MZ /Outer dia

 4/6/1/4/8/10/12/16

A4 /Inner dia

$2.5/4/5.5/7.5/9/12

it /color

Transparent  Black Orange

A S IME Az BE IRIRED TIEED i} N/ E 5/ %8 i
Ordering code |External diameter | Internal diameter| Wall thickness | Blast pressure |Working pressure Bending KG/Roll Roll/CTN CTN/CBM
PE4x2.5/200M 4 2.5 0.75 24 8 10 1.5 10 0.08
PE6x4/200M 6 4 1 24 8 10 8 5 0.08
PE1/4-200M 6.35 4.15 1.1 24 8 10 3.5 5 0.08
PE8x5.5/100M 8 5.5 1.25 24 8 12 2.5 5 0.08
PE10x7.5/100M 10 7.5 1.25 24 8 20 3.3 3 0.12
PE12x9/100M 12 9 1.5 24 8 30 4.8 3 0.12
PE16x12/100M 16 12 2 24 8 40 8.4 3 0.17
= o

I—Ul‘ﬁ / Air gun

DG-8

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

239



